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PREFACE

CBSE as a pace setting national Board has constantly been striving to design its evaluation
processin amanner that it is used as a powerful means of influencing the qudity of teaching and learning
in the classroom situation. Also, it hasto be so designed that it provides constant feedback regarding
the effectiveness of the course content, classroom processes and the growth of individual learners
besides the appropriateness of evaluation procedures.

Asamovein thisdirection, CBSE started the practice of publishing the Marking Schemeswith
twin objectivesin mind-(i) making the system more transparent and at the same time, (i) ensuring high
degree of reliability in scoring procedure.

Who are the markers of answer scripts? How do they mark the answer scripts? How can it be
ensured that marking isfair, objective and reliable? Questions of these types naturaly arise in the minds
of candidates gppearing in the public examination. These questions are equally pertinent to the teachers
who are not adequately exposed to the CBSE system of marking.

Answer Scripts marking isaspecialised job. It is assigned to teachers-PGTs for Class X1l and
TGTsfor Class X who arein direct touch with the subject and have aminimum of 3 years experience
of teaching the subject at that level. Appointment of examinersis made in accordance with the well-
defined norms. Markers examine scripts with the help of detailed guiddines caled the'Marking Schemes.

It isthistool (Marking Scheme) alongwith the extensive supervisory checks and counter-checks
through which CBSE tries to ensure objective and fair marking. The present publication is being brought
out with aview to serving the following objectives:

(1) Togivean opportunity to the teachers and students to look into the Marking Schemes that
were devel oped by the Board and supplied to the evaluators in 2007 main examination in
some selected main subjects.

(i) To receive feedback and suggestions from institutions/subject teachers on the utility and
further improvement of Marking Schemes.

(i) To encourage ingtitutions to undertake smilar exercise of developing marking schemes for
classes other than those covered by the Board's examination with a view to increasing
teachers responsiveness to them as the essential tools of evaluation.



HOW TO USE

@)

()

Teachers and the students preparing for Class X examination of the Board constitute the primary
interest-group of this publication. Marking Schemes of Question Papers in the subjects of English
(Communicative), English (Language and Literature), Hindi Course A, Hindi Course B, Mathematics,
Science & Technology (Theory and Practical Skills), Social Science, Communicative Sanskrit, Urdu
Course A, Urdu Course B and Bengali administered in Delhi and Outside Delhi during the 2007 main
examination have been included in this document. Some tips on their usage are given below :

To Teachers :

Go through the syllabus and the weightage distribution for the subject carefully.

Read the question paper to find out how far the question paper set subscribes to the
prescribed design. Grade every question by difficulty level for students who have taken the
main Board examination.

Conasult the 'Marking Scheme for each question, with reference to stepsinto which answers
and awards have been divided.

Work out concrete suggestions for the Board.

To Sudents::

Study each question carefully, comprehend them and write down the main points of the
answer and note down their difficultiesfor clarification.

Examine aquestion in conjunction with the Marking Scheme and find out the proximity of
the answer to that suggested in the Marking Scheme.

We will fed motivated if this publication is commented upon by practitionersin the context
of itsimpact on their teaching learning strategies. Contribution of the experts and the officias
of the Board in bringing out this document is gratefully acknowledged.

We urge the teachers to encourage their students to make use of this publication and at the same
time to enrich us with their free and frank reactions.

M.C. SHARMA
CONTROLLER OF EXAMINATIONS
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ENGLISH (Communicative)

Time allowed : 3 hours Maximum Marks : 100
e N
GENERAL INSTRUCTIONS :
This paper consists of four sections.
Section A - Reading 20 marks
Section B - Writing 30 marks
Section C - Grammar 20 marks
Section D - Literature 30 marks
1. Attempt all questions.
2. Do not write anything in the question paper.
3. All the answers must be correctly numbered as in the question paper and
written in the answer sheet provided to you.
4. Attempt all questions in each section before going on to the next section.
5.  Read each question carefully and follow the instructions.
6. Srictly adhere to the word limit given with each question. Marks will be
deducted for exceeding the word limit.
\ J
OUESTION PAPER CODE 1/1/1
SECTION A (Reading) 20 Marks
1. Read the passage given bel ow and answer the questionsthat follow: (12 marks)

1. LastJune my eder daughter Sylvie, finished kindergarten at the school near
our homein Bethlehem, USA. If my wife, Theresa, and | have our way,
Sylviewill graduate from the sameschool. | am eyeing Sylvie sgraduation
because | want thisto be her only school and Bethlehemto be her hometown.
Both goals-first one a school, the second a hometown - eluded me. My
father wasinthearmy, and | attended numerousschools. Our trangent lifestyle
offered a grand upbringing, but it came at a cost. Of all those people |
befriended ontherun, for instance, I’ ve maintained contact with exactly one.
I’ m generally from everywhere and exactly from nowhere.

2. l'want Sylvieand her two year old sister Linnes, to havethat hometown that
| missed. It would be aplacethey know intimately, care about, returntowith
athrill. Sowhen Theresatook ateaching post in Bethlehem, wemoved from



Chicago and decided to settle down here. That wasamost six years ago,
and thetransition wasrough. We did not like the paucity of movie houses,
usedbook storesand grest restaurants. We found instead, cheap shopping
mallsand cornfiel dsbeing transformed into facel esssuburbs. It washard to
imagine blossoming in such aplace. We began to seek out thegood thingsin
Bethlehem, of which, wediscovered, thereare many. In short order weturned
up the children’scorner of the publiclibrary, anumber of parksand thefolk-
music clubthat drawstop performersto avenueno bigger than our living room.

Wherewefound good places, wefound good people. Slowly their numbers
increased. Soon wediscovered we had knit together acircle of dear friends.
Asour friendship strengthened, o, too did an unspoken belief that wewould
be herefor each other over thelong haul. We' d watch each other’schildren
grow up; offer them ahand wherewe could, support each other through the
joysandtravailsof parenthood.

There sayearly party, ajoint saleand more potluck dinnersthan | can count.
WE ve celebrated both of Linnea sbirthdayswith abash on our front lawn.
On Saturday mornings when many of us converge downtown, the
shopkeepersgreet meand my children by name, and hand out goodies. To
the old-timershere, dl thismight be unremarkable. But to thevagabond like
me, thisacceptanceisheart-warming, nourishing and ultimately sustaining.
So why resist its pull ? Because it’'s a mistake to take for granted a good
community, or to assumewe' d belucky enough to find onesomewhereel se.
Inthe end, good and lasting community arisesfrom acommitmenttoit. And
there’sno more basic commitment than staying put.

1.1 Completethesummary givenbelow. Useonly awordtofillintheblanks. (1 x 5=15)

Theauthor decided to stay put at Bethlehem ashewanted it to be his
€) hometown. Though upset about the lack of
(b) heand hiswife started to seek out the good
thingsthere. Soon a strong bond devel oped between them and their
(© Heresisted his(d) to
moveto greener pastures. Heaso (€) that only with
commitment can alasting community arise.

1.2 Completethefollowing sentences:

(& Theauthor could not refer to any place ashishometown because

(1x3=3)



2.

(b) Theauthor had contact with only onefriend

() Theredizationthat lasting community arises

1.3 Findwordswhich meanthesameasthefollowing:

(@ many/inlargenumbers (paral)
(b) change (para?2)
(¢) sorrows/unpleasant experiences (para 3)

(d) apersonwhotravelsfromplacetoplace  (para4)

Read the passage given bel ow and answer the questionsthat follow:

1

Set in the declining but still green Western Ghats in the south-west of
Karnataka, Coorg isthe heart of India' s coffee country, coffee being the
world’smost heavily traded commodity after crudeoil. Coorg boastsaland
areafour timeslarger than Hong Kong and seventimestheareaof Singapore,
most of it isunder tree cover because unlike tea plants, the coffee bush
requiresshade.

Indiaisacknowledged asthe producer of thefinest mild coffees. With their
tropica climate, highdtitude, dbundant rainfal and fertile soil, Coorg andthe
neighbouring Chickmagd ur digtrictsin Karnatakahave cons stently produced
and exported high quality coffeefor over 150 years. The coffee output of
thesetwo districtsaccountsfor 70 percent of thetotal coffee producedinthe
country. Coorg coffeeisvauedfor itsbluecolour, clean beansandfineliquoring
guditiesand henceisindemand in theinternational markets.

In March and April isthe coffee blossom timein Coorg. When blossoms
transforminto berries, the bushesare cropped. The cherry-red fruitisthen
pul ped; the seeds separated, dried and sent for curing. Coorg or Kodaguis
thedistrict whichisoneof thelargest producers of pepper, cardamom and
honey intheworld.

Not muchisknownabout early history of Coorg. Recorded history isavailable
only from 1600AD onwardswhen’ Kodavargasruled over theregion and
established their capital at Mercaraby constructingamud walled fort. The
martial Kodavastroubled Hyder Ali and hisson Tipu Sultanwho ruled the
Mysore region in the 18th century by way of sporadic rebellions. Butin
1785, Tipu'slargearmy marched into Kodagu and devastated the kingdom.
Fourteen yearslater, with the hel p of the British who defeated Tipu Sultan

(1x4=4)

(8marks)



following the historic siege of Srirangapatanain 1799, Coorg regained
independence and under theleadership of RajaVeerargendrarebuilt the
capital. Later in 1834, the British exiled itsruler ChikkaveeraRajendraand
assumed administrative charge of thedistrict. The Britishleft Indiain 1947,
leaving behind alegacy of coffee plantations, colonia buildingsand well-
planned road networks.

2.1 Completethefollowing:

a Theteaplantsareunlike coffee plantsasthelatter

b) Coorgcoffeeisinternationally acclaimedfor its

c¢) Coorgisfamousnot only for coffeebut alsofor

d) After crudeoil, coffeeisthe

2.2 Completethetablegivenbelow:

Year Events
a) Recorded history of Coorg availablefrom
1785AD b)
C) Coorg regained independence
1834 AD d)

SECTION B (Writing)

You are Akhil/ Akanksha, the Head Boy/Girl of Modern Public School, Kochi.
Aspart of Social Service your school has decided to clean the surroundings.
Writeanotice, in not morethan 50 words, for your school notice board asking for
the namesof the studentsof senior wing who wish to participate whol eheartedly.

You areAkhila/ Akash, astudent of R.H. College, Mangaore. Send atelegramto
your father living a 20, Church Road, Banga oreinforming himthat you areunable
to come hometo attend thewedding of your cousin dueto curfew in Mangalore.
Writethetelegram in not morethan 25 words. Copy theformat of thetelegram
from the question paper.

(1x4=4)

(1x4=4)

30marks

(5marks)

(5marks)



INDIAN POST AND TELEGRAPH

ADDRESSEE'S NAMEAND

ADDRESS

MESSAGE

SENDER' SNAME

(NOT TOBE TELEGRAPHED)

SENDER' SADDRESS

Thefollowing linesfrom the poem, * Reaching Out’ intheMain Course Book set

you thinking about the need to educate adults. You decided to get involved inthe

adult education programme. Taking ideasfrom theunit, ‘ Education’, along with

your ownideas, writealetter to the editor of anewspaper in about 150 words

encouraging youngstersto take part in the programme. (10marks)

despiteour illiteracy,
Wedlill exist.

But we haveto know

Why we should becomeliterate.”

You areamember of the Society for Prevention of Cruelty to Animalsinyour

locdlity. Thefollowing Pie-chart reflectstheattitude of the peopletowardsanimals.
Inresponsetothis, writean articleto be published intheforthcomingissueof ‘ The

Week’ onwhy animalsareill treated and what can be doneto prevent it. As

Ramesh/ Ranjini, writethearticlein 150-200 words. (10marks)

Indifferent
aftimude
35%

Animals are
exploited for selfish

inderesis,
50%%



FOR THE BLIND

You areamember of the Society for Prevention of Cruelty to Animalsin your
locality. Writean articleto be published intheforthcoming issueof ‘ TheWeek’ on
how animals areill treated and what can be done to prevent it. As Ramesh /
Ranjini, writethearticlein 150-200 words.

Hints

*  50% peoplebdievethat animalsare exploited for selfish ends.
*  35% peoplehaveindifferent attitudetowardsanimals.

*  15% peoplebelievethat animalsareman’sdaves.

SECTION C (Grammar) 20marks

L ook at the notes given below and compl ete the paragraph suitably. Do not add
any new information. Writetheanswersagainst the correct blank numbersin your
answer sheet. Do not copy thewhole sentences. (1x4=4marks)

Susrutha - birth - 6th Century - learns surgery, medicine - Dhanvanthri -
Varanasi - Susrutha, other doctors - realize - no point -learn - only facts-
from books- perform - surgery

Susruthawas adescendant of the Vedic sage Viswamithra. Hewas ()

the6th century B.C. He(b) from Dhanvanthri at Varanasi. Susrutha
and someother (c) that learning only factsfrom bookswasof very little
useby itsdlf. In order to be good surgeons, they needed to learn by (d)

Rearrange thefollowing wordsand phrasesto form meaningful sentences. The
first one has been donefor you asan example. Writetheanswersagainst the
correct blank numbersin your answer sheet. (Ix4=4marks)

wasa/ about twenty / childhood / delight / years ago.

Childhood wasaddight about twenty yearsago.

a) theleisurehours/ of achild/ of the TV /today / are spent/infront
b) of most/now - a- days/ theattitude/ parentsis/ different

c) workandplay/different things/ they see/ as/two

d) playing/fed/isa/wasteof /they/time/that

Inthe passage given bel ow, thereisan error in each line. Writetheincorrect word
and the correction asgiven in the example against the correct blank number in
your answer sheet. Remember to underlinetheword you havesupplied.  (Y2x 8 =4 marks)



10.

Theexhaust earth groaned exhaust - exhausted

and quivered under aglare a)
of the Sun. Spiralsin heat b)
rosefromtheground onif C)
fromthemoltenlava Thepanting d)
lizerd crawl painfully over e
the hot rock on search f)

of the shady crevice. Cattle 0
or dogscringed under the shade. h)

Read the headlines given bel ow and usetheinformation to compl ete the sentences
appropriately. Writetheanswersagainst the correct blank numbersinyour answer
sheet. Do not copy the whole sentences. (1x4=4marks)

a) Air Deccan addsnew flight

Air Deccan on Friday announced
of asecond flight to the Del hi-Dehradun sector.

b) Verismolndiaappointsnew President

Verismo Networks, aleading internet mediacompany
Abhay Dubey as President, Verismo India.

¢) MadrasManagement Association electsnew President.

C.K.Ranganathan, of Madras
M anagement A ssociation for theyear 2006-2007.

d) Arnoldtotakeover charge

The Football Federation of Austraiasaid on Friday that Assistant Coach
GrahamArnold of theAustralianteam for the next two
Asian Cup quaifying matches.

Read the conversation and compl ete the paragraph given below. Writetheanswers
against the correct blank numbers. Do not copy the whole sentences. (1x4=4marks)

Arun:  Whereareyou going?

Hari | amgoingto Mumbai.



12.

13.

Arun:  Doyouknow whether thetrainisontime?
Hari Itistoarriveat 10 p.m.
Arun: | hopeitisontime.

Arun asked Hari where hewas going. Hari answered that ( a)

Arunenquired if heknew (b)
Hari said (c)

Arunsaid (d)

SECTION D (Literature)

Read the extract given below and answer the questionsthat follow. Writethe
answersinyour answer sheet in oneor two linesonly. Number the answers
correctly.

Likethebright hair uplifted fromthe head

Of somefierce Maenad, evenfromthedimverge

Of thehorizontothe zenith’sheight,

Thelocksof the approaching storm.

a WhoisMaenad ?What comparison doesthe poet makein theselines?
b) Namethepoetic deviceused here.

¢) What doesthephrase, ‘ Thelocks standfor?

Read the extract given below and answer the questionsthat follow. Writethe
answersinyour answer sheet in oneor two linesonly. Number the answers
correctly.

Dumbstruck sat the gaping frog.
Andthewholeadmiring bog

Stared towardsthe sumac, rapt,

And, when she had ended, clapped.

a) Why wasthefrog “dumbstruck” ?

b) Who admired whom?

c) Why did everyone stare at the sumac?

30marks

(4marks)

2
@
(1)

(4marks)

2
(1)
@



14.

15.

16.

17.

“Wewerethefirst that ever burst

Intothat silent sea”

Giveadescription of theexperiencesthe marinersunderwent in‘ thesilent seel .
Writeyour answer in 75-100 words.

Why did Calpurniatry to prevent Caesar from going to the senate house? Did
shesucceed in her attempt?Why?Write your answer in about 75words.

“But whentheevening of hislifewasdrawingin, heleft hisold waysand suddenly
took anew turn.” What wasthe changeinAli’ snaturetowardstheend of hislife?

What wasresponsiblefor thistransformation?Writeyour answer in 50-75words.

You arethereporter of aninvestigative magazine. Your editor entrusted you with
theduty of collectinginformation about what had happened to Cutie-Pie after he
had escaped from prison. After theinvestigation you decideto writealetter toa
friend on what had happened to Cutie-Pie. Writetheletter in 150-175 words.

OUESTION PAPER CODE V1
SECTIONA (Reading)

Read the passage given below and answer the questionsthat follow:

1

Our houseisfilled with photos. They cover thewallsof my kitchen, dining
room and den. | seeour family’sentire history, starting with my wedding,
continuing through the births of both sons, buying ahome, family gatherings
and vacations. When my sonswerelittle, they loved to pose. They waved,
danced, climbed trees, batted balls, hung upsidedown from thejunglegym
and did anything for apicture. But when they reached adolescence, picture-
taking changed into something they barely tolerated. Their bodieswere
growing at haphazard speeds. Reluctantly they stood with us or with their
grandparentsat birthday celebrationsand smiled weakly at the camerafor as
short atimeaspossible.

| am the chronicler of our photographs. | select those to be framed and
arrangethe othersin albums. The processisaddictive, and asthe shelves
that hold our albumsbecomefuller andfuller, | wonder what will become of
them. Will anyonel ook at these photographsin futureyears? If my sonslook
at them, what will they think of usand of themselves? Onebright afternoon,
| took some photographsof my father with my husband asthey fishedona
lake near our vacation house. Asmy sonsand | sat onthe shoreand watched

(5marks)

(5marks)

(4marks)

(8marks)

20 marks
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them row away, | picked the cameraup and photographed the beautiful lake
surrounded by greentrees. Thetwo men | loved gradually grew smaller until
all | could seeweremy father’sred shirt and the tan and blue capson their
heads.

My father died aweek | ater, and suddenly those photos became pricelessto
me. | wept when | pasted them in our album. | wept again afterwardswhen
| saw my younger son looking at them. It was afew days before he went
away to college. He had taken al our abums down from the bookshelvesin
the den and spread them out onthe carpet. It had been avery long timesince
| had seen him doing this. Once he stopped posing for pictures, heseemedto
loseinterest in looking at them. But now he was on the verge of leaving
home. Thiswas his specia timeto look ahead and look back. | stood for a
moment inthe hall by theden, and then tiptoed away. | didn’t takeaphoto of
my son that afternoon, but | will remember how helooked for aslong as|

live. Some pictures, | learned, don’t haveto betaken with acamera.

1.1 Fllinthesummary usingawordonly.

Theauthor was(a) about taking photographsand framing them.
But sheaways(b) whether her sonswould ever |ook at them.
Shewasfull of (¢) when she pasted the pictures of her

father’slast daysintheabum. Shelearnt that some picturesaways
(d) inone smind without acamera.

1.2 Completethesentencesgiven below.

Theauthor’s sons enjoyed taking photographswhilethey

@
(b)
©
()

1.3 Twoinstancesto show that the author’s son wasaverseto taking
photographsare

€
(®

10
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Yox4=2
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2.

1.4 Givewordsthat meanthesameas

(& notorganizedor planned paral
(b) onewhorecordseventsinorder para2
() veyvduadle para3
(d) devotedtosomething para2

Read the passage given below and answer the questionsthat fol low:

1

Set in the declining but still green Western Ghats in the South-West of
Karnataka, Coorgisthe heart of India scoffee country. Coffeeistheworld's
most heavily traded commaodity after crude oil. Coorg boastsaland area
four timeslarger than Hong Kong and seven timesthe area of Singapore.
Most of it isunder tree cover because unlike tea plants, the coffee bush
requiresshade.

Indiaisacknowledged asthe producer of thefinest mild coffees. With their
tropical climate, high dtitude, abundant rainfall and fertilesoil, Coorg andthe
neighbouring Chickmanga ur didtrictsin Karnatakahave cong stently produced
and exported high quality coffeefor over 150 years. The coffee output of
thesetwo digtrictsaccountsfor 70 percent of thetotal coffee producedinthe
country. Coorg coffeeisvauedfor itsbluecolour, cdlean beansand fineliquoring
quaitiesand henceisin demand intheinternationa markets.

In March and April, the coffee blossom time in Coorg, when blossoms
transforminto berries, the bushesare cropped. The cherry-red fruitisthen
pul ped; the seeds separated, dried and sent for curing. Coorg or Kodagu is
thedistrict whichisoneof thelargest producers of pepper, cardamom and
honey intheworld.

Not much isknown about the early history of Coorg. Recorded history is
availableonly from 1600A.D. onwardswhen KodavaRgjasruled over the
region and established their capita at Mercaraby constructingamud-walled
fort. Themartial K odavastroubled Hyder Ali and hisson Tipu Sultan, who
ruled the Mysore region in the 18th century, by way of sporadic rebellions.
But in 1785, Tipu'slarge army marched into Kodagu and devastated the
kingdom. Fourteen years|ater, with the help of the British, who defeated
Tipu Sultan following the historic siege of Srirangapatanain 1799, Coorg
regainedindependenceand under theleadership of ‘ RgjaVeerargendrarebuilt
thecapital. Laterin 1834, the British exiled itsruler ChikkaveeraRgendra

11

1x4=4
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and assumed administrative charge of thedistrict. The British left Indiain
1947, leaving behind alegacy of coffee plantations, colonial buildingsand
well-planned road networks.

2.1 Completethefollowing: 1x4=4

(@ Theteaplantsareunlikecoffeeplantsasthelatter

(b) Coorgcoffeeisinternationally acclaimedfor its

() Coorgisfamousnot only for coffeebut also for

(d) After crudeoil, coffeeisthe

2.2 Completethetablegiven below. 1x4=4
Year Events
@ Recorded history of Coorg
avalablefrom
1785A.D. (b)
(©) Coorg regained independence
1834 A.D. (d)

12



SECTION B - (Writing)

30marks
You are Sumit/Sunita. You attended ascience exhibition, * Self-sufficient India .
Writeapostcard to your friend, Amit, 21, D.H. Road, Chennai in not morethan
50 words about the exhibits and how you were benefitted by them. Copy the
format given below and writethe postcard in your answer sheet. 5

13



Thefollowingisate ephonic conversation between Arun and Rakesh’smother. As
shewasleaving home sheleavesamessagefor her son. Writethemessagein not
morethan 50 words.

Arun: Can | speak to Rakesh?

Rakesh’s mother: Rakeshisnot at home. Hehasgonefor tuitionand will
be back only at 6 p.m.

Arun: Can| leave amessage?

Mother: Oh, sure.

Arun: Pleaseinform him that he hasto stay back after class

tomorrow for his science project. Ram, Raghav and |
arestaying back. My father will pick usup at 6 p.m.

Mother: I’ll inform him. Thank you.

You are Sharat/Sharon living at 22, Daton Ganj, Kanpur. Thefollowing excerpt

from an article made you aware of some of the problemsfaced by amodern city.

Thereareareasthat need immediateattentionif thecity hasto moveforward.
Theblueprint of amodern city should havetransportation facilities, mass
housing projects, ascientific seawage system...

Takingideasfromtheunit ‘ Environment’ aong with your ownideas, writealetter
to the Editor, ‘The Herald’ in about 150 words on the problems faced by
metropolitan citiesand how the Situation can beimproved.

You areamember of the Society for Prevention of Cruelty to Animalsin your
locality. Thefollowing Pie-chart reflectstheattitude of the peopletowardsanimals.
Inresponsetothis, write an articleto be published in the forthcoming i ssue of
‘“TheWeek’ on how animalsareill-treated and what can be doneto preventit. As
Ramesh/Ranjini, writethearticlein 150 - 200 words.

Belief that

animals are

Indifferent
attitude

35%

Animals are exploited
for selfish ntereats
Bl

14
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@
()
©
()

(For Blind Candidates Only)

You areamember of the Society for Prevention of Cruelty to Animalsin your
locality. Writean articleto be published intheforthcoming issueof ‘ TheWeek’ on
how animalsareill-trested and what can be doneto prevent it. AsRamestVRanjini,
writethearticlein 150 - 200 words.

Hints:
*  50% peoplebelieveanima sare exploited for selfish ends
*  35% peoplehaveindifferent attitudetowardsanimals

*  15% peoplebelievethat animalsareman’sdaves
SECTION C - (Grammar)

L ook at the notes given below and compl etethefollowing paragraph suitably. Do
not add any new information. Writetheanswersagaingt the correct blank numbers
inyour answer shest.

Cyclones- regular - nature - anger - Orissadevastated - 16,000 injured -
four days- 15 million survivors- hell on earth

Cyclonesappear (a) but thistimethe Bay of Bengal

seemsto betheir favourite hunting ground. Nature turned her anger on Orissaon
29th October, 1999 (b) coastlinebelt with asuper cyclone. It
reached the shore at awind speed of 220 km/hr and ahuge tidal wave of salt
water. It isestimated that over 25,000 peopledied and about 16,000 (C)

But for the 15 million peoplewho (d) , hell onearth had just

begun.

Rearrange thefollowing words and phrasesto form meaningful sentences. The
first one has been donefor you asan example. Writetheanswersagainst the
correct blank numbersin your answer sheet.

inthe/isswimming/with tremendous/ one sport / potential/country /
One sport inthe country with tremendous potentia isswimming.

our/is/ full of / talented swimmers/ country /
not/ utilized/ potentia/fully / their /is/
academic subjects/ other activities/ take precedence/ over / in school /

hasdone/ the sport / the government / very little/ to boost /

15
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10.

In the passage given below, oneword has been omitted in each line. Writethe
missing word al ong with the word that comes before and the word that comes
after it in your answer sheet against the correct blank number. Ensurethat the
word that formsyour answer isunderlined. Thefirst one hasbeen donefor you as

anexample. ¥%x8=4
Thesmal townwasthe e.g. wasat the
foot of themountains. Most the €)
peoplewerefarmers. Theretradersalso (b)
inthetown. Though not richwere (©
happy contented. At one (d
timethe peace broken by ()
several robberies. The peoplefrightened. ®
TheMayor thetown called for ()]
ameeting discussthe matter. (h)

Given bdow areingructionsto draw acircle. Usetheseto completethe paragraph

that follows. Write correct answversin your answer sheet against the correct blank

numbers. Do not copy thewhol e sentences. 1x4=4
Takeacompassandinsert apencil into the provided holeand tightenit.

K eep the pointed end of the compass on oneend of ascale.

Extend thearm, having the pencil, to therequired length to obtain theradius.

Then keep the pointed end of the compassat the required point.

Rotate the arm having the pencil about the pointed armto obtain acircle.

A compassistaken and a pencil isinserted into the provided hole and

tightened. The pointed end of the compass(a) . Thearm
having (b) to obtain theradius. The pointed end of the
compass(C) . Thearm having the pencil (d)

about the pointed armto obtainacircle.

Read the conversation given bel ow and compl ete the passage that follows. Write
the answers against the correct blank numbers. Do not copy the whol e sentences. 1x4=4

16
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13.

Customer: Can | haveasmall bottle of tomato sauce?

Shopkeeper: Sorry, | have only big bottles.

Customer: Whenwill it beavailable?

Shopkeeper: | cangiveit to you tomorrow.

Customer: Thank you, then | will get it tomorrow.

The customer asked the shopkeeper (a) of tomato

sauce. The shopkeeper said that he only had big bottles of tomato sauce. The

customer wanted to know (b)

(©

. The shopkeeper said that
. The customer thanked him and said that

(d)

SECTION D (Literature)

Read the extract given below and answer the questionsthat follow. Writethe
ansversinyour ansver sheet inoneor two linesonly. Number theanswerscorrectly.

It atethefood it ne’ er had eat,

And round and round it flew.

Theicedid split with athunder-fit;

The hemsman steered usthrough!

(@ Whatis'it’ referredto here?

(b) What difficulty didthemarinersfacebefore’it’ arrived?

() Howdidthemariners fatechangeafter ‘its appearance?

Read the extract given bel ow and answer the questionsthat follow. Writethe
answversinyour answver sheet inoneor two linesonly. Number theanswerscorrectly.

| ansilver and exact. | have no preconceptions.

Whatever | seel swallow immediately

Just asitis, unmisted by loveor didike.

| amnot crud, only truthful

Theeyeof alittlegod, four-cornered.

17
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14.

15.

16.

17.

(@ Whatdoestheexpression‘l swallow immediately’ mean ?
(b) Why isthemirror compared to afour-cornered god?
() What other qualitiesdoesthemirror boast of ?

How do the superstitiousvillagersreact when the narrator’ smother isstung by a
scorpion?Writeyour answer in 75 - 100 words.

Scrooge had everything hewanted but wasawaysgloomy and bitter. Bob Crachit,
hisunderpaid clerk, was cheerful and happy. Compare and contrast the characters
of Scrooge and Crachit asthey appear intheplay, “ A Christmas Carol” . Answer
inabout 75words.

“Whenwearrived wewerelike him - my first born brother and 1.” Describethe
condition of therefugeesin‘ The Ultimate Safari’ whenthey first arrived at the
refugee camp. Writeyour answer in 50 - 75 words.

Reaching homein Bhubaneshwar after the partition of the property, Babuli feels
camandrelieved. That night he makesadiary entry on hisexperiencesin his
villageand what prompted him to pay thetributeto hisbrother. AsBabuli, write
thediary entry in 150 - 175 words.

18



Strictly Confidential - (For Internal and Restricted Use Only)

All India Secondary School Examination
March 2007
Marking Scheme - English Communicative
General Instructions:
Please note that the questions are numbered in continuation from 1to 17.

(i) Marking of the entire script should be done by one examiner. All
answersin all the scripts issued to the examiner should be marked
section wise.

(i) Inthe Marking Scheme, a slash (/) indicates alternative answers; any
one such answer is counted as correct.

(i) Brackets () indicate optional information; the mark is awarded
whether the part in bracketsisincluded or not.

(iv) If a student writes an answer which is not given in the Marking
Scheme but whichisequally acceptable, full marksshould be awarded.

(v) Students should not be penalized if they do not follow the order of the
section / question while answering.

(vi) In questions requiring word limit please note that no marks are to be
deducted for exceeding the word limit.
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QUESTION PAPER CODE 1/1/1
SECTION A (READING) 20 MARKS

Note : Section Ateststhecandidate sability in reading only. Thereforeno deductionsto be
madefor errorsin spelling, grammar or punctuation. M arksshould beawar ded if theanswer

can beclearly under stood.

1 BETHLEHEM

1.1 Objective : Toidentify and understand main partsof thetext.
Marking : 5marks: 1 mark for each correct answer.

No penalty for spelling or grammar. Accept any other
wor d equivalent in meaning to theanswer sgiven below:
Answers :
a) daughtersdaughters

b) amenities/ comforts/entertainment

c) community /neighbourd friends

d) urge/temptation/desire/pull/wish (any other suitableword)
e) redized/ understood/fdt/thought/believed/said

1.2 Objective : Toidentify and understand main partsof thetext.
Marking : 3 marks. 1 mark for each correct answer.

Nopenalty for spellingor grammatical errors.
Accept any other word / phrase equal in meaning to
the answer given below:
Answers:
a) hehad not stayed in one placefor long/because

of atransent lifestyle/father wasinthearmy
b) becausehedid not havetimeto makefriends/
had atrangent lifestyle
c) fromacommitmenttoit(cametohim)

1.3 Objective :Todeducethemeaningsof unfamiliar terms

Marking :4marks. 1 mark for each correct answer.

20
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Answers

a) numerous

b) trangtion/transformed

c) travals

d) vagabond
2 COORG MARKS8
2.1 Objective : Toidentify main pointsof atext.

Marking : 4marks- 1mark for each

correct answer.
No penalty for spelling, grammar. Accept any
other word/ phraseequal in meaningtothe
answer given below

Answers:

a) requireshade

b) blue colour, cleanbeans & fine liquoring qualities
c) pepper/cardamom / honey (any two)

d) heavily traded commodity/highest export

2.2
Objective: To identify main pointsof atext.
Marking : 4marks - 1mark for each correct answer.
No penalty for spelling, grammar. Accept any
other word / phrase equal in meaning to the
answer given below

Answers:

d 1600AD

b) Tipu's largearmy marched into K odagu
C) 1799AD

d) TheBritishexiledits ruler (ChikkaveeraRajendra), assumed
administrative chargeof thedistrict
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SECTION B (WRITING) 30 MARKS
3. NOTICE - CLEANLINESSDRIVE MARKSS

Objectives:  Tousean appropriatestyleand format towriteanotice
Todecodeinformation from onetext typeto another.

Marking: Format: 2marks, Content: 3marks
Note: Deduct 2mark if noticeisnot placed in abox.

Format : Notice/School/ Title Yamark
Date Lomark
Writer’snameand designation 1 mark
Content :
Value points:
-  When/Wherethedriveisto beheld 1 mark
- Askingfor volunteers 1 mark
— Whoto contact 1 mark
4. TELEGRAM : RH COLLEGE, MANGALORE MARKS5

Objectives : Tousean appropriatestyleand format towriteatelegram
To decode information from onetext typeto another.

Marking 2 marks
Format : Format includes

addressee’'s name and address 1 mark

sender’s name and address 1 mark
Content: 3 marks

Under content 1 mark should be given for each of thefollowing pointsprovided
itisclearly expressed. Only Y2amark should be awarded for each point whichis
largdly correct but containsminor inaccuraciesingrammear, Spdlling or punctuation.
If astudent includesany other relevant information he should not be penalized.

Valuepoints:
- Unabletocome 1 mark
— Can'tattend (cousin’s) wedding 1 mark
- CurfewinMangdore Imark
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5. LETTERTOTHEEDITOR: ADULT EDUCATION
MARKS 10

Objectives: Towritein astyleappropriatetoaformal letter

Marking :  Markingshould bein accordancewith thewriting
assessment scale. (Content - 4, Fluency - 3, Accuracy - 3)
Under content, credit should begiven for the candidate’'s
creativity in presenting hisgher own ideas, However, some
of the following points may be included. Maximum of
one mark isto be deducted from total for improper lay
out.

Layout includessender’saddress, date, editor'saddress,
subject, salutation and complimentary close

NOTE: Refer to thewriting assessment scale.

ValuePoints:
—  What adult education means

— Needfor such aneducation
- Howtoimplementit

- Involvement of youngsters
— Precautions

6. ARTICLE: PREVENTION OF CRUELTY TO ANIMALS
MARKS 10

Objectives : Toplan, organizeand present ideas coherently
Marking : Markingshould bein accordancewith
thewriting assessment scale. (Content —

4, Fluency - 3, Accuracy - 3)

L ayout . 1mark may bededucted if layout isincorrect
L ayout includestitleand nameof thewriter.

Content : Under content, credit should begiven for thecandidate's

creativity in presenting his’her own ideas, however, some
of the following points may be included.
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Value Points:
e Expansionof pointsgiveninPiechart may beincluded
e Waysinwhichanimasareill treated

— Beastsof burden
— Leftonstreets

- Circus/zoos
e What can bedoneto prevent thiscruelty

Animd shelters

Creating public awarenessthrough campaignsetc
MobilizingNGOs

Any other relevant points

FOR BLIND CANDIDATES

Usethepointsgiven in thequestion
— 50% of theopinionthat animalsexploited for selfishend
circus’zoos

- 35%believe peopleareindifferent towardstheanimals
old animalsleft ontheroads

—  15%fed that animalsareman’'sdaves-beasts of

burden
SECTION - C (GRAMMAR) 20 MARKS
7. GAPSUMMARY —SUSRUTHA MARKS 4
Objective : Toexpand notesintoameaningful piece
of writing.

Towritein aclear and grammatically
correct language

Marking : - 1 mark for each correct answer.
Answers:

a bornin

b) learnt surgery/medicine

C) doctorsrealizedthat

d) peformingsurgery
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8. JUMBLED SENTENCES—-CHILD HOOD MARKS 4

Objective : Torearrangethejumbled wordsaccurately
and appropriately with referenceto syntax

Marking : 1mark for each correct answer.

Marksto be awarded only if the full sentence
isaccurate

Note: Marks may be awarded for any appropriate,
grammatically correct alternative.

Answers

a. Today theleisurehoursof achild are spent infront of the
TV/Theleisurehoursof achild arespent infront of the TV
today/ Theleisure hoursof achild today are spent infront
of theTV

b. Now-a-daystheattitudeof most parentsisdifferent/ The
attitude of most parentsisdifferent now-a-days

c. They seework and play astwo different things
d. Theyfed that playingisawasteof time

9. EDITING-EARTH MARKS4
Objective:  Totest theaccurate use of grammatical items
Marking :  Marksshould beawarded if only thecorrect

and incorrect wordsarewritten
Yamark for each correct answer

Incorrect Correct
a a the
b. in of
c. on as
d. the a
e. crawl crawled
f. on in
g the a
h. or and
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10. HEADLINES MARKS4

Objective: Totest theability totransform sentences
appropriately and in context

Marking: 4marks - 1mark for each correct answer

a) theaddition

b) hasappointed

c) waselected the new President/ hasbeen elected the
new President

d) will betaking chargel will betaking over thecharge
11. NARRATION : ARUN & HARI MARKS: 4

Objectives  Totest theuse of reported speech
Marking: 1mark for each correct answer

a) hewasgoingto Mumbai
b) if/whether thetranwasontime

c) itwouldarrivel it wasexpectedto arrive/lwasarriving/
wasgoingto/ wasto arriveat 10 pm

d) that hehopeditwasontime
SECTION - D (LITERATURE) 30 MARKS

General Instructions::
This section is meant to test the students familiarity with and
appreciation of theset textsand not written expression. However
if the expression prevents clear communication,upto ¥2 mark may
be deducted in each question.

12. ODETO THEWEST WIND MARKS 4

Objective : Totest local and global under standing of the poem
Marking : 4marks

a) femalefollower of Bacchus, thegod of wineand fertility 1+1
— hecomparestheir locks( hair) to the clouds

b) dmile-‘likethebright hair’
metaphor-‘ thelocks of the approaching storm (any one) 1
c) cloudd rainclouds/cirrusclouds 1
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13. THE FROGAND THE NIGHTINGALE MARKS4

Objective : Totest local and global under standing of the poem.
Marking : 4marks

a.  becauseof shock/jeal ousy/taken aback by thenightingale's
song (any two) 1+1
the creaturesof the Bog admired thenightingale 1
becausethe nightingal ewas sitting on the branches of the sumac tree 1

14. RIMEOFTHEANCIENT MARINER MARKSS

Objective : Totest appreciation and under standing of the poem

Marking : 5marks
Note: No penalty for exceeding the word limit
Answer:

— lack of drinking water felt asif choking

- excessveheat

— shipstuck inthemiddle of hot ocean

— deathfires- premonition of death

- water likewitch'sail

— frightened by dimy creatures

- fdtasif soirit of abatrosswashaunting them
- sawfrighteningdreamghdlucinations

— (anyfour points)

15. JULIUSCAESAR MARKS5
Objectives : Totest knowledge of theme and setting of the play
Marking : 5marks

Answer:

— heard of unnatural sights seen by night watchman

— dreamt of Caesar’sstatue spouting blood—Romans
washing handsin theblood

— wasfearful of hislife (any two)
Did not succeed because

— Deciustempted Caesar by mentioning crown

— interpreted the dream to befortunate one
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16. THELETTER

Objectives : Totest understanding of text.

Marking . 4marks.
Answer . Change
- gaveuphunting

— redlizedtheimportanceof love

— redized presenceof loveinanimas

— could notinflict pain of separation onany oneelse

— (anytwo)

Changedueto

— Miriam’s(daughter’s) wedding and subsequent
departure with her husband

— nonewsof herfor last fiveyears

— londinessandold age
(any two)

17. CUTIEPIE
Objective: Totest extrapolation of thetext
Note: Upto 2 marksmay bededucted for expression.

Nomarksshould bededucted for incorrect layout.
No penalty for exceedingword limit

Question17is marked dightly differently fromtheother literaturequestions. In
this question the studentisaskedto produceapieceof creativewriting based
on one of theliterature texts. Themain aim of this question isto assess
students understanding and appreciation rather than their writing ability, so
the marks for thequestionareaso awarded for content. However, since
this is an extended writing task, written expression cannot beignored, and

therefore thereisapenalty in question 17 for poor expression.

Marking : 8marks.

The marksareto be awarded for content out of 4 as per the writing
assessment scaleand then multiplied by two to giveatotal of 8, whichisthe
maximum mark for thisquestion. However, where a student’s expression
isparticularly poor, up to2marks may bededucted out of marksobtained

as per thewriting assessment scale.
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Note : C-ismarked for content and E -ispenalty for expression.
ValuePoints:

— CutiePiebrought to earth from QutaPi by Que Star
- placedinglassprison
— temperatureunsuitablefor him
— firstloved and thenignored by earthlings
- losesfeathers
— unhappy escapes
- befriendsWinters
- Growsback featherswhiskers
- leavesearth on spaceship
(any 4 points)
Accept any other relevant value point

APPENDIX 1
GUIDELINES ON WRITING ASSESSMENT

WRITING ASSESSMENT SCALE
Content/4

The answer bearsamost no rel ation to thetask set.

1  Theanswer bears limited relevance to the task set. There are many gapsin the

treatment of thetopicand/ or pointlessrepetitions.

2 Muchof theanswer isin linewiththetask set, but thereissomerepetition, redundancy

and/ or omission.

3 The answeris largely relevant and adequate, with little repetition, redundancy or

omisson.
4  Theanswer isfully relevant and adequateto thetask set.

Fluency /3

0 | deasarefragmentary, not or ganised in a coherent manner, and thethemeis

not clear.

1  Althoughthe genera themeisclear, ideasarenotlogicaly presented andthestyle

may beinappropriate.

2  Thegenera themeisclear. Mainideasareadequately presented inafairly appropriate

style, but supporting detailsare not always coherent.
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3 Thegenera theme, mainideasand supporting detail sarewel | orgainsed and presented
inastyleappropriateto thesituation.

Accuracy /3

0 | nadequate vocabulary even for the basic part of thewriting task, most grammatical
patternsinaccurate, frequent punctuation and spelling errors.

1 Frequent grammatical and/or vocabulary inaccuracies, poor use of punctuation and
sodling.

2 Use of vocabulary isadequate, though perhaps sometimeslimited. Therearetill
someminor grammatical, punctuation and/ or spelling errors.

3 Usesappropriatevocabulary with hardly any grammatical, punctuation or
spdlingerrors.

L ayout

Wherelayout isto be assessed, up to one mark may be deducted asfollows:
1  Theworkisinappropriately or inaccurately laid out.

Y%  Thelayoutisgenerally appropriate, but withafew minor errors.

0  Thelayoutisappropriate and accurate.

Assessing Written Answerson Literature

The Literature Section of the examination is designed to assess students
ability tounder stand, inter pret, evaluateand respond toliterature. For this
reason, marksareawar ded for the content of thestudents answer, provided
that it isclearly expressed.

Questions12-16will not penalisea student for poor expression, provided themeaning
can beunderstood clearly. Butif astudent’s answer is so poorly organised that its
content cannot be understood, then the content marks obvioudy cannot be awarded.

Question 17 Writing assessment scale

Content/4

0  Theanswer bearsamost norelationtothetask set. Almost no understanding of the
literaturetext isshown.

2 Much of theanswer isinlinewith thetask set, but thereissomerepetition, redundancy
and/or omission. Reasonable understanding of theliteraturetextisshown.
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3  Theanswerislargely relevant and adequate, with little repetition, redundancy or
omission. Good understanding of theliteraturetext isshown.

4  Theanswer is fully relevant and adequatetothetask set. Veery good understanding
of the literaturetextisshown. The marks awarded are then multiplied by twoto
giveatotd out of 8, whichisthemaximum mark for thisquestion. However, where a
student’s expression is particularly poor, up to 2 marks may be deducted as
follows

Expression

2  Poor organisation; many language errors.
1  Someweaknessesinorganisation; fairly frequent languageerrors.
0  Wadll-organised, with only afew language errors.

QUESTION PAPER CODE 1/1
SECTION A (READING) 20 MARKS

Note : Section A teststhe candidate’s ability in reading only; therefore no deduction isto be
madefor errorsin spelling, grammar and punctuation. M arksshould beawar ded if theanswer
can beclearly under stood.

1 PHOTOGRAPHS Marks: 12
1.1 Objective: Toidentify themain pointsof thetext

Marking: 4 marks. 1 mark for each correct answer, no penalty for
spelling, grammar or punctuation. Accept any other word
equivalent in meaning totheanswer given

Answers:

a) keen/interested/crazy

b) wondered/thought

C) tears/sorrow/emotion/remorse
d) remain/exist

1.2 Objective:  Toidentify themain pointsof thetext

Marking: 2marks: 1/2 mark for each correct answer, no penalty for
spelling, grammar or punctuation. Accept any other answer
equivalent in meaning.
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2.2

Answers:

a) waved

b) danced

C) climbed

d) batted balls/ hungupsidedown from thejunglegym
(anyfour)

Objective:  Understanding of thetext
Marks: 2marks
Answers:

(e) barely tolerated/ smiled weakly at thecamera

Q) reluctantly they stood with us
(any two)

Objective: Toidentify thelexical itemsfrom thetext
Marking: 4 marks

Answers:
a) haphazard
b) chronicler
C) priceless
d) addictive
COORG

Objective: Toidentify the main pointsof thetext
Marking: 4 marks

Answers:
a) requiresshade
b) bluecolour, clean beans& fineliquoringqualities

C) pepper /cardamom /honey (any two)
d) heavily traded commodity / highest export

Objective: Toidentify the main pointsof thetext
Marking: 4 marks
Answers:

a) 1600AD

b) Tipu's largearmy marched into Kodagu kingdom

C) 1799 AD

d) TheBritish exiled itsruler Chikkaveer a, assumed
administrativechargeof thedistrict
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SECTIONB - (WRITING )

3 POST CARD—-SCIENCE EXHIBITION

Objective:

Marking;

Format :

Content:

Touseappropriatestyleand format to writeapostcard
Deduct ¥Y2mark if letter isnot placed in thepostcard for mat.

Format: 2Marks
Content: 3Marks

placefrom wherethe postcard iswritten & date
Salutation and complimentary close
Receiver’'sname

Receiver’'saddress

Under content, one mark each should be given to the value
points, provided they are clearly and accurately expressed. A
maximum of onemark should be deducted from the content areafor
ananswer whichislargely correct, butincludes minor inaccuracy in
grammar, pdling or punctuation. If astudent adds any other relevant
information he should not be penalized. Credit should begivento
the candidate’s creativity. However thefollowing pointsmay be
included:

ValuePoints:

Scienceexhibition - where , when
Sdf sufficient India(optiond)
Somedetailsof theexhibits
Benefitsof theexhibition

4 MESSAGE-ARUN & RAKESH

Objective: Tousean appropriatestyleand format towriteamessage

Marking:

Format:

5marks
2marks

Box and Title- Message

Date
Rakesh
Mother
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Content: 3marks

Aruncaled : Ya
Stay back after classfor science project : Yotifo
Tomorrow : Yo
Ram, Raghav,Arun staying back : Yo
Arun'sfather will pick up at 6.00 p.m. : Yo
5 LETTERTOEDITOR -PROBLEMSINCITIES Marks 10

Objective: Towritein a styleappropriatetoaformal letter.

Marking: Markingshould bein accordancewith thewriting assessment
scale. Content —4 marks, Fluency —3 marks, Accuracy —3marks
Nomarksarespecified for layout, however onemark may
bededucted for faulty layout.

Layout includes: Sender’saddress
date, editor’saddress, subject
and complimentary close

Under content credit should begiven for the candidate’ screativity. However
someof thefollowing pointsmay beincluded. Any other relevant point may be
accepted.

Valuepoints:
Problems:

- overpopulation
- digances
- lackof trangport fecilities
- garbagedisposa
- drayanimds
- aime
- unauthorized congtruction
- pollution
(Any two)

M easur es:

- Highriseapartments, low cost accommodation/ masshousing
projects

34



good public transportation/ car pools/ flyovers/ maintenance of
roads

scientific sewage systems/ systems for garbage disposal

animal shelters / pounds/ adoption of animals

increasein security / encourage citizensto comeforward/ self help
groups/ efficient policevigilance

plantation of moreand moretrees/ CNG vehicles/ mediaexposure
(Any two)

6 ARTICLEWRITING-CRUELTY TOANIMALS

Objectives: Towriteinastyleappropriatefor communicative pur poses.

Toplan, organizeand present ideascoherently

Marking:  Marking should be in accordance with the writing

assessment scale. (Content -4, Fluency - 3, Accuracy - 3)

Layout : 1 mark may bededucted if layout isincorrect

L ayout includestitleand nameof thewriter.

Content : Under content, credit should begiven for the candidate’'s

creativity in presenting his’/her own ideas, however, some
of the following points may be included.

Value Points;

e Expansionof pointsgiveninPiechart may beincluded

e Waysinwhichanimasareill trested
- Beastsof burden
- Leftonstreets
- Circug/zoos
e What canbedoneto prevent thiscruelty
- Animd shdters
- Creating public awarenessthrough campaignsetc
- MohiliziingNGOs
e Any other relevant points

FOR BLIND CANDIDATES

e Expansonof pointsgivenin Piechart may beincluded
o Waysinwhichanimasareill trested
- Beastsof burden
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- Leftonstreets
- Circus/zoos
e What canbedoneto prevent thiscruelty
- Animd sheters
- Creating public awarenessthrough campaignsetc
- MohilizingNGOs
- Any other rlevant points

SECTION C - (GRAMMAR) 20 Marks
7 GAPSUMMARY -CYCLONE Marks:4

Objectives  Toexpand notesintoa meaningful pieceof writing
Towriteinclear and grammatically correct language.

Marking: 1mark for each correct answer

Answers:

a) regularly

b) devadtatingthe

c) were injured

d) survived/ had survived

8 JUMBLED SENTENCES-SWIMMING Marks: 4

Objective: Rearrangethejumbled words accurately and appr opriately
with referenceto syntax.
Marking: 1 mark for each correct answer. Partially correct answer is
not acceptable.
Answers:
a) Our country isfull of talented swvimmers.
b) Their potential isnotfully utilized/ Their potentia isnot utilized fully
C) Academic subjectstake precedence over other activitiesin school / In school
academic subjectstake precedence over other activities.
d) The government hasdonevery littleto boost the sport

9 OMISSION-SMALL TOWN Marks: 4

Objective: Tousegrammatical items accurately and appropriately

Marking: % mark tobeawarded to each correct answer. For the
marks to beawarded, the word before and after the
missing word should bewritten.
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Answers:
a) most of the
b) thereweretraders
C) richthey were
d) happy and contented
e peace was broken
f) peoplewerefrightened
0 Mayor of the
h) mesting to discuss

10 VOICE-CIRCLES

Objective: To transform sentences ( Voice)

Marking: 1mark for each correct answer
Answers:
a) iskept ononeend of a scale

b) thepencil isextended to therequired length
C) iskept at therequired point
d) isrotated

11 NARRATION-TOMATO SAUCE

Objectives  Totest the use of Reported Speech
Marking: 1mark for each correct answer
Answers:

a if hecouldhaveasmal bottle

b) whenitwouldbeavailable

¢) hecouldgiveittohim thenext day /following day
d) thenhewouldgetitthenextday /followingday

SECTION D (LITERATURE)
General Instructions. Thissection ismeant totest thestudent’sfamiliarity with
the appreciation of the set text and not written expression. However, if the

expression preventsclear communication, up to half mark may be deducted in
each question.
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12. RIMEOFTHEANCIENT MARINER

13

14

Objective: Totest local and global understanding of thepoem
Marking: 4 marks
Answers:

a) Albatross

b) They/ship—stuckintheice

c) Theicesplit/ableto steer out / good southwind blew.
(Any two)

MIRROR

Objective: Totest local and global understanding of the poem
Marking: 4marks
Answers:

a) Toaccept ( and reflect) every thing that comesinfront /
accept whatever isprojected.

b) Godwatches everything unbiased and fromall four angles

¢) unprejudiced/ truthful / not cruel / exact / without preconceptions/
unmisted

NIGHT OF THE SCORPION

Objectivee  Totest appreciation and under standing of the poem.
Marking: 5marks
ValuePoints:

- searched - thescorpion—to parayse it

- buzzed God'sname

- purify her soul

- hel p to reducethe suffering of next and previous birth

- suffering would hel p to balance—evil and good deeds
(Any other relevant answer isacceptabl €)

15 ACHRISTMAS CAROL

Objectives  Totest knowledge of thethemeand setting of the play
Marking: 5marks
ValuePoints:
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Scrooge

- Hfish

- unsatisfied

- rude

- loved no one

- didnot believein Christmas
- caresonly for money

- nogratitude

- anti socid

Bob Crachit

- forgiving

- believedin Chrissmasspirit

- hardworking

- uncomplaining

- contented

- loved family

- thankful to God for everything

Note : The qualities have been listed out —any five mentioned above are to be
compared or contrasted

ULTIMATE SAFARI Marks: 4

Objectives  Totest understanding of thetext.
Marking: 4marks

ValuePoints:
- sufferingfromindigestion
- tired and exhausted
- need rest and proper food
- given powder which many children vomitted
- need medical attention
- fanting
- eyesdropped close
- fdling againgt each other
( Any four)
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17

THE TRIBUTE —ADiary Entry
Objectivee  Totest extrapolation of the text

Note : Up to2marksmay bededucted for expression
Nomarksshould bededucted for incorrect layout
No penalty for exceedingword limit

Question 17, however, is marked dightly differently fromtheother literature
guestions. In this question the student isasked to produce a piece of
creativewriting based on one of theliterature texts. Themainam of this
guestion isto assess students' understanding and appreciation rather than
their writing ability, so the marks for thequestionarealso awarded for
content. However, since this is an extended writing task, written expression
cannot beignored, and therefore thereisa penalty in question 17 for poor
expression.

Marking: 8 marks

Themarksareto beawarded for content out of 4 asper thewriting assessment
scaeand thenmultiplied by twoto giveatotd of 8, whichisthe maximum mark
for thisquestion. However, where a student’s expressionisparticularly
poor, up to 2 marks may be deducted out of marks obtained as per thewriting
assessment scale.

C - is marked for content and E - ispenalty for expression.
Mark out of 4x2

Value points:
- old memories
- remember the sacrifices of elder brother
- full of remorse
- panful
- overwhelmed with emotionsof loveand gratitude
- satisfied - took right decision

APPENDIX 1
GUIDELINESONWRITINGASSESSMENT

WRITING ASSESSMENT SCALE
Content/4

0
1

Theanswer bearsalmost no rel ation to thetask set.

Theanswer bearslimited relevanceto thetask set. Therearemany gapsinthe
treatment of thetopic and/ or pointlessrepetitions.
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2 Much of theanswer isin linewith thetask set, but there is some repetition,
redundancy and/ or omission.

3 The answer is largely relevant and adequate, withlittle repetition, redundancy
or omisson.

4 Theanswer isfully relevant and adequate to the task set.

Fluency /3
0 | deasarefragmentary, not organised in a coherent manner, and thetheme
isnot clear.

1 Althoughthe general themeisclear, ideasarenot logically presented andthe
stylemay beinappropriate.

2 The general theme is clear. Main ideas are adequately presented in afairly
appropriatestyle, but supporting detailsare not always coherent.

3 The general theme, main ideas and supporting detailsarewell orgainsed and
presented in astyle appropriateto the situation.

Accuracy /3

0 I nadequatevocabulary evenfor thebasic part of thewriting task, most grammetica
patternsinaccurate, frequent punctuation and spelling errors.

1 Frequent grammatical and/or vocabulary inaccuracies, poor use of punctuation
andspdling.

2 Useof vocabulary isadequate, though perhapssometimeslimited. Therearetill
someminor grammetical, punctuation and/ or spelling errors.

3 Usesappr opriatevocabulary with hardly any grammatical, punctuation or
spellingerrors.

L ayout

Wherelayout isto be assessed, up to one mark may be deducted asfollows:
1 Thework isinappropriately or inaccurately laid out.

Yo Thelayout isgenerally appropriate, but withafew minor errors.

0 Thelayout isappropriate and accurate.

Assessing Written Answerson Literature
ThelLiterature Section of theexamination is designed to assessstudents
ability tounder stand, interpret, evaluateand respond toliterature. For

thisreason, marks are awarded for the content of the students answer,
provided that it isclearly expressed.
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Questions 12-16 will not penalisea student for poor expression, provided the
meaning can be understood clearly. But if astudent’s answer is so poorly
organised that its content cannot be understood, then the content marksobviously
cannot be awarded.

Question 17 Writing assessment scale
Content/4

0

Theanswer bearsalmost norelationtothetask set. Almost no understanding of
theliteraturetextisshown.

2 Much of the answer isin line with the task set, but there is some repetition,
redundancy and /or omission. Reasonable understanding of theliteraturetextis
shown.

3 Theanswerislargely relevant and adequate, with little repetition, redundancy
or omission. Good understanding of theliteraturetext isshown.

4 The answer is fully relevant and adequate to the task set. Very good
understanding of the literature text isshown. The mark awarded is then
multiplied by twoto giveatotal out of 8, which isthe maximum mark for this
question. However, where a student’s expression is particularly poor, upto 2
marks may bededucted asfollows:

Expresson

2  Poor organisation; many language errors.

1  Someweaknessesinorganisation; fairly frequent languageerrors.

0  Wadll-organised, with only afew language errors.
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ENGLISH (Language and Literature)

Time allowed : 3 hours Maximum Marks : 100

- A
GENERAL INSTRUCTIONS :

(i) This paper is divided into four Sections - A, B, C and D.
(i) All geestions are compulsory.

(iii) Marks are indicated against each question.

QUESTION PAPER CODE 2/1/1
SECTION A (Reading) 20 Marks

1 Read the passage given below and answer the questionsthat fol low: (6 marks)

Danceisaskilful art. Itisan effectivemeansof expresson. Facid expressons
and hand gesturesare the essence ef dance. A dancer can expresssuch fedlingsas
joy, anger, or hel plessnesswithout saying aword. People have been dancing since
timeimmemorial. Pre-historic people probably made up dancesto gain favour of
their Gods. Many Indian tribes danced while appealing for rain and good crops.
But most people, these days, dance s mply to havefun or entertain others. Dance
isnot merely afun social activity, itisalso anideal exercise. Twenty minutes of
dancing can burnasmany caloriesastwenty minutesof swimming or biking. Half
an hour of dancing can burn asmany as 200 to 400 cal ories. Dancing can reduce
stress, tension, anxiety and even depression. Dance, like music, knows no
boundaries- geographic, linguisticor racid. Itisagreat unifying force.

1.1 Answerthefollowing questionshbriefly:
(& What congtitutesthe essence of dance? (1)

(b) Mentionany two feelingswhich can be expressed by adancer without
sayingaword. (1)

() Why did pre-historic people perform dances? (1)
(d) Whatdidthelndiantribesappeal for through their dances? (1)

(¢ How many calories are approximately burnt by half an hour of
dancing?(1)

(f) Howisdanceaunifyingforce? (1)
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Read the passage given bel ow and answer the questionsthat follow :

Ladakhisadesertinthemountainsinthe Eastern part of Jammu and Kashmir.
Thisregion doesnot receiveany rainandiscovered in snow for most of theyear.
Very littleagricultureis possiblein thisregion and very few treescan grow. For
drinking water, people depend on the melting snow during the summer months.
The people eat meat and milk productslike cheese and butter. Each family owns
somegoats, cowsand dzos (yak-cows). Thesheepinthisregion arevery special.
They produce Pashminawool whichisprized. The people of Ladakh carefully
collect thewool and sdll it to tradersfrom Kashmir where costly Pashminashawls
arechiefly woven. Though adesert Ladakh alwaysattracted its share of traders.
It was cons dered agood trade route dueto itsmany passesthroughwhich caravans
with merchandisetravelled towhat istoday called Tibet.

2.1 Answerthefollowing questionsbriefly:
(& WhyisLadakhadesert region?(2)
(b) How dothepeopleof Ladakh obtain drinking water in summer ?(1)
() Whichcattledothey tend?(1)
(d) Why arethe sheep of thisregion special?(1)
(6 Why wasLadakh considered agood traderoutein olden times? (1)
Read the passage given below and answer the questionsthat fol low:

Thereisonly onenatura satellite- theMoon. But there are many man-made
or artificid satellitesrevolving around the Earth. Aryabhatta, IRS-1B and INSAT-
2A aresomelndian artificid satellites. They aremorethan 300 Km away fromthe
Earth. At thisheight, the Earth’ sgravity and atmosphere do not affect them.

Artificial satellites are of many kinds. Of them, weather satellites send
information and picturesof clouds, stormsand ocean currents. They are used to
predict theweather. Thisinformation isal so used to warn people about storms,
floods, forest firesetc. Communication satel lites are used to transmit tel ephone
conversation and TV programmes acrossthe earth. They are hel pful in sending
messagesthrough fax machines, using mobile phones and theinternet. Science
satellites send information about outer space. Astronomers study thisdataand get
to know more about thingsin space. These satellitesare launched into space by
rockets. Once beyond the earth’sgravity and atmosphere, they are sent circling
around the earth by the force of another rocket. There is nothing in space to
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obstruct the path or speed of those satellites. So they continue to keep going
around the earth, just likethe moon.

3.1 Answerthefollowing questionshbriefly:
(& Nameanytwoof thelndianartificia satellites. (1)

(b) Why areartificial satelliteskept at a distance of morethan 300 km
away fromthe Earth?(1)

() Mentionany two kindsof man-made satellites. (1)

(d) Howistheinformation sent by weather satellitesused?(2)

3.2 Find words/phrasesfrom the passage which mean the same asthefollowing:

(i) forceof attraction between an object and theearth (1)
(i) body of water or air in motion (1)

(iii) block up/put something intheway of (1)

SECTIONB (Writing)

Youare Sunil/Shilpi living at 23, Navjyoti Apartments, Dwarka, Delhi. Thereisno
community hall inyour area. It causesal ot of hardshipstotheresdentsinorganizing
afunction. Writealetter to the Municipa Commissioner requesting him

to providethisfacility inthearea. Do not exceed 100 words.

OR

Your classwent on apicnic tothe newly created Valley Park inthecity. Writea
letter toyour friend in Kolkatadescribing your experiences of the picnic and how
you enjoyed it. You are Samarth/Sushmita living at 256, Block D, Mayur
Apartments, Delhi. Do not exceed 100 words.

Read the passage given below:

Thebicycleisawonderful inventionindeed. It enablesspeedy travel using
your energy, whereasamost all other vehicles depend on external sources of
energy.

Every school boy knowswho invented thefirst bicycle. It wasa Scotsman
named Kirkpatric Macmillan who in 1839 just fitted two wheelsto aframe and
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attached pedalsto the back whedl . Hethen embarked on thefirst bicycleridein
history. It waslike nothing they had ever seen. He covered 112 kilometresina
mere 10 hours. It wasagreat feat considering the speed of travel inthose days.

Macmillan’sdesign of thebicyclewasimproved over theyears. Handlebars
became curved, tyreswere made thin, and multiple gearswereintroduced. John
Boyd Dunlop, thereafter revol utionized road transport by introducing pneumatic
tyres.

Racing bicyclesbecame common by 1970. They werevery good on smooth
roads and climbed slopes comfortably. But on the mountain terrain wherethe
roadswererough they flopped. It wasat thisjuncturethat Joe Breeze cameaong
with themountain bike. Hemadethetyresthick and introduced anew gear system,
aflat handlebar and efficient hand brakes. It wasfine on smooth highwaysaswell
asrough mountain roads.

5.1 Onthebasisof your reading of the above passage, makenotesonit in points
only, using headings and sub-headings. Also userecognizable abbreviations,
wherever necessary. Supply asuitabletitletoit. (4 marks)

5.2 Writeasummary of the above passagein about 50 words. (4 marks)

You have aneighbour who runs an automobile workshop on the ground floor of
hisresidence. Little spaceis|eft on theroad and there are chances of accidents.
Writeaparagraphin not morethan 80 words describing the difficultiesfaced by
theresidents.

OR

Therewere pre-monsoon rain showerson Tuesday morning. You found school
going childrenwithout any transport at the bus stops. Using the hintsgiven below,
writeareport in not more than 80 wordsfor your newspaper. You are Dinesh/
Divya, apressreporter.

Massivewater logging - roads, poolsof water - traffic jam - breakdown of cars,
scootersand other vehicles- great chaos on road - children got stranded.

SECTIONC
(Grammar)

In the passage given below, one word has been omitted in each line. Writethe
missing word al ong with the word that comes before and the word that comes
after itinyour answer. sheet. Ensurethat theword that formsyour answer is

(6 marks)

15 Marks

underlined asshown. (*2x 8=4 marks)
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A Lake Park hasbeen developed DDA developed by DDA

inEast Delhi. It coversareaof about @
69 hectares. It attractslarge number (b)
of migratory birds. Itisfamousits (©
many varietiesnativetrees. A good (d)
walkingtrack ispopular fithess (e
loverswho livethisarea. Hereone ()
canenjoy boating facilitiesaswell nature ()]
walksthe beautiful green surroundings. (p)]

Read the following passage and fill in the blanks with the correct form of the
wordsgivenin brackets. Correctly number and writethe answer in your answer

Shest. (¥2x 8 =4 marks)
Aninjuredjackal (a) (save) in South Delhi |ate on Thursday evening. It

(b) (wander) into the city fromthe nearby jungle. Infact theanimal

(© (chase) by thedogs. While(d)  (try) tocrosstheroad infear

it(e) (hit) by a(f) (speed) vehicle. Therescueteam (Q)

(reach) the scenewith an ambulance and (h) (trangport) theanimal to

safety.

Read thedid ogue and compl ete the passage given bel ow. Writethe correct answer
inyour answer sheet against the correct blank number. Do not copy the. whole

sentence. (4marks)
Inspector : When did you cometo the bank?

Sdesman : At about 12.30.

Inspector : How much money did you bring?

Sdesman : Rs. 25000/-. | had to deposit it for my firm.

The Inspector asked the salesman (a) . Thesalesmantold him

(b) . Thelnspector inquired of him

(© . Thesalesman told him (d) which he

had to deposit for hisfirm.
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10.

12.

L ook at thewordsand phrases given bel ow. Rearrange them to form meaningful

sentences. Thefirst one hasbeen done asan example. Writethe correct sentences

inyour answer sheet. Remember to number the answers correctly. (3x 1=3marks)
Example

me/ dwayshave/thethoughtsmother/ of/inspired/my

Thethoughtsof my mother haveawaysinspired me.

1. breathein/theffreshi/morningar/aways

2. angry/fooligvhim/that/maderemark

3. great/childhood days/i/my/remember/with/pleasure

SECTIOND 45 Marks
(Literature)

Read the extract given below and answer the questionsthat follow. Writethe
answersinyour answer sheet in one or two linesonly. Remember to number the
answerscorrectly. (5marks)

L encho showed not the dightest surprise on seeing themoney; suchwashis
confidence - but he became angry when he counted the money. God could not
have made amistake, nor could he have denied L encho what he had requested.

Immediately, Lencho went up to the window to ask for paper and ink. On
the public writing-table, he started to write, with much wrinkling of hisbrow,
caused by the effort he had to maketo expresshisideas. When hefinished, he
went to thewindow to buy astamp which helicked and then affixed to theenvelop
withablow of hisfist.

(8 Why wasLencho not surprised on seeingthemoney?(1)

(b) Whichtworeasonsdid hegivetojustify hisanger?(2)

() Why did hegotothewindow to ask for paper and ink? (1)

(d) Whichwordinthepassage meansthesameas'least/smallest’ ? (1)

Read the extract given below and answer the questionsthat follow. Writethe
answersinyour answer sheet in one or two linesonly. Remember to number the
answerscorrectly. (5marks)

Sulochanalooked at her husband with frightened eyes. Perhapshewasright,
shethought. But may be hewas growing ol der, and hishandsand eyesight were
not asstrong asbefore.
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13.

14.

15.

“You must betired, working without abreak,” shesaid, her wordsbetraying
her smplicity.
(@ Why were Sulochana seyesfilledwithfear? (1)
(b) What did shethink of her husband?(2)
() How didsheconsolehim?(1)
(d) Whichwordinthe passage meansthesameas’ giving asign of/showing what
oneredly was ?(1)

Sudhasays, “ Just havefaithinyoursalf and everything will befing’. How doesshe
proveit through examplesfrom her own life?Writeyour answer in about 80
words.

OR

Why wasAnne' steacher annoyed with her? How was she ableto bring about a
changein hisattitudetowards her? Write your answer in about 80 words.

WhoisBridget? Why does she ask for asurgeon?Write your answer in 30-40
words.

OR

“I hold that one good turn deservesanother”, says Reuben. What doeshemean
by it ?Writeyour answer in 30-40 words.

Read the extract given below and answer the questionsthat follow. Writethe
answersinyour answer sheet. Remember to number theanswerscorrectly.

— Yet seek him— and what shall you findinthe place?
Nothing but silenceand empty space,
Save, inacorner, aheap of dry leaves,
That he'sleft for abed for beggarsor thieves!
(8) What hasbeen leftinacorner? (1)
(b) Who hasleftit?(1)
(c) What purpose hasheleftitfor? (1)
OR

Earthisdry tothecentre,

But Spring, anew come,
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16.

17.

18.

19.

20.

21.

22.
23.

A springrich and strange,

Shall makethewindsblow

Round and round,

(@ WhyistheEarthdry?(1)

(b) Whoisreferredto as‘anew comer’? (1)
() Whatisthesgnificanceof Spring? (1)

Why doesthe poet want to listen to the Lord? Explainin 30-40 words.
OR

What message doesthe poet convey inthepoem, ‘ Nothing Will Die’ ?Writeyour
answer in 30-40 words.

What hasthe seabeen compared to ? Give two exampleswhich the poet has
used for comparison.

Describethe character of Ralph, the Rover.
OR
How doesWordsworth contrast the conditions outs de and inside the house?

What did the scientist do when he becamefurious? What happened to the constable
and the peoplein the bar? Write your answer in about 100 words.

OR

Why did thedogsat the surgery reject Tricki as* an uninteresting object” ?How
did he become an accepted member of the gang?Write your answer in about 100
words.

What judtification doesHari Singh givefor steding Anil’smoney?
Why did Matildanot liketo vigit her richfriend?

OR
Wheat story did Ausableframe about calling the police?
Seeing thetiger, how did thetailor and the constablesreact?
What happened when Griffindidn’'t wakeup intime?

OR

Why was L aszlo sent to Ranki Street?What did hefind there?
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11

QUESTION PAPER CODE 2/1
SECTIONA (Reading)

Read the passage given bel ow and answer the questionsthat follow :

Ladakhisadesertinthemountainsinthe Eastern part of Jammu and Kashmiir.
Thisregion doesnot receiveany rainandiscovered in snow for most of theyear.
Very little agricultureispossiblein thisregion and very few trees can grow. For
drinking water, people depend on the melting snow during the summer months.
The people eat meat and milk productslike cheeseand butter. Each family owns
somegoats, cowsand dzos (yak-cows). Thesheepinthisregion arevery special.
They produce Pashminawool whichisprized. The people of Ladakh carefully
collect thewool and sdll it to tradersfrom Kashmir where costly Pashminashawls
arechiefly woven. Though adesert Ladakh alwaysattracted its share of traders.
It wascons dered agood trade route dueto itsmany passesthroughwhich caravans
with merchandisetravelled towhat istoday called Tibet.

Answer thefollowing questionsbriefly:

(@ WhyisLadakhadesert region?

(b) How dothe peopleof Ladakh obtain drinking water in summer?
() Whichcattledothey tend?

(d) Why arethe sheep of thisregion specia ?

(&) Why wasLadakh considered agood traderoutein olden times?
Read the passage given below and answer the questionsthat fol low:

Danceisaskilful art. Itisan effectivemeansof expresson. Facid expressons
and hand gestures are the essence of dance. A dancer can expresssuch fedlingsas
joy, anger, or hel plessnesswithout saying aword. People have been dancing since
timeimmemorial. Pre-historic people probably made up dancesto gain favour of
their gods. Many Indian tribes danced while appealing for rain and good crops.
But most people, these days, dance s mply to havefun or entertain others. Dance
isnot merely afun social activity, itisalso anideal exercise. Twenty minutes of
dancing can burn as many cal ories astwenty minutes of swimming or biking.
Half an hour of dancing can burn as many as 200 to 400 cal ories. Dancing can
reduce stress, tension, anxiety and even depression. Dance, like music, knowsno
boundaries- geographic, linguisticor racid. Itisagreat unifying force.
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2.1 Answerthefollowing questionshbriefly:
(& What condtitutesthe essence of dance?

(b) Mentionany two feelingswhich can be expressed by adancer without
saying aword.

() Why did pre-historic people perform dances ?
(d) Whatdidthelndiantribesappeal for through their dances?
(¢ How many cdoriesareapproximately burnt by half an hour of dancing?
(f) Howisdanceaunifyingforce?

Read the passage given below and answer the questionsthat fol low:

Thereisonly onenatura satellite- theMoon. But there are many man-made
or artificid satellitesrevolving around the Earth. Aryabhatta, IRS-1B and INSAT-
2A aresomelndian artificiad satdllites. They aremorethan 300 km away fromthe
Earth. At thisheight, the Earth’ sgravity and atmosphere do not affect them.

Artificial satellites are of many kinds. Of them, weather satellites send
information and picturesof clouds, stormsand ocean currents. They are used to
predict theweather. Thisinformation isal so used to warn people about storms,
floods, forest fires, etc. Communication satellites are used to transmit telephone
conversationand TV programmes acrossthe Earth. They are helpful in sending
messagesthrough fax machines, using mobile phonesand theinternet. Science
satellites send information about outer space. Astronomers study thisdataand get
to know more about thingsin space. These satellitesare launched into space by
rockets. Once beyond the Earth’sgravity and atmosphere, they are sent circling
around the Earth by the force of another rocket. Thereis nothing in spaceto
obstruct the path or speed of these satellites. So they continue to keep going
around the Earth, just likethe Moon. (198 words)

3.1 Answer thefollowing questionshbriefly:
(& Nameanytwoof thelndianartificia satellites.

(b) Why areartificid satelliteskept at adistance of morethan 300 km away
fromtheEarth?

(c) Mentionany two kindsof man-made satellites.

(d) Howistheinformation sent by westher satellitesused?
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3.2 Findwordg/phrasesfrom the passage which mean the sameasthefollowing:
(@ forceof attraction between an object and the Earth
(b) body of water or airinmotion

(¢) block up/put something intheway of

SECTIONB
(Writing)

YouareAmit/ Presti living at C-207, Shastri Nagar, Meerut. Street lightsinthe
areahave not been working for thelast six monthsleading to accidentsand arise
inunsocial activities. Write aletter to the General Manager of the Electrical
Corporation of your city complaining about this problem. Do not exceed 100
words.

OR

Your classwent to seeazoo along with your teacher. You enjoyedit alot. Writea
letter to your friendin Delhi describing your visit and how you enjoyedit. You are
Gaurav / Shalini living at 26, Chikpet, Mysore. Do not exceed 100 words.

Read the passage given below:

Thebicycleisawonderful inventionindeed. It enablesspeedy travel using
your energy, whereasalmost al other vehicles depend on external sources of
energy.

Every school-boy knowswho invented thefirst bicycle. It wasaScotsman
named Kirkpatrick Macmillanwho in 1839 just fitted two wheelsto aframeand
attached pedal sto the back whedl . Hethen embarked on thefirst bicycleridein
history. It waslike nothing they had ever seen. He covered 112 kilometersina
mere 10 hours. It wasagreat feat considering the speed of travel inthose days.

Macmillan’sdesign of thebicyclewasimproved over theyears. Handlebars
became curved, tyreswere made thin, and multiple gearswereintroduced. John
Boyd Dunlop, thereafter revol utioni zed road transport by introducing pneumatic
tyres.

Racing bicydesbecamecommon by 1970. They werevery good onsmooth
roads and climbed slopes comfortably. But on the mountain terrain wherethe
roadswererough they flopped. It wasat thisjuncturethat Joe Breeze cameaong
with themountain bike. Hemadethetyresthick and introduced anew gear system,
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aflat handlebar and efficient hand brakes. It wasfine on smooth highwaysaswell
asrough mountain roads.

5.1 Onthebasisof your reading of the above passage, makenotesonit in points
only, using headings and sub-headings. Also userecognizable abbreviations,
wherever necessary. Supply asuitabletitletoit.

5.2 Writeasummary of the above passagein about 50 words.

Your houseissituated near aNational Highway. You hear |otsof noisesthroughout
theday and night. Writeaparagraph in not morethan 80 words about the noises
that irritateyou.

OR

You areRitesh/ Ritu, apressreporter. During your visit to different colonies, you
found a number of people working as doctors without having any medical
qualification worth the name. Using the hintsgiven below, write areport in not
morethan 80 wordsfor your newspaper.

nearly 40000 quacksinyour city - afew inamost each colony - not quaified
a dl - exploiting people- putting their livesto danger - many deathsreported
at their hands- public and government need to bevigilant.

SECTIONC
(Grammar)

In the passage given below, oneword has been omitted in each line. Writethe
missing word along with the word that comes before and the word that comes
after itin your answer sheet. Ensure that the word that formsyour answer is
underlined as shown.

Withthearriva rains, snakes arrival of rains
comeout of their holesmove €)
about search of dry ground. They (b)
end upin such places shoes, kitchens, (©
storeroomsetc. A resident found big (d)
cobrain hiskitchen Friday. He ()
cdledafriendrunsahelpline. He ()
came and caught snake. Heleft ()]
with advice" Don’t panic but adopt caution.” (h
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10.

Read thefollowing passageandfill intheblankswith the correct form of thewords
givenin brackets. Correctly number and write theanswer in your answer shest.

A three-storey building (a) (fal) downinthecentre of thetown
last night (b) (kill) six of afamily onthe spot. About sixteen persons
(© (deep) whenthetragicincident (d) (take) place.
A two-and-a-half year old son of the samefamily luckily (€) (survive)
theaccident. According to apoliceofficia thebuilding (f) (rent out)
to factory workers. Efforts(g) (make) (h) (save) the
rest of the people.

Read the did ogue and compl ete the passage given bel ow. Writethe correct answver
inyour answer sheet against the correct blank number. Do not copy thewhole
sentence.

Inspector: Wheredid you keep themoney?

Salesman: [twasinmy briefcase.

Inspector: Wherewas. the briefcase?

Salesman: | put it on the counter.

The Inspector asked the salesman (a) money. The salesman
told him (b) . The Inspector further enquired of him
(© . Thesalesman replied (d)

L ook at thewordsand phrasesgiven below. Rearrange them to form meaningful
sentences. Thefirst one hasbeen done .asan example. Writethe correct sentences
inyour answer sheet. Remember to number the answers correctly.

Example:

the/ withtheir guide/ Red Fort / went / thetourists/ see/ to
Thetouristswent to seethe Red Fort with their guide.

@ milder / people/ makes/ the/ gentler / music/ and
(b)  two/e€lection/stood/ candidates/ for

(© lost / 500 votes/ a/ theelection/ he/ margin of / by
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12.

13.

SECTIOND
(Literature)

Read the extract given bel ow and answer the questionsthat follow. Writethe
answersinyour answer sheetsin oneor two linesonly. Remember to number the
answerscorrectly.

That night at Mumbai she danced for two-and-a-haf hoursand when shefinished,
theapplausejust wouldn't dieout. That onesingle performance, thefirst after her
traumatic accident, turned her into one of the most sensational starsthe country
had ever seen and sincethen she hasbeen invited to perform all over theworld.

(@& How longdid SudhaChandran dance?

(b) How didthe peoplereact after shehad finished it ?

(©) What mishap had shemet with?

(d) What effect did thissingle performance have on her career?

(& Whichwordinthe passage meansthesameas’ causinginjury/nervousshock’ ?

Read the extract given bel ow and answer the questionsthat follow. Write the
answersinyour answer sheetsin oneor two linesonly. Remember to number the
answerscorrectly.

Shewrapped her trunk around asisal poleand pulled. Therewasatearing
noise asthe polewaswrenched away. No one came out of atent to chasethem.
The othersmoved forward and .al so started pulling on the polesand the wire.
Tusklessquickly madeasizeableholein onewall of thekitchen.

(@ Whopulledthepole?

(b) What happened when the polewaspulled?

() What werethey expecting to happen?

(d) What did‘theothers thendo?

(&) Whichwordinthe passage meansthesameas* put round’ ?

Lencho hasgrest faithin God. Does he havethe samekind of faithin man?Taking
examplesfrom the story describe hisattitude towards God and man. Write your
answer in about 80 words.

OR

56

45 Marks



14.

15.

16.

What conflict and fear isKofi Annan referring toin his speech? How can we be
freefrom fear and solvethe conflict? Write your answer in about 80 words.

Danwasahighwayman. Why then did Reuben not want him to be hanged?Write
your answer in 30 - 40 words.

OR

“Tisastrangeworld,” saysthe Surgeon. What does he mean by this statement?
Write your answer in 30 - 40 words.

Read the extract given below and answer the questionsthat follow. Writethe
answersinyour answer sheets. Remember to number the answerscorrectly.

Andwhenthenight windroars
And themoon rocksin the stormy cloud,
Heboundsto hisfeet and snuffsand sniffs.
(@ Whois'He inthestanza?
(b) When doesheboundto hisfeet?
() What doesthe expression ‘themoon rocks mean?
OR

Nothingwill die;

All thingswill change
Thro’ eternity.
‘Tistheworld swinter;
Autumnand summer

Aregonelong ago.
(@ Why doesthe poet say that nothing will die?
(b) What hasreplaced the seasons of autumn and summer?
() What doeshemean by ‘eternity’ ?

The poet wishesto listento the Lord in every moment of life. What doeshe say to
convey thiswish? Explainin 30 - 40 words.

OR

57



17.

18.

19.

20.

21.

22.

23.

What aspects of nature doesthe poet talk about in the poem, * Nothing Will Die ?
Writeyour answer in 30 - 40 words.

When doesthe seabehave most like apeaceful dog?
What sindid Sir Ralph commit?Why did hedoit ?
OR
What do you think thewind isdoing when the poet tellsthe child tolisten?

WhowasAnil ?How did hetreat Hari Singh?What transformation did it bring
about inHari Singh'slife?Writeyour answer in about 100 words.

OR

How far do you agreethat Borbaaismuch concerned for the safety of her brother,
L aszlo? Explain giving examplesfrom thetext. Write your answer in about 100
words.

What story did thelady tell Horaceto get thejewel s?

What did Mrs. Pumphrey doto bring Tricki back to normal health? Was she
successful?

OR
What was someone expected to bring to Ausable’ sroom?
Why did the narrator, ayoung lawyer, not likehisjobinalaw firm?
How did Hari Singh know that Anil had forgivenhim?

OR

“I am not frightened of anything.” What character trait of Laszloisclearly seen
fromthisstatement?
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Srictly confidential —(For Internal and Restricted UseOnly)
Secondary School Examination
March 2007
Marking Scheme—English Languageand Literature

General Instructions

1

The Marking Scheme provides general guidelinesto reduce subjectivity inthe
marking. Theanswersgiven inthe Marking Scheme arethe suggested answers.
The content isthusindicative. If the student has given any other answer, whichis
different fromthe onegivenintheMarking Scheme, but conveysthe meaning, such
answersshould begivenfull weightage.

Evaluationisto bedoneasper theingtructionsprovided inthe Marking Scheme. It
should not be done according to one sowninterpretation or any other consideration
—Marking Scheme should be gtrictly adhered to and religioudly followed.

If the question has parts, please award marksin theright hand sidefor each part.
Marksawarded to the different parts of the question should then betotalled up and
writtenintheleft hand marginand circled.

If the question does not have any parts, markswill be awarded in the left—hand
margin.

If acandidate has attempted any extraquestion or part, marksobtained in the best
question should beretained and the other answer should be scored out.

Q.1,Q.2,Q.3,Q.11, Q.12, and Q. 15 are meant to test the comprehension ability
of the candidatesand not the ability of expression. Full credit should begivenfor
thecorrect valuepoint, evenif theanswer isnot giveninafull sentence.

In questions consisting of 3 or morethan 3 marks, break up of marks should be
shown separately (assuggested inthe Marking Scheme) and thentotal led.

A full scale of marks0to 100 hasto be used. Please do not hesitate to award full
marksif the answer deservesit.
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Q. Nos1-3 Objectives : Toidentify themain pointsof thetext & to deducethemeaning

Q.11

Q.21

Q.31

Q.32

MARKING SCHEME

QUESTION PAPER CODE 2/1/1
Section —A (Reading)

of unfamiliar lexica items.

Marking: 1 mark for each correct answer, no penalty for errorsin

spelling, grammar or punctuation. Accept any other answer

smilarinmeaning to the answersgiven below.

(@) facial expressionsand hand gestures (%2+%2)

(b) joy, anger or helplessness (any two) (Y2+%%2)

(¢) togainfavour of gods

(d) for rainand good crops (Y2+%2)

(e) about asmany as200t0 400 calories

(f) noboundaries/ unitesirrespective of language, race or region

(8 norain; covered in snow for most of the year

(b) by themelting of snow

(¢) goats, cowsand dzos (yak) (anytwo) (%2+%2)
(d) produce costly pashminawool (wool known aspashmina)

(e) duetoitsmany passes

(8 Aryabhatta, IRS—1B, INSAT —2A (any two) (Y2+%2)
(b) sothat earth’sgravity & atmospheredo not affect them
(¢) wesather satdllites, communication satellites; sciencesatellites
(any two)
(d) usedto predict theweather
to warn people about storms/ floods/ forest fires etc.
() gavity
(i) currents
(iii) obstruct
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SECTION B (Writing) 20 Marks
Q. 4. L etter Writing

Obj ective: Tousean appropriate styleand format to writealetter of complaint,
requestsetc (formal) and to family and friendsetc (informal)

e Toplan, organizeand present ideas coherently

Marking: Marking should be in accordance with the following writing
assessment scale

Content: 3marks
Fluency: 1% marks
Accuracy: 1%2marks

Layout: layoutincludessender’saddress, date, designation and address of
addressee, subject, salutation, complementary closeetc. according
to requirement

Under content, credit should begivenfor thecandidate’ screstivity in presenting
his/ her ownideas.

ValuePoints

e nocommunity hal inthearea.

e thickly populated place.

e functions(birth, death, marriageetc.) held every other day.
e |otof inconvenience.

e community hall urgently needed.

Or 6 marks

e picnicarranged-when?

e where?

e what arrangements made?

e Sghtsseen.

e your experienceabout thepicnic

Note: The pointsgiven above are suggestive only. Any other relevant point
given by the student must be accepted

Q. 5. Note—makingand summarizing

5.1 Objective:  Tousean appropriate style and format for making notes
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Marking:
e Abbreviations/ symbols(with/without key)
e Title

e Content ( minimum two sub—headingswith proper indentation
& notes)

Thefollowing notes provided in the marking scheme are only guidelines.
Any other titlesand sub- titles should be accepted, if they areindicative of
the student’ sunderstanding of the given passage and the notesincludethe
main pointswith suitable abbreviations. Compl ete sentences should not be
accepted as notes.. Numbering of points should be consistent.

Title: Invention of the Bicycle

1. Wonder Invention
(&) speedy travel
(b) usingone'sownenergy
(¢) independent of externd energy
2. IgBiclelnventedin1839
(@ byK.Macmillan, Scotsman
() fitted two wheelsto aframe
(i) attached pedal sto back-whee!
(iii) rode, cover’d 112km.in 10 hrs.
(iv) great feet acc. to the std. of that time

3. Improveddesigns
(@ madecurved handlebar
(b) tyresthin
(i) neumatic typesdevel’ d by Dunlop
(ii) revol utionalized road transport
(iii) success on smooth roads
(iv) failed on rough mountain roads

4. Mountainbikedevel’d by Joe Breeze
(@ tyres madethick
(b) new gear system
(c) efficient handbrakes
(d) equally good on smooth roads & rough roads
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Symbols/ Abbreviations used (Key)

It - first
Bicle — bicycle
cover'd —  covered
Km —  kilometre
hrs —  hours
devd’d — developed
acc. — according
Std. —  standard

Q.52 Thesummary shouldincludeall theimportant pointsgiveninthenotes.
4 marksbeawarded with thefollowing considerationin view

e Content: 3
e Expression :1 8 Marks

Q.6 Paragraph/Report Writing

Objective: To use an appropriate styleto write aparagraph, report, notice
efc. expressing opinion.

e Toplan, organizeand present ideas coherently.
e  Topresentanargument

Marking: Marking should beinaccordancewiththefollowingwriting

assessment scale
e Content : 3maks
e Fluency : 1% marks
e Accuracy : 1% marks

Under content credit should be given for the candidate’s creativity in
presenting his/ her ownidegs.

ValuePoints
e workshop ontheground floor, residence above.
e |otof vehiclesremain parked ontheroad.
e reparcausngnoise.
e noparking for residentsleft.
e roadsremain blocked/causejams.
e difficultiesevenfor pedestrians
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Q.7.

Q.8

Q. 9.

Or 6 marks
Vauepointsare provided in the question paper itself

Note: Thepointsgiven aboveare suggestiveonly . Any other relevant point
given by the student must be accepted

SECTION C (Grammar) 15 Marks

Obj ective: Tousegrammeticd itemsaccurately and appropriately, specificaly
articles, prepositions, adjectives sentence connectorsetc.

Marking: Y2mark for each correct answer

(a) coversan area

(b) attractsa large

(c) famousfor its

(d) varieties of native
(e) popular with fitness

(f) livein this 1/2x8 = 4 marks
(g) well as nature

(h) walksin the

Objective: Totest knowledge of syntax and appropriate use of grammar
itemslikeverbs, non- finitesand passivevoice.

Marking: Y2mark for each correct answer

(8 wassaved

(b) had wandered/ wandered

(c) waschased

(d) trying

(e) washit

(f) speeding 4 marks
(9) reached

(h) transported.

Objective: To usethetest of reported speech

Marking: 4 marks(onemark for each blank)
(@ whenhecame/had cometo the bank.
(b) that he came/ had comeat about 12:30. 4 marks
(¢) how much money he had bought
(d) that hehad brought Rs. 25000/-
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Q. 10. Objective: Toreorder sensegroupsinto asyntactically

coherent and compl ete sentences.

Marking: 3 marks(1 mark for each correct answer)

1. ladwaysbreatheinthefreshmorningair.
2. Thatfoolishremark madehimangry.
3. I remember my childhood dayswith gresat pleasure. 3 Marks

SECTION D (Literature) 45 Marks

Q. 11&120Dbjective: Totest loca and global understanding of prose passage

Q.11 Marking: 1 mark for eachvaluepoint. (5marks)

Q.12

(@ becauseof hisfaith/confidencein God
(b) God could not makemistake
could not deny hisrequest (1+1)
() wantedtowriteto God again
(d) ‘dightest’. 5marks

(@ seeing her hushand’sdistress

(b) wasright — growing older/ handsand eyesight not strong
with ageing (1+1)

(¢) continuouswork / must betired
(d) betraying 5 marks

Q.13  Objective: Totest knowledge and extrapolation of thetext.

Marking: Content 4; Expression 2

SudhaChandran, an epitomeof great will and determination
started her career in Bharatnatyam

met serious accident —leg amputated — became handicapped
didn’t giveup—practiced with * Jaipur foot’

gavefirst pubic performancein Mumbai in 1984
becameadancing star —filmé& T.V. star

any other personwould havegivenupindespair

source of inspiration for those who get depressed
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Or 6 marks
Annetalkedtoo muchinclass.

teacher assigned her extrahomework, an essay on‘ A chatter Box’ -
wrotewell

second assignment * An Incorrigible Chatterbox’

attempted with convincing arguments

assigned her another essay “ Quack,Quack,Quack,said Mistress Chatter
mxﬂ

thistime, wroteinverse. It wasabout amother duck, father swan and
three ducklings—father | et the babiesto death because they quacked
toomuch.

madehimrealizehewasunfair
nolonger punished Anne

Q.14  Objective: Totestloca and global knowledge of theplay.

Marking: Content: 2 marks
Expression: 2 marks

e andderly womanworking at Mr. Reuben’sinn.
e ayoungmanislying onthebed, badly wounded andisdying.

e  Bridgetisnursing him but findsit hard to staunch hiswound —
therefore asksfor asurgeon.

Or 4 marks

e knowsnointricaciesof law- serviceto humanity, the only creed.

e Dbdlievesthat onewho savesalife deservesto be saved-so helpsDan
whotakesrisk of hislifeto savethe Youngman

Q.15  Objective: Totest loca and global understanding of the poem

Marking: 3marks (1 each)
(@ aheapof dry grass/leaves
(b) thewind
(c) abedfor beggarsor thieves
Or 3marks
(@ becauseof winter
(b) Spring

() will bring new life/makethewindsblow
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Q. 16.

Q.17

Q.18

Q. 19.

Objective: Totest theknowledge of theme ascontained inthe poem
Marking: 3marks(content: 2, expression: 1)

e \oiceof Godguides

e telstheright fromthewrong

e hdpsoneinall circumstancesof life
Or

e thingschange, but never die
e eernity andcontinuity of life

e cycleof birthand degth

Objective: Totest appreciation of the poem
Marking: 2marks(Content: 1, Expression: 1)

e Toahungrydog- keepshiting theboneswith hisclashingteeth -
seaal so keepsrolling on the beach, grinding stones, uttering loud
sounds

e onquiet dayslieswith hishead between hispaws (flowswithin
bounds)

Objective: totest appreciation of the poem
Marking: 2marks(Content: 1, Expression: 1)
e Rap,theRover, apirate
e plundersshipsforaliving
e jealous—cutsthebell, doomed.

Or

e Outside—wind'sdin, hugerattle
e Inside—warm and comfortable, sheltered cosy warm house

Objective: Totest knowledge and appreciation of thetext
Marking: 7 marks
Content: 4 marks
Expression: 3marks
e threw off bandages, whiskers, spectaclesand even nose
e becameheadless
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constable, Mr. Jaffers grappled with aperson throwing off one
garment after another- helped by people

findly struggling with apersonthey could not seeat all
hit by blowsthat seemed to comefrom nowhere
knocked unconscious.
Or
Tricki looked down at the dogswith dull eyes
lay motionless- other dogsleft him asan uninteresting object
givennofood, plenty of water , dept with dogs, improved

other dogs started taking interest, gradually begantofight likea
tiger for hisshareof med

became an accepted member of thegang

Q. 20-23 Objective: Totest knowledge and understanding of thetext
Marking: 2marks(content: 1; expression: 1)

Q. 20.

Q.21

Q. 22

Q.23

If hedoesn’t takethe money,Anil will only wasteit on hisfriends
Anil does't even pay him
Friend, arich lady, herself poor, could not bear to go to her because

of her complex
Or

thought theimportant paper needed extraprotection
told them to check on him to make sure every thingwasalright

tailor abandoned hismachine, shut himself upinacupboard ,praying
someone shot thetiger.

constablefled abandoning aprisoner with hishandcuffs

assistantscame, griffin panicked, begantorun
chased, finally escaped
Or

to deliver papers, bring back painkillersand clean dressing for his
wounds.

Russ anshad blown themedical station.
Both thefather and sister had also died
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MARKING SCHEME

QUESTION PAPER CODE 2/1
Section —A (Reading)

Q Nos. 1-3

Q.11

Q.21

Q.31

Q.32

Objectives : Toidentify themain pointsof thetext & to deducethemeaning

of unfamiliar lexicd items.

Marking: 1 mark for each correct answer, No penalty for errorsin
spelling, grammar or punctuation. Accept any other answver

smilar inmeaning to the answersgiven below.

(& norain; coveredinsnow for most of theyear

(b) by melting of snow

(¢) goats, cowsanddzos (anytwo) (Y%2+%2)
(d) produce costly pashminawool

(e) duetoitsmany passes

(@ facial expressionsand hand gestures (Y2+Y2)

(b) joy, anger or helplessness (any two) (Y2+%%2)

(c) togainfavour of gods

(d) for rainand good crops (Y2+%2)
() 200to400 calories

(f) noboundaries/ unitesirrespective of language, race or region

(& Aryabhatta, IRS—IB, INSAT —2A (any two) (¥2+Y2)

(b) Earth’sgravity & atmospheredo not affect them

(c) westher satdllites, communication satellites; sciencesatellites
(any two)

(d) usedto predict thewesther
warn people about storms/ floods/ forest fires etc.

() gaity
(i) currents
(iii) obstruct
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Q. 4

Q.5.
5.1

SECTION B (Writing)
Letter Writing

Objective: To use an appropriate style and format to write a letter of
complaint, requestsetc (formal) and to family and friendsetc (informal)

To plan, organizeand present ideas

Marking: Marking should bein accordance with thefollowing writing
assessment scale

Content : 3 marks
Fluency : 1% marks
Accuracy: 1Y% marks

Layout: layoutincludessender’saddress, date, designation and address
of addressee, subject, salutation , complementary close etc. according to
requirement

Under content, credit should be given for the candidate’s creativity in
presenting his/ her ownidegs.

ValuePoints
e  dreetlight not working( about six months)
e causngaccidents
e 0ld, womanand children worse affected
e unsciad dementsactive

e  many casesof thefts& burglary reported
Or

e number of studentsvisited thezoo

e purposeof your vist

e animasyousaw

e  precautionsobserved

e whatyoulearnt

e howyouenjoyed
Note: The pointsgiven aboveare suggestiveonly. Any other relevant point
given by the student must be accepted.
Note—makingand summarizing

Objective: Tousean appropriate styleand format for making notes
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Marking:
e Abbreviations/ symbols(with/without key)

e Title
e Content (minimum two sub—headingswith proper indentation
& notes)

Thefollowing notes provided in the marking scheme are only guidelines.
Any other titlesand sub- titles should be accepted, if they areindicative of
the student’sunderstanding of the given passage and the notesincludethe
main pointswith suitabl e recognizabl e abbreviations. Compl ete sentences
should not be accepted asnotes.. Numbering of points should be consistent.

Title: Invention of the Bicycle

1. Wonder Invention
(8) speedy travel
(b) usingone'sownenergy
(¢) independent of externa energy

2. It Bicyclelnventedin 1839
(@ byK.Macmillan, Scotsman
(i) fittedtwowhedstoaframe
(i) attached pedalsto back-wheel
(i) rode, cover’d112km.in10hrs.
(iv) great feet acc, tothestd. of that time

3. Improveddesigns
(@ made curved handlebar
(b) tyresthin
() Neumatictypesdevel'd by Dunlop
(i) revolutionalizedroad transport
(i) successon smooth roads
(iv) falledonrough mountainroads

4. Mountainbikedevel’ d by Joe Breeze
(@ tyres madethick
(b) new gear system
(c) efficient handbrakes
(d) equally good on smooth roads & rough roads
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Symbols/ Abbreviations used (Key)

I — First
Bide - Bicycle
cover’'d — covered
Km — Kilometre
hrs — hours
devd’d — developed
acc. — according
Std. — standard

Q.52 Thesummary shouldincludeall theimportant pointsgiveninthenotes.
4 mar ksbeawarded with thefollowing considerationin view.

e Content: 3
e Expression: 1 8marks

Q. 6. Paragraph/Report Writing

Objective: Tousean appropriate styletowriteaparagraph, report, notice
efc. expressing opinion.

e Toplan, organizeand present ideascoherently.
e Topresent anargument
Marking: Marking should bein accordancewiththefollowingwriting

assessment scale
e Content : 3marks
e Fluency : 1% marks

e Accuracy : 1% marks

Under content credit should be given for the candidate’'s creativity in
presenting his/ her ownideas.

ValuePoints
e toomuchtraffic
e dlkindsof traffic
e different kindsof loud noises, noisepollution
e noiseuninterrupted
e causeslotof disturbance

e not ableto study, concentrate
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Q.7.

Q. 8.

e sometimesdeeplessnessand
e otheralments 6 marks
Or

Detailed value pointsare provided in the question paper itself

Note: Thepointsgiven aboveare suggestiveonly . Any other relevant point
given by the student must be accepted

SECTION C (Grammar) 15 Marks

Objective: Tousegrammatical itemsaccurately and appropriately,
specificdly articles, prepositions, adjectives, sentence connectorsetc.
Marking: Y2mark for each correct answer

(8 holesand/tomove

(b) aboutin search

(c) placesasshoes

(d) foundabig

(e) kitchenon Friday

(f) friendwhoruns

(9) caughtthesnake

(h) withan/theadvice. Y2x8 = 4 marks

Objective: Totest knowledge of syntax and appropriate use of grammar
itemslikeverbs, non- finitesand passivevoice.
Marking: Y2mark for each correct answer
(@ fdldown
(b) killing
() weredesping
(d) took
(e survived
(f) wasrented out / had been rented out 1/2x8 = 4 marks
(9 weremade
(h) tosave.
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Q.9 Objective: Tousethetest of reported speech

Marking: 4 marks(onemark for each blank)

(@ wherehehad kept the money

(0)

thatitwasinhisbriefcase

(¢) wherethebriefcasewas

(d

that he had put it on the counter

Q. 10. Objective: Toreorder sensegroupsinto asyntactically

coherent and complete sentences.

Marking: 3 marks (1 mark for each correct answer)

1. Musicmakesthepeoplemilder and gentler.
2. Two candidatesstood for election.
3. Helostthedection by amargin of 500 votes.

SECTION D (Literature)

Q.11&12 Objective: Totest loca and global understanding of prose passage

Marking: 1 mark for each valuepoint. (5marks)

Q11 €)
()
©
()
€

Q.12 €)
()
©
()
€

two and ahalf hours

applauded for alongtime

an accident

becameasensational star / invited to performal over theworld
traumeatic

Tuskless

tearingnoise

to be chased by someone

moved forward and started pulling on the polesand thewire

wrapped.

Q.13 Objective: Totest knowledgeand extrapolation of thetext.

Marking: Content: 4 ; Expression: 2

AttitudetowardsGod : unflinching faith—goesto the extent of
writing aletter —getsless money —confident that God would not
commit amistake & would not refuseto help.

74

4 marks

3marks

45 Marks

5marks

5marks



Q. 14.

Q.15

e Attitudetowards Man: faltering faith—doubtstheintegrity of the
post office employeeswhen receives only 70 pesosinstead of
100—goesto the extent of calling them ‘abunch of crooks

Or

Conflicts
e  mostly inpoor countries—badly governed
e power andwedthunfairly distributed between ethnic and religious
groups

Solution: fair representation of al groupswith human rights, minority rights
& economic development .

Fear: fear of war, fear of theweapons of massdestruction

Solution: to bdlievethat earthisnot oursbut atreasureweholdintrust for
our descendents.

Objective: Totestlocal and global knowledge of the play.
Marking: Content: 2marks; Expression : 2 marks
e  ahighway man but humaneand compassionate

e hungry & tired but fetchesthe surgeonto savethelifeof a
youngman

e sacrificeshissafety, getswounded, never robbed adying man
Or

e Cdlstheworld strange, for strangethings happen here—
sometimesmost oppositethingsexist
Dan, anotorious highway man, savesagentleman, putting his
ownlifein danger, henceagentleman.

Objective: Totestlocal and global understanding of the poem.

Marking: 3marks(1each)

(& Thesea

(b) inthestormy night

(c) moon appearsto beswingingfromsidetoside
Or

(@ everything changesitsform but doesnot die

(b) winter

(¢) timewithoutend
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Q. 16.

Q. 17.

Q.18

Q.19

Objective: Totest knowledge of theme as contained in the poem.
Marking: 3marks(Content: 2; Expression : 1)
e wantstoligentotheLordinal waksof lifeandinal circumstances.

e inbusness,inboredom, in certainty, indoubt, innoiseandinslence

Or 3marks
e  Stream,wind clouds, heart
e  Seasons—Autumn, Summer, Winter & Spring

Objective: Totest appreciation of the poem

Marking: 2marks(Content: 1, Expression 1)
e  whenflowssmoothly within the boundsof itsshores 2marks

e nodirinwater, nosoundasif relaxing
Objective: Totest appreciation of the poem

Marking: 2marks(Content: 1, Expression 1)
e cutthebell from thelnchcape Rock
e jealousof theAbbot of Abberbrothok who had placed the bell,
saved the marinerswho blessed the Abbot.
Or 2 marks

e  knocking at thedoor, creating adin

e drivingatthewindows
Objective: Totest knowledge & appreciation of thetext

Marking: 7 marks(Content: 4, Expression 3)
e Anil, awriter, smple, kind hearted person,
e nobleminded & generous, gaveplacetoHari Singh, athief,
e taught himtocook, read & write
e  Hari snghmademoney from purchases, theft of notes(money)
e didnot expose histheft—reformed him by hisloveand sympathy

Or 7 marks

e searchedfor her brother for three daysand nights
e turned over thecorpsesontheroadto seehim
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snubs Joszef for using small boys, callsthesefreedom fighters
worsethan Russans

only concernisto see her brother aivefor which she praysday
andnight

Q.20-23 Objective: Totest knowledge & understanding of thetext

Q. 20.

Q.21

Q.22

Q.23

Marking: 2marks(Content: 1, Expression 1)

posesasthemistress of the house- threatens himto call the
police—Horace unnerved - opensthe safeasdesired by her.

gave him extras—somemalt, cod - liver ail , cream, cakesand
chocolates, abowl of horlicks to makehim deep

did not succeed —went against hishealth
Or

report concerning somenew missiles
for which several peopleriskedtheir lives

Lawyer- working asclerk —serving summonslikeaprivate
detective—going to dirty places-maltreated —not real work of

alawyer

Anil gaveHari singh the notehe had stolen
notewas still wet —did not expose histheft

said they would resumewriting sentences
Or
filledwith the spirit of patriotism

extremely daring (giveexamplesuch asgoing onroller skatesin
the midst of Russianarmy)
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(i)
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forRma &t 98 FHIEAT IS4~ BT
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ST AT % |

9 G & [T G I, T T ST T 97107 BT ST A T 2 |

I | AT GAl o A28 b A, I91 ORT & TR A,
q: =T T 640 |

[ & M

T o e T HROT & & | ST JfagagradT 1 94 ¢ |
AT Gl bl geal ael ATHHIH IH FHARL Io HT q1ed
AN

T AT [qeehefiear X SIRRedhdr & G447 a0enstl &1 &d

fHepTerar € | g8 e T weaht T W O ofie &1 Sacient Sot o 21
TE T TAlqdl 9 9Ig JdT & 3T I8 el el 2 |

AT | AN AR SR &l A9 JNE &, 98 0 ART 3R
faordi aRfRfol w st gTet &2 STl SedT T B |

VHok
AR 1 GO BT el T8 a5 § Hied T 311l &, S Wis

HaXdT T Hifed Bl & |

R STHH QTSii+Teh & | & HIRA bl Qe AR H&pidl § STefereh
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11
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® (0% & I Srufen)
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HTEHT Yehe Bl & | TIPS | T[OT-3TeR[OT 1 TRE bl A & S
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Vikok

GATETE! FHTT, I3 T AT U, TR ST, AT QM BT, Arre
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f'kYiélin;
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MATHEMATICS

Time allowed : 3 hours Maximum Marks: 100

4 N\
GENERAL INSTRUCTIONS:

1. All questionsare compulsory

2. The question paper consists of 25 questions divided into three sections - A, B
and C. Section A contains 7 questions of 2 marks each, Section B is of 12
questions of 3 marks each and Section C is of 6 questions of 5 marks each.

3. Thereisno overall choice. However, an internal choice has been provided in
two questions of two marks each, two questions of three marks each and two
guestions of five marks each.

4. Inquestion on construction, the drawing should be neat and exactly as per the
given measurements.

5. Use of calculators is not permitted. Hower, you may ask for Mathematical
tables.

QUESTION PAPER CODE 30/1/1
SECTION-A

Question numbers1to7 carry 2 markseach.

1. Ifx +kis the GCD of x>—2x - 15 and x* + 27, find the value ofk.

2. Solve forx andy :
x+é=6 3x-§=5
y
OR
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Solve forxandy:

X_+l+y__1:8
2 3

x=1 y+l_g
3 2

Find the sum of first 25 terms of an A.P. whose nth term is 1 —4n.

P and Q are points on sides CA and CB respectively of A ABC, right angled
at C. Prove that

AQ?+BP? = AB? + PQ*
OR

InFig. 1,DE|| AB and FE || DB.

Prove that DC?=CF. AC

Fig. 1

The mean of the following frequency distribution is 62.8. Find the missing
frequency x.

Class 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100 - 120

Frequency 5 8 X 12 7 8

Cards marked with numbers 3,4, 5, ......... , 50 are placed in a box and mixed
thoroughly. One card is drawn at random from the box. Find the probability that
number on the drawn card is

(1) divisibleby 7.

(i) anumber which is a perfect square.
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10.

I1.

12.

13.

A washing machine is available for Rs 13,500 cash or Rs. 6,500 as cash down
payment followed by three monthly instalments of Rs 2,500 each. Find the rate of
interest charged under instalment plan.

SECTION-B
Question numbers8to 19 areof 3 markseach.
Solve the following system of equations graphically.
2x+3y=8;x+4y=9
Simplify :

X y 2xy

X—-Yy X+y Xz—y2

Which term of the A.P. 3, 15,27, 39, ... will be 132 more than its 54th

term ?

In Fig. 2, T Ais a tangent to the circle from a point T and TBC is a secant
to the circle. If AD is the bisector of .~/ CAB, provethat D ADT is isosceles.

f-'\“--.,_ﬂ...-—'/ﬂ

Fig. 2
OR

In A ABC,AD.L BCand AD?>=BD.DC. Prove that £ BAC is a right angle.

Drawa PQR with base QR =6 cm, vertical angle P = 60° and median
through P to the base is of length 4.5 cm.

A toy is in the form of a cone mounted on a hemisphere of common base
radius 7 cm. The total height of the toy is 31 cm. Find the total surface area

22
of the toy. {Use T =7}
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14.

15.

16.

17.

18.

19.

20.

The enrolment of a secondary school in different classes is given below:

Class VI VI VIII IX X

Enrolment | 600 500 400 700 200

Draw a pie chart to represent the above data.

A bag contains 5 red balls and some blue balls. If the probability of drawing a blue
ball from the bag is thrice that of a red ball, find the number of blue balls in the bag.

Prove that

COsA sinA

+ =sin A + cos A
1-tanA 1-cotA

OR

Evaluate without using trigonometric tables

3 cos 55° N 4 (cos 70° -cosec 20°)
7sin 35° 7 (tan 5° - tan 25° - tan 45° - tan 65° - tan 85°)

Show that the points (7, 10), (- 2, 5) and (3, - 4) are the vertices of an isosceles
right triangle.

In what ratio does the line x - y - 2 =0 divides the line segment joining (3, - 1)
and (8,9)?

A man borrows money from a finance company and has to pay it back in two
equal half-yearly instalments of Rs 7,396 each. If the interest is charged by the
finance company at the rate of 15% per annum, compounded semi-annually, find
the principal and the total interest paid.

SECTION-C
Question numbers20to 25 carry 5 markseach.

Ifaline is drawn parallel to one side of a triangle, to intersect the other two sides
in distinct points, prove that the other two sides are divided in the same ratio.
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Using the above, prove the following:

In Fig. 3, DE || BC and BD = CE . Prove that ABC is an isosceles triangle.

Fig.3

21. Prove that the sum of either pair of opposite angles of a cyclic quadrilateral is
180°.
Using the above, find x and y in Fig. 4.

Ve

w/é'

D
Fig. 4
22. The difference of two numbers is 5 and the difference of their reciprocals is % .
Find the numbers.
OR

By increasing the list price of a book by Rs 10 a person can buy 10 less books for
Rs 1,200. Find the original list price of the book.

23. A sphere, of diameter 12 cm, is dropped in a right circular cylindrical vessel, partly
filled with water. If the sphere is completely submerged in water, the water level in

the cylindrical vessel rises by 3% cm. Find the diameter of the cylindrical vessel.

OR
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24.

25.

A solid right circular cone of diameter 14 cm and height 8 cm is melted to form a
hollow sphere. If the external diameter of the sphere is 10 cm, find the internal
diameter of the sphere.

A boy standing on a horizontal plane finds a bird flying at a distance of 100 m from
him at an elevation of 30°. A girl standing on the roof of 20 metre high building,
finds the angle of elevation of the same bird to be 45°. Both the boy and the girl
are on opposite sides of the bird. Find the distance of bird from the girl.

Ms. Shahnaz earns Rs 35,000 per month (excluding HRA). She donates Rs 30,000
to Prime Minister Relief Fund (100% exemption) and Rs 40,000 to a Charitable
Hospital (50% exemption). She contributes Rs 5,000 per month to Provident
Fund and Rs 25,000 per annum towards LIC premium. She purchases NSC
worth Rs 20,000. She pays Rs 2,300 per month towards income tax for 11 month.
Find the amount of income tax she has to pay in 12th month of the year.

Use the following to calculate income tax.

(a) Saving: 100% exemption for
permissible saving upto
Rs. 1,00,000.

(b)  Ratesofincome tax for ladies

Sab Incometax
(1) UptoRs. 1,35,000 No tax
(i) FromRs. 1,35,001 to 10% of taxable Income
Rs. 1,50,000 exceeding Rs. 1,35,000
(i) FromRs. 1,50,001 to Rs. 1,500 +20% of the
Rs. 2,50,000 amount exceeding Rs. 1,50,000
(iv) Rs.2,50,001 and above Rs. 21,500 + 30% of the amount

exceeding Rs. 2,50,000

(¢c)  Education Cess: 2% of income tax payable
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QUESTION PAPER CODE 30/1
SECTION-A

Question numbers1to 7 carry 2markseach.

Findthe LCM of X3 +x*>+x+1and x*—1.
Solve forxandy :
8x — 9y =6xy
10x + 6y = 19xy
OR

Solve forxandy:

4X+X=§
3 3

x 3y 5

2 4 2

In an A.P., the sum of its first n terms is n?> + 2n. Find its 18th term.

In Figure 1, two circles touch each other externally at C. Prove that the common
tangent at C bisects the other two common tangents.

OR

D is any point on the side BC ofa A ABC such that £ ADC =2 BAC.
Prove that CA?=BC.CD.
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Find themean of thefollowing distribution:

Class Frequency
0-10 8

10- 20 12
20-30 10
30-40 u

40 - 50 9

A ceiling fanismarked at Rs 970 cash or for Rs 210 as cash down payment
followed by three equal monthly instalmentsof Rs 260. Find therate of interest
charged under theinstalment plan.

A box contains5 red balls, 4 green ballsand 7 white balls. A ball isdrawn at
random from the box. Find the probability that the ball drawnis

@  white

(b)  neither red nor white.

SECTIONB
Questionsnumber 8to 19 carry 3 markseach.

Solvethefollowing system of linear equationsgraphically:

2x +3y =12
2y—1=X
Smplify:
2
1 4ax X(x+a)
(a+x)y | x*-a

Thefirst term, common difference and last term of an AP, are 12, 6 and 252
respectively. Find thesum of al termsof thisA.P.
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1. Prove that any four vertices of a regular pentagon are cyclic.
OR

BC is a chord of a circle with centre O. A is a point on arc BAC as shown in
Figure 2. Prove that ~ BAC + [0 OBC =90".

A
B C
F iﬂunr 2
12. Draw a circle of radius 4.5 cm. At a point A on it, draw a tangent to the circle
without using the centre.
13. A toy is in the form of a cone mounted on a hemisphere with same radius. The

diameter of the base of the conical portion is 7 cm and the total height of the toy

22
is 14.5 cm. Find the volume of the toy. [Use ™= =1

14, The expenditure on different heads of a household (in hundreds of rupees) is as

follows:
Head Education | Games | Entertainment | Gardening | Decoration
Expenditure 20 10 15 10 17

Draw a pie diagram to represent the above data.

15. All the three face cards of spades are removed from a well-shuffled pack of 52
cards. A card is then drawn at random from the remaining pack. Find the
probability of getting (a) a black face card, (b) a queen, (c) a black card.

16. Prove that

tanA + secA—1 _ 1+sinA
tanA—secA+1 cos A
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17.

18.

19.

20.

21.

OR

Evaluate without using trigonometric tables

(o]

tan 7° - tan 23° - tan 60° - tan 67° - tan 83° + €0

ot 36° +sin 20° - sec 70° —2

Three consecutive vertices of a parallelogram are (-2, -1), (1, 0) and (4, 3). Find

the coordinates of the fourth vertex.

Ifthe point C (—1, 2) divides the line segment AB in the ratio 3 : 4, where the
coordinates of A are (2, 5), find the coordinates of B.

Aloan of Rs. 2550 is to be paid back in two equal half-yearly instalments. How

much is each instalment if interest is compounded half-yearly at 8% per annum?

SECTIONC

Question numbers20to 25 carry 5 markseach.

Prove that the ratio of the areas of two similar triangles is equal to the ratio of the

squares of their corresponding sides.
Use the above for the following:
Ifthe areas of two similar triangles are equal, prove that they are congruent.

If a line touches a circle and from the point of contact a chord is drawn, prove
that the angles which this chord makes with the given line are equal respectively

to the angles formed in the corresponding alternate segments.
Use the above for the following:
In Figure 3, ABCD is a cyclic quadrilateral and PQ is the tangent to the circle at C.

IfBD is the diameter and .~ DCQ = 40°and J ABD = 60°, find (i) [J ADB
(i) O BCP.
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22.

23.

24,

25.

Figure3

Thenumerator of afractionisonelessthanitsdenominator. If threeisadded to
each of the numerator and denominator, thefractionisincreased by 2—?;3 .Find
thefraction.

OR

Thedifference of squaresof two natural numbersis45. The squareof thesmaller
number isfour timesthelarger number. Find the numbers.

A hemispherica bowl of interna diameter 36 cmisfull of someliquid. Thisliquid
istobefilledin cylindrical bottles of radius 3 cm and height 6 cm. Find the
number of bottles needed to empty the bowl.

OR

Water flowsout through acircular pipewhoseinterna radiusis1cm, at therate
of 80 cm/second into an empty cylindrical tank, the radiusof whose baseis40
cm. By how muchwill thelevel of water riseinthetank in half an hour?

A pole5mhighisfixed onthetop of atower. Theangleof eevation of thetop of
the pole observed from apoint A on theground is60° and the angle of depres-
sion of point A from the top of thetower is45°. Find the height of the tower.
(Take /3 =1.732)

Thesalary of Hukam SinghisRs. 42,000 per month (exclusive of HRA). He
donates Rs. 30,000 to Prime Minister’s Relief Fund (100% exemption). He
contributes Rs. 6,500 per month towards Provident Fund and Rs. 5,000 quarterly
towards L1C premium. He a so purchases NSC worth Rs. 10,000. He pays
incometax of Rs. 5,100 per month for 11 months. Calculatetheincometax he
hasto pay inthe 12th month of theyear.
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Use the following to calculate income tax:

(@) Savings

(b)  Rates of Income tax
Slab
() Upto Rs. 1,00,000

(i1) From Rs. 1,00,001 to
Rs. 1,50,000

@)  FromRs. 1,50,001 to
Rs. 2,50,000

(iv) Rs. 2,50,001 and above

(c) Education Cess

100% exemption for permissible
savings upto Rs. 1,00,000

| ncome tax
No tax

10% of the taxable income
exceeding Rs. 1,00,000

Rs. 5,000 + 20% of the amount
exceeding Rs. 1,50,000

Rs. 25,000 + 30% of the. amount
exceeding Rs. 2,50,000

2% of Income tax
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Strictly Confidential : (For Internal and Restricted Use Only)
Secondary School Examination
March — 2007

Marking Scheme — Mathematics (Delhi) 30/1/1

N
General Instructions
1. TheMarking Scheme provides genera guidelinesto reduce subjectivity and maintain
uniformity among large number of examinersinvolved in the marking. The answvers
given in the Marking Scheme are the best suggested answers.
2.  Marking isto be done as per instructions provided in the marking scheme. (It
should not be done according to one's own interpretation or any other consderation.)
Marking Scheme should be strictly adhered to and religioudly followed.
3. Alternative methods are accepted. Proportional marks are to be awarded.
4. If aquestion is attempted twice and the candidate has not crossed any answer,
only first attempt is to be evaluated. Write EXTRA with second attempt.
5. A full scale of marks 0 to 80 has to be used. Please do not hesitate to award
full marksif the answer deservesit.
J
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QUESTION PAPER CODE 30/1/1
EXPECTEDANSWERS/VALUE POINTS

SECTION -A

Forx* -2x-15 =(x—5)(x+3) A
x*+27 =(x+3)(x* ~3x+9) %
s GCD=x+k=x+3 = k=3 1

x+£-ﬁ L’-Jn:+E =18

Y ’ £ 13 2
= = o ow=Y= 14
Ix-S=s -2 y :
¥ ¥
Substituting to get X=3 4
OR
smplifyingtoget  3x 42y =47
|
2x+3y=53
Solvingtoget x=7,y=13 4l
Getting t, =-3and t, =-7 4 Y4
First term (a) =—3, Common difference (d) = —4 Y
25

Sa =?{2 (=3)+ 24 (~4)] "
==1275 4
For Correct Figure W

AQI =-la|.':1 ""CQI
BP? =BC! +PC?

AQ  +BP! =(AC" + BC)+ (CQ* + PCY) 1

-l'ﬂl-B!'FFQI !l"'."ll
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OR

DC CE
DE| | AB :'I{":E ................. i}
CF CE
EF| |BD = DC = e i)
. ... DC CF
(Jand (ii)=> —==—=>DC* = AC-
(ii) AC-DC= C.CF
Classmarks(y) : 10 30 50 70 90 110
Frequency (f) : 5 8 X 12 7 8
Ei ;50 240 S0x 240 630 RA0
Mean = 2640 + 50% _ 678
40+ x

Solving to get x =10

Total number of cards = 48

(i) P{number on card is divisible by 7) = 4_:;.
(7,14, 21, 28, 35, 42, 49)

{ii} P {a number which is a perfisct square) 8.1

4% §
(4,9, 16, 25, 36, 49)

Interest = [(3x 2500+ 6500) - 13500] = Rs 500

Total prinicipal for one month = Rs [ 7000 + 4500 = 2000] - Rs 13500

1 4
13500 % ——x — = 500 =44
100 12 = r=dg%
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27 SECTION -B

8 For comrect tables
" For correct graph of two lines
Forcorrect solutionx=1,y=2
o For XEEN-Y(=y)-2xy
XN =Y
- x? +y1—2x}f= (x=y) _X-y
x -y (x=¥)(x+y) x+y
10 t=3,d=12
ty =3+53%12 = 639
t, =639+132 = 771
= T71=34(n-1).12
= n=5
11, £DAC=2DAB  (ZIVEN) .ooororrrosroscnecesrsrssrenecen (i)
L ACD = £ BAT  (angles in alternate segments) ....... {ii)
ZADT =/ ADB = 2 DAC + £ ACD {Exterior angle Property)

=/ DAB+ZBAT  [Using (i) and (ii))

= £ DAT

= AT =DT or AADT is isosceles
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OR

B Comect figure
ALY = BD-DC = _'E‘D_=E
BD DA
B D
Also £ ADC = # ADB = 9()°
=+ A DAB ~ ADCA
= LB=LDAC, £ C= < DAB
= LB+ LC=£DACH L DAB= 2 BAC =99°
12. For neat and comect construction
13. Height of cone=31-7 = 24cm.
B
2; Slant height{ £ Jof cone =+ 24* + 7° = 25 ¢m,
1]
i TSA=2x(TF +n(7)(25) cm?
= Tr[i4+25]em’ =858 em’
14,  Class : VI VIl VI IX X Total
Enrolmeni : 600 S00 400 700 200 2400
Angle : g0* 75 60° 105 30° I60°
‘,r.“t-g-_ﬁ'} T .
T A0 )
wle) A(3)
i L’l‘n;}
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15.

Let number of blue balls=x

P (blue) = 5_11

5
P - —
(red) 5+
N - A
5+ % S5+ x

= X = number blue balls =15

] .7
LHS = mm.ﬁ +— Sm” A
cosA-sin A sin A—cos A

_cos® A=-sin® A
cos A —sin A

_(eosA-sinA)(cos A +sin A)
{cos A —sin A)

={cos A +3in A)

OR
For  cos55° =cos 00 ~35 | =sin 35°

cos 70" = cos [90 - 20] = sin 20°

i >
tanB5" =cot 5° = ——.
fan 5°
tan 65 = cot 25° = ]
tan 25° 4
san 35 4-5in 20° -— lnﬂ
G e =Em-u = o sin 2
— 7| tan 5% - tan 25° -1. ! ot
! tan 25° tan 5°
_3_4_ 1
7
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17, Let A(7,10), B (~2,5)and C (3, - 4) be the three vertices of the triangle

=  AB=+9" +5° =106

BC = 45 +(-9)° =+/106
AC =4 +14* =4/212
AB=BC = ABC isisosceles triangle

AC' =212, AR’ +BC? =212 = ABC is an isosceles right triangle.

18. Let the given line intersect the line segment joining A{3.~1)
t and B (8, 9)intheratiok : 1 at C (x, v)
fetay)

Bk+3 k-1
Al ) == X Ly =
/ S R YT e
E-Y-Zab
[Ek+3]_[9k—l]_2=0
k+1 k+1
r .
= k=§ i.e theratiois 2:3

19.  LetP,P, be the principal amounts for first, and second instalment respectively

I
?395=pl[1__]i L
200 43

3 i
'E'nd: ?3%=Pj[l+_'—'] = P: =T3'}ﬁ'x[—J
200
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21.

Total Principal = Rs. 13280
Interest paid = Rs.[2x 7396~ 13280]= Rs 1512

SECTION-C
For correct Given, To Prove, Construction and Figure
For comrect Proof

DE| |BC =20 - EE
AR AC

BD=CE = AB=AC
Hence A ABC is 1s0sceles

For correct Given, To Prove, Construction and Figure
For Correct Proof
X+y+5y-x=180 = 6y=180 = y=30

2x+x+2y =180 = 3Ix+60=180 = x=40

Let the smaller number be x, . Larger number = x4 5

Wix+5-X)=x(x+5) = x*=5x-50=0
(X+10)(x=5)=0 = x=-10 or x=35

Numbers are —10.-5 or 5,10

OR
Let original list price of abook be Rs. x
1200 1200 o
N ¥ 410
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1200 [x +10—x]=10x% (x +10)
= x'+10x-1200=0
Solving to get x=30; [x = - 40 rejected)
Original list price = Rs. 30 per book
23, Volume of sphere = Volume of water raised

%n{ﬁ}’ -

4
=
3 32

= r=0%cm, .. DHameter =18 cm

OR

Volume of cone = Volume of hollow sphere
! e mig =4
T8 =g
8.7 =4 |5 -]
98 = 5 -r' =1 =125-98=27

= r=3cm, ]

Dhameter = 6 em

.

24, Correct Figure
In A ABE,

BE
— =sin 30°
AR

=» BE = AB sin 30° =|—gﬂ'— S0 m

= BF=50-20=30m
BF . 1
In ABCF, — =5|ﬂ45q=T
-

X

= =42 (30)=3042 m
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25.  TotalIncome = Rs. [35000x12] = Rs 420000
Deductions, due to donation = Rs. [30000+20000] = Rs. 50,000

Savings = Rs. [60,000+ 25000+ 20000] = Rs. 105000/—
Maximum savings rebate allowed = Rs, 100,000
Taxable Income = Rs, [420000- 50,000~ 100,000

= Rs. 2,70,000

Income tax = Hs. [Elﬁﬂth%u Eﬂ-ﬂﬂﬂ]

=Rs.[21500+6000] = Rs. 27500

Education cess = Rs, 550

Total Income tax to be patd = Rs. 28050
Income tax already paid = Rs, (2300 11) = Rs. 25300
Income tax to be paid in 12th month = Rs, 2750
QUESTION PAPER CODE 30/1

EXPECTED ANSWERS/VALUE POINTS
SECTION-A

AR I=00H 1K ) e, (i)
X-l=x-Dx+ D+ 1) e, {ii)
- LCM of (i) and (ji) is

(1) (x+1) (%=1 or x*-1
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The given equations can be written as

LI P ()
¥ X

17 6
S—— ; = 19 PTTTTTTarr e {ii}

J

Multiplving (i) by 2 and (i) by 3 and adding, we get

.‘;_6:.59:_.}.___2

¥ 3
- ry 3
Substituting f=§m{ELntgct :-:=E

3 2

. -—E.T'I.d ==

R EeYEg
OR

The given equations can be written as
12%+y=§ ..o}
and 2x+3y==10........ {1i)

Multiplying (i) by 3 and subtracting (ii) from (i), we get
Mx=3=x~]
Substituting x =1 in (i), we gety=—4

SLx=ly=—4

by = S = S,= (18 -17°)+2(18-17)

=35+2=37
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Alternatefy

t, =8, =3 t,=5,-5=8-3=5
. a=3,d=2

~t=a+{n-1)d

Y2

Lo, =3+ 17%2=37 %
PE and CE are tangents to the circle from E
. PE=CE e
Similarly, QE = CE
= QE =PE &
Again, CF=LF=FH }
=LF=FH l
. The common tangent at C bisects the other two common langents
OR
Itis given that £ ADC = £ BAC
A In A's ADC and BAC
£ 1= 2 BAC (Given) 1
B B = = £2=212 {Common) i
.. A's are similar
:%%=§% CA® =BC-CD 1+ 14
Class marks (x;): 5 15 25 35 45
Frequencies (f) : 8 12 10 11 9 =¥fi=50 I
fx, @ 40 180 250 385 45 = ¥fx, = 1260 }
ia%—h=l}£ﬂ=252 Y4 14
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6.

Cash price of ceiling fan = Rs 970

Price under instalment plan = Rs {210+ 260 x 3) = Rs 990

.. Interest charged = Rs 20 14
.. Total principal owed for one month = Rs (760 + 500 + 240)
1
= Rz 1500
, ~ 20x100x=12 _
. Rate of interest - 1500 =16% 14
) RGW
Total number of balls inthe bag=5+4+T7=16
. P{white}= 4
A | )] T: 1
. . 4 1
P {neither red nor white) =P (Green) = Eﬂl' 2 |
SECTION-B
Correct tables Yo+ la
Cotrect graph g

1'7‘5 o .
) 2038y=1a Sx=3,y=2is the o "

solution of the system

=4 ]
kL
[I- dax | (x +a)’
fa+xy | (x-a)(x+a)
={x+a}3—4m (x+a)
xra)  (x-a)(x+a) 1
__ (x-a)’ _ x-a
(x—a)(x+a) X4+a 1
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10 a=12,d=6,1. =252

t.=a+(n-1)d

= 252 =12+ (n-1)6 = n=4l

41
58y = & (12+252) = 5412

11. ABCDE is a regular pentagon
i s £BCD= <2 CDE
Join CE, BD. In A's DCB and CDE
B E  CD=CD;CB=DE £BCD= £ CDE
. ADCB = ACDE
< D LL1=£2

= B, C, D and E are concvelic,

OR

1
£ BAC = 3 LZBOC ..scicimmemimsmasasmsassseill)

Also, £ BOC + £ OBC + 2 OCB = 1 80°
As OB=0C=Z0BC=-0CB

o £BOC +2 £0BC - 180°

1
= 5 £BOC=90°-£OBC ...... (i)

From (i) and {ii), £ BAC=90° - £ OBC
o &£ BAC + £ OBC ~ 90°
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12. Correct and neat construction

13. For getting height of cone = 11em

. 2 4,1
Rﬂqwr&dmlumc=in' +§nr h

= %IETIK4;[7+II] cm’
=231 em?
4. Head ¢ Education Games FEnlertainment Gardening Decoration  Total
Excpenditurel : 20 10 15 10 17 72
(T buricirescds
of rupees)
Central angle 100° 50° 750 50° 85 J60°

15, Number of cards left = §2-3 = 49

3
{a) P (Black face card)= 29

3
(b P{aqueen)= a0

23
fc) P {ablack card) = 29
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s A tsec Al tanA+sec A -[sec’ A-tan® A

16. anA-sec A+l tan A-sec A+1
_{tan A +sec A)—(secA +1tan A) (sec A—tan A)
ton A —sec A+l
={tan,ﬂ.+senkj{tanﬂ—5¢¢ﬁ+ﬂ= sin A " 1
tan A —sec A +1 cos A cos A
_ l+sinA ~RHS
cos A
OR
tan §3° = tan (90° - 7"} = cot 7°,tan 67° = cot 239,
cot 54% = cot (90 - 36)° = tan 36°, sec 70" = sec (90 =20)° = cosec 207
. UGiven expression becomes
m?“-mi]“-ﬁ-cnt-ﬁll‘mt‘?"+mnjﬁ +5in 20" - cosec 20° - 2
tan 36°
=y +1+1-2=41
17. Let the coordinates of D be (x, ¥)
o
Diagonals of a parallelogram bisect each other
", Co-ordinates of O (as mid-point of AC)
A{q!fﬁl] H{!;-‘ﬂ} '"{.Ir l‘}
V Co-ordinates of O as mid-point of BD
A =[x_+_' 1}
0.7 c4.3) 22
x+] ¥
Le— =1 ‘:]'.—-:1 =E
3 gy
Coordinates of D are (1, 2)
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18. Let the coordinates of B be (x, v)

C divides AB in the ratio 3 : 4

.. Co-ordinates of C are
Ci-1,2) [J:H-B 3}'*—2{1]
A(2.5) 34 B 7T
. ! X ¥}
.'.EKF%:—I:H:—S
2
M-I:}y:—-:

- Coordinates of B are (-5, -2)

19. Let x be each half-yearly instalment : Half veariy rate of interest = 494
Getting the equation

25 |'15 :
= — 4 | —
2550 = % 26 " ki’.ﬁ]

25 (51
= 2550 =% x

% \26

2550676 _ 252
2551

. Each half yearly instalment = Rs 1352

SECTION-C

20, Carrect Given, To Prove, Construction and Figure
Correct Proof
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AABC ~ APQR

(Given)

A P
/\ /\ -, ar (ABC) = ar (PQR)
L ar(ABC} AB'  BC'  AC?
a" e g R Tar(PQR) PQ7 QRY e

PR’

= AB =P}, BC = QR and AC = PR

S A(ABC) = APQR

21. Correct Given, To Prove, Construction & Figure

Correct Proof
BI} is a diameter = £ DAB = 90°
£ ADB = 180° - (£ DAB + £ ABD)
= 180° — (90° + 60°) = 30°
Also, £ BCD =90¢%, 2 CBD = 40°
= £ BDC = 180% - (90° + 40) = 50°
. £ BCP = £ BDC = 50°
22, Let the denominator of the fraction be x

S s numerator=x — |

. x—1+3_.1.'—1 3

®+3 X —ﬁ

3
=X (X+2)-(x*+2x-3)= 7g (x}(x+3)
=x' +3x-28=10
=x=4 (x=-7rejected)

3
- Fraction = l

OR
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Let x and y be two natural numbers, where x =y
LR ¥ EAS e ()
and ¥y =4x i ()
From (i} and (i}, (x?—4x-45=10)
= (x-9)(x+5)=0
=X =9 [x =— 5 (rejected)]
Ly=3=y=6
. the natural numbers are 9 and 6
2. Volume ofliquidin hemisphericalbowl = > 1 (1) em’
Volume {capacity) of one cylinderical bottle= # ()% x 6 cm®
Let n be the number of bottles required to empty the bowd.

. n-n-{3}=-|5=§1n|:lﬂ}|:lﬂf]flﬂj

2 18=1B«1%
— e —
54

T2

=~ 72 bottles are required to empty the bowl

OR

1
Volume of water flowing through the pipe in 2 an hour

= x (1F = 80 = 1800 cm’
Leth (cm) be the height of water in eylinderical tank of radius 40 cm

. Volume of water in tank = x (40) x h em’

SLon(40)Y wh= g x 80 x 1800

[Eﬂx LEOO
=h=|"

1600 ]nm=9ﬂcm
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24, Correct Figure

for i-'w.nﬂ-.ﬁ“-—-l
¥

e SX=Y
Sm Also, =*3 < tam 60°
X ¥

: 5

' o 2.5

X

4

; =5=(3-Dx

i

W

& e YPumobes :}1=£{€—+|}

- Axw2.732
T2

=683 m

. Height of Tower =683 m

25. Total annual salary = Rs (42000 x 12)= Rs 504000
Donations = Rs 30000

Savings = Rs [6500 x 12 + 5000 = 4 + 10000] = Rs 108000
Maximum permissible savings = Rs 100000

. Taxable income = Rs [S04000 — 30000 - 100000]

= Rs 374000
', Income Tax = Rs (23000 + 124000 = 30%)

= Rs 62200
‘. Income Tax + Education Cess =Rs 63444
Tax already paid = Rs (5100 = 11) = Rs 56100

~. Tax to be paid in last month
=Rs 7344
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Time allowed : 2% hours

SCIENCE AND TECHNOLOGY

Maximum Marks : 60

Ve

GENERAL INSTRUCTIONS:

1.

The question paper comprises of two sections, A and B. You have to attempt both
the sections.

You are advised to attempt all the questions of Section A and Section B separately.
All questions are compul sory.

Thereisno overall choice. However, internal choice has been provided in some
questions. You are to attempt only one option in such questions.

Marks allocated to every question are indicated against it.

Question numbers 1-4 in Section A and 17, 18 in Section B are very short answer
guestions. These are to be answered in one word or one sentence.

Question numbers 5-8 in Section A and 19, 20 in Section B are short answer
guestions. These are to be answered in 30-40 words each.

Question numbers 9-14 in Section A and 21-23 in Section B are al'so short answer
guestions. These are to be answered in 40-50 words each.

Question numbers 15, 16 in Section A and 24 in Section B are long answer
guestions. These are to be answered in 70 words each.

~N

QUESTION PAPER DELHI (CODE NO. 31/1/1)
SECTION - A

Classify thefollowing reactionsinto d ow and fast reaction:

(i) Reaction between an acid and abase.
(i) Rusting of iron.

Givethenamesof thefunctiona groups:

(i) —CHO (i) —C=0

174



10.

12.

What isaGalaxy ?
What isthe S.1. unit of eectric potentia ?

(@ GiveArrheniusdefinition of anacid and abase.

(b) Choosestrong acid and strong basefromthefollowing:
CH,COOH, NH, OH, KOH, HCI.

What isTollen’sreagent ?What would you observe on heating Tollen’ sreagent
withformalininatest tube?

Distinguish between polar and equatoria orbitsfor artificia satdllites. Illustratethe
two orbitson adiagram.

Anélectricironhasaratingof 750W, 220V. Calculate
(i) current passingthroughit, and

(i) itsresstance, wheninuse.

Nametheraw material sthat arerequired for the manufacture of washing sodaby
Solvay Process. Describethechemical reactionsinvolved in the process.

What is*liquor ammonia ?Describewith adiagram, ‘ Fountain Experiment’ to
demonstrate thefollowing propertiesof ammonia:

() highsolubility inwater.
(i) itsakainenature.

Givereasonsfor thefollowing:

(i) A peculiar smell isobservenear the preserved specimensin biology
|aboratory.

(i)  Methana undergoesaddition reactionwith hydrogen cyanide.

(i)  Propanone canbeused asanail polish remover.
A concavelenshasfocal length of 20 cm. At what distancefromthelensa5cm

tall object beplaced sothat it formsanimageat 15 cmfromthelens?Also calculate
thesizeof theimageformed.
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13.

14.

15.

16.

(@ Why isthe Solar Cooker box covered with aplaneglassplate?

(b) Whyisenergy of water flowinginariver considered to beanindirect form

of solar energy ?

() Howisthefission of g’ U nucleus brought about ?

(@ Whatismeant by ‘Electric Resistance’ of aconductor ?

(b) Awireof lengthL andresistance R isstretched so that itslength isdoubled
and theareaof cross-sectionishaved. How will its:

(i) resstancechange?

(i) resdivity change?

(@ Nameonemainoreof Aluminium. Writeitsformula. Whichtwo main
impuritiesare associated with thisore ?

(b) Describewith chemical equationsthe method employed for the enrichment
of theabove named ore.

OR

(@ Whyissulphuricacidcalled*King of Chemicals ?

(b) Describethethreechemical reactionsthat take place during the conversion
of sulphur dioxideto sulphuric acidin the‘ Contact Process .

() Why should water be never added dropwiseto concentrated sulphuric acid ?

Definetheterm, ‘ Critical Angle’. What ismeant by ‘ Total Internal Reflection’ ?
Statetwo essential conditionsfor total internal reflection to take place. Withthe
help of aray diagram, illustrate an application of total internal reflection.

OR

(@ Whaismeantbya'magneticfidd' ?
(b) Howisthedirectionof magneticfield at apoint determined ?

() Describeanactivity todemongtratethedirection of themagneticfield
generated around acurrent carrying conductor.

(d) Whatisthedirection of magneticfield at the centre of acurrent carrying
circularloop?
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17.

18.

19.

20.

21.

22.

23.

24,

SECTION-B

Nametheterm for transport of food from leavesto other parts of the plant.

What isaneuron ?

Describe the mechanism of blood clotting.
OR

State thetwo vital functionsof the human kidney. Namethe procedureusedinthe
working of artificid kidney.

Namethetwo hormones secreted by pancreas. Write onefunction of each hormone
named.

(@ Whatisfertilization ? Distinguish between externd fertilization and interna
fertilization.
(b) Whatisthedteof fertilizationinthehumanbeings?

Definetheterms:
() Anadogousorgans
(i) Vedtigid organ

(i)  Sex chromosome

(@ Whatis'Environmenta Pollution’ ?
(b) Digtinguish between biodegradable and non-biodegradabl e pollutants.

() Choosethebiodegradable pollutantsfromthelist givenbelow :
Sewage, DDT, radioactivewaste, agricultural waste.

OR
Suggest three waysto maintain abal ance between environment and devel opment

tosurvive.

(@ Drawadiagramof a‘PalisadeCell’.
(b) Labd vacuole, chloroplagt, cell wall and cytoplasm on thediagram drawn.
() Namethetwo stagesin photosynthesis.
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10.

QUESTION PAPER OUTSIDE (CODE NO. 31/1)

SECTION -A

What istheroleof acatalystinachemica reaction ?
Which classof compoundsgivesapositive Fehling'stest ?
Approximately how many starsarethereinthe Milky Way ?

What ismeant by the statement, “ Potential difference between pointsAandB in
andectricfiddis1volt.” ?

SatetheLaw of Chemical Equilibrium’. Writean expression for theequilibrium
constant (K) for thereaction,

N, (@) +3H, (@) == 2NH, (g) + 92kJ

Nametheorganic acid present in vinegar. Writeachemica equationwhich represents
thecommercia method for the preparation of thisacid from methanol.

Digtinguish between* Artificia’ and‘Naturd’ satdllites. Why areartificial satellites
caled“EyesintheSky” ?

Anélectriclampismarked 100W, 220 V. Itisused for 5 hoursdaily. Calculate
() itsresstancewhileglowing.

(i)  energy consumed in kWh per day.

(@ Writethechemica nameandformulaof bleaching powder.
(b) Why doesbleaching powder smell of chlorinewhen exposedtoair ?

() Writechemica eguation to represent the action of dilute hydrochloric acid
on bleaching powder.

What ismeant by ‘ Dehydrating Agent’ ? Describewith achemical equation, an
activity to show that concentrated sul phuric acid isastrong dehydrating agent.

Givereasonsfor thefollowing :

()  Oxidationof ethanol with CrO, producesethana whileethanol when oxidised
with akaline KMnO, producesethanoic acid.
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12.

13.

14.

15.

16.

(i)

Propanoneformsaddition product with HCN.

(iiiy  Alcohol suppliedfor industria purposesismixed with copper sulphate. 3

Anobject 50 cmtall isplaced onthe principal axisof aconvex lens. Its 20 cmtall
imageisformed on the screen placed at adistance of 10 cmfromthelens. Calculate

thefocal length of thelens. 3
(@ Sateonelimitationof solar energy availablefromsolar cells.
(b) Whatistheminimumwind velocity required to obtain useful energy witha
windmill ?
() Definetheterm‘Nuclear Fisson'. 3
@ StateOhm’sLaw.
(b) Draw aschematic diagram of thecircuit for studying Ohm'sLaw. 3
(@ Namethechief oreof iron. Writeitsformula.
(b) Howisanironoreconcentrated ? Describeit briefly.
(c) Draw alabdleddiagram of theblast furnaceusedintheextraction of ironfrom
itsconcentrated ore.
OR
(@ Draw alabelleddiagram of ‘ Frasch Process used for extracting sulphur.
(b) Satetheprincipleinvolvedintheextraction of sulphur directly out of the

ground. 5

A 14-year old student isnot ableto see clearly the questionswritten on the blackboard
placed at adistance of 5mfromhim.

@
()
©

@
(b)
(©
()

Namethedefect of vison heissuffering from.
Withthehelp of |abelled ray diagrams show how thisdefect can be corrected.
Namethetype of lensused to correct thisdefect.

OR

What isan electromagnet ?

Listany of itstwo uses.

Draw alabelled diagram to show how an el ectromagnet is made.

What isthe purpose of the soft iron core used in making an el ectromagnet? 5
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17.

18.

19.

20.

21.

22.

23.

24,

SECTIONB

Namethe excretory unit of akidney.
What are phytohormones ?

Point out two differences between an artery and avein.
OR

What is* osmoregulation’ ? How doesit take placein humans?
Explain‘reflex action’ withasuitableexample.
Explaindoublefertilizationin plants.

(@ Whatisagene?
(b) Wherearegeneslocated?
() Whatisthenatureof gene?

OR

Define' Evolution’. Describe Darwin’stheory of evolution.

What is* Soil Erosion’ ?Mentionitsany two effects. Suggest two waysby which

s0il erosion can be checked.

(@ Draw adiagram of human'*Alimentary Cand’.

(b) Labd thefollowing onthediagram drawn:
Oesophagus, Liver, Gall bladder, Duodenum

() Whatisthefunctionof liver inthe human body ?
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10.

12.

QUESTION PAPER [CODE NO. 31(B)]
(FOR BLIND CANDIDATES)
SECTION - A

Write chemica nameof washing soda.
What kind of wavesarelight waves?

Theimage of an object asseeninaconcavemirror isvirtual, erect and larger in
sizethanthe object. What isthe position of the object ?

Namean oxide of anon-metal whichisneutra towardslitmus.
How issted different fromiron ? Mention two most important propertiesof stedl.

What iswind energy ?Writetwo advantagesof using thisenergy inthe generation
of eectricity.

What isanuclear fusion reaction ? Write acondition under which anuclear fusion
reaction takes place.

What isbronze ? Writeitstwo uses. Name aconstituent whichiscommon in brass
and bronze.

Writefour reasonsfor counting sul phur amongst the non-metals. What areitstwo
dlotropicforms?

Write four characteristic features of achemical equilibrium. Inwhat way isa
dynamicequilibrium different from agtatic equilibrium ?

List four defectsof vison. What isthe cause of thedefect in which aperson cannot
seetheprinted wordsof abook clearly ?Namethetype of lensused to correct this
defect.

Two lamps, onerated 200 W; 220V and the other 100 W; 220V are connected
inparallel toa220V supply. Calculate the current drawn from the supply line
when (a) 100 W lampislit alone, (b) 200 W lampislit alone and (c) both lamps
arelittogether.
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13.

14.

15.

16.

17.

18.

19.

20.

Namethe productsformed inthefollowing reactions:

(@ Ethanolisburntinair.

(b) Propanoneistreated with sodium borohydride (NaBH,).

(c) Ethanal istreated with chromicanhydride. 3

Definepolar and equatoria orbitsfor artificial satellites. Which orbitissuitablefor
(i) geostationary satellites, (i) asatellite used for remotesensing ? 3

What ismeant by dispersion of light ? Stateits cause. Describean activity to show
that thelight of the sun gets split up into the seven colours of arainbow by aprism.
Writethe colour sequence obtained on the screen.

OR

What aremagnetic field lines?How isthedirection of amagneticfield at apoint
determined ? Writetwo propertiesof magnetic field lines. What happenswhena
current carrying conductor is placed inamagnetic field which isperpendicul ar to
it ?Statetheruletoillustrate the effect produced. 5

What ismeant by metallurgy ?List variousstepsinvolved in metallurgical processes.
Describethe processof concentrating asulphideore.

OR

How isethanoic acid prepared commercially from methanol ? Stateitsfour
properties. Name the main products formed when ethanoic acid reactswith
(@ sodium.

(b) ethanol inthe presenceof conc. H,SO,. 5
SECTION B

Define* parasiticmodeof nutrition’. 1

Nameany two factorswhich affect photosynthes's. 1

How doesair reach every cell of aninsect ?
OR
Definerespiration. Stateitstwo types. 2

What ismeant by transl ocation with respect to transport in plants ?Why isit
essential for plants? 2
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21.

22.

23.

24,

What isautonomic nervous system ? What isitsfunction ? Name itstwo
condtituent systems.

OR

What are endocrine glands ? Why arethey called ductlessglands ? Name any
threeendocrineglands.

Namethe biological processwhichisessentia for the perpetuation of species.
Defineit. What arethetwo typesof thisprocess? Out of thetwo typeswhich
oneissuperior and why ?

Why isdisposal of waste essential ? List any four modes of disposal of waste.

What ismeant by organic evolution? Describein brief any four common features
of different kindsof organismswhich provideevidencesinfavour of evolution.
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MARKING SCHEME

General Instructions

1

TheMarking Scheme providesgenera guidelineto reducesubjectivity inthemarking. The
answersgivenintheMarking Schemeare suggested answers. The content isthusindicative.
If astudent hasgiven any other answer, which isdifferent from theonegiven in
the Marking Scheme, but conveys the same meaning, such answers should be
given full weightage.

Evauationisto bedoneasper instructionsprovided inthe Marking Scheme. It should not
be done according to one'sown interpretation or any other consideration. Marking Scheme
should bestrictly adhered to and religioudly followed.

If aquestion has parts, please award marksin theright hand sidefor each part. Marks
awarded for different parts of the question should then betotalled up and written in the left
hand margin.

If aquestion doesnot have any parts, marks be awarded in theleft hand margin.

If acandidate has attempted an extraquestion, marks obtained in the question attempted
first should be retained and the other answer should be scored out.

Wherever only two/three of a'given' number of exampl es/factors/points/are expected only
thefirst two/three or expected number should beread. Therest areirrelevant and should
not be examined.

There should be no effort at 'moderation’ of the marks by the evaluating teachers. The
actual total marks obtained by the candidate may be of no concern of the evaluators.

Y2mark may be deducted if acandidate either doesnot write unitsor writeswrong unitsin
anumerica.

A full scaleof mark 0to 60isto beused. Pleasedo not hesitateto award full marksif the
answer deservesit.
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QUESTION PAPER DELHI (Code No. 31/1/1)
SECTION - A

i) Fastreaction

i)  Slowreaction

i) Aldehydic

i)  Ketonic

System of starsthat containslarge number of gasclouds.

volt

Anacid producesH*/ Hydrogenionsin water.

A base produces OH-/ Hydroxide/Hydroxyl ionsin water.
Strong acid : HCl

Strong base : KOH

Ammoniacal silver nitratesolution/ [Ag (NH,),] NO,

A shining silver mirror isformed along thesidesof thetest tube.

Polar orbitisthe orbit, of satellite, that passesover the polesof the earth,
wheress.

Equatoria orbit istheorbit of satellite, that isparallel to theequator.

Folar aria

Exjisatorial il

o (Diagram)
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10.

Marks Totd

) 1=+ Y
750

= = 3.4 amperes Yo
220V

(i) R=-- s
_ 220V _

= 34A = 64.5 ohms 1
V2

dternately, R= N Y

_ (220V x 220V) _
R = eow - 64.5 ohms L)
Raw materids : Sodium chloride, Ammonia, Limestone. 1

Process: Ammoniacal brinetricklesdown thetower and reacts with upcoming
CO, toform sodium hydrogen carbonate. On heating, sodium hydrogen carbonate
givessodium carbonate. Itisthen crystallised by dissolving inwater to get washing
soda.

[Theanswer may be accepted in theform of equationsalso.]
NaCl + NH, + H,0 + CO, — NH,Cl + NaHCO,
2 NaHCO, —%2 ,Na, CO, + H,0 + CO,
Na,CO, + 10 H,0 ——» Na, CO, . 10 H,0. 2

A saturated solution of ammoniainwater isknown asliquor ammonia 1

Activity : Fountain experiment : Takearound-bottom flask andfill it withammonia

gas. Fit anarrow tube having ajet at thetop initsneck. Then, invert it over a

besker containing asol ution of water and red litmus, asshowninFig. Placeasmall

pieceof cloth dipped inice-cold water. A bluefountainiscreated. Theturning of

red litmusto blue solution showsthat ammoniaisakalinein nature. 1

186



Marks Totd

Cloth dipped s
aald wanel
Dy Ammonis

e [y fliiske
Waber co@iliTInE
red [rmmask
Labdlled Diagram 1 3
11. () Itisduetoformdin. 1
(i) Becauseof the presence of doublebondin C= O group. 1
(i) Propanoneisasolvent. 1 3
12 11 1 A
) f \ u
211
u v f
_ 1 1
~ —15cm  —20cm
L L
u - e0cm  60cm
. u=-60cm 1
hi v
T &
1 (-=15cm)
wh=—Xxh=—x((5bcm)=125cm 1
u (—60cm)
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13.

14.

15.

0]

For retention/ trapping of heat

Solar energy (hest of sun) causesevaporation of water forming clouds.
During rain and snowfa| thiswater fillsup streamsandrivers/ Energy

of thesunisresponsiblefor theentirewater cyclein nature.

By bombarding 235U nucleuswith athermal neutron/low energy
projectile.

Property whichresiststheflow of e ectronsin aconductor / Property

of aconductor by virtue of whichit affectstheflow of current.

a Resstancebecomesfour times.
b) Reddivity remainsunchanged.

Mainore: Bauxite
Formula: Al,O,.2H.,0
Impurities: Sand and Iron oxide

Finely powdered oreistreated with hot sodium hydroxide solution.
Al, O, +2NaOH —— 2NaAlO, + H,0
InsolubleFe, O, isseparated by filtration.
Silicareactswith NaOH to form water solublesodium silicate.
Thefiltrate isthen stirred with @ uminium hydroxideto induce
precipitation of Al (OH),.
NaAlO, + 2H,0 —» Al (OH), + NaOH
Al (OH),isthenfiltered off, washed, dried and ignited.
2Al (OH), —22' 4 Al O, +3H,0
(Description : 2marks, Equations: 1 mark)
OR

Becauseitisusedinthemanufacture of fertilizers, paints, pigments,
synthetic fibres, soapsand detergents. (any two)

a  Sulphur-di-oxideismixedwith air and passed over catalyst vV, O,

and heated to 723 K to form SO,.
b) SO, isdissolvedinconc. H, SO, toformoleum, H, S, O..

c¢) Oleumisthendiluted withwater to get sulphuric acid of desired

srength.
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16.

Marks Totd

Note: Theanswer may beaccepted intheform of equationsalso:

i

)

723K
a8 230,+0, —> 280,
V20s
b) SO,+conc.H,SO, —H, S, 0,
¢ H,S,0,+H,0—— 2H,SO,. 1x3

On adding water to conc. H, SO, alargeamount of heat isevolved
which could throw out drops of acid and burn the observer. 1

Critical angle- Theangleof incidenceinthedenser mediumfor which
the corresponding angle of refractionintherarer mediumis90°. 1

Tota internal reflection - Whenaray of light isincident froman opticaly

denser mediumto an opticaly rarer medium such that theangleof incidence
exceedsthecritical angle, for thegiven pair of media, thenal thelight

isreflected back into the denser medium. Thisphenomenoniscalledtota

internal reflection. 1

Essentiad conditions-

a) Lightpassesfroman optically denser to anoptically rarer medium. Yo
b) Angleof incidence exceedsthecritical anglefor that set of media. Yo
Application of total internd reflection -

Fig. 3.9 Page 39/ Fig. 3.12 Page 40/ Fig. 3.13 Page 40 of NCERT
Text book or any other suitablediagram/any other usefromdaily life

.?:'I
o -
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17.
18.

19.

b)

OR

Magnetic fieldistheregion in which magnetic force can be detected.
By thedirectionwhich anorth pole placed at that point would take

Activity : Makeasmpledectrica circuit consisting of along straight wire,
abattery and aplug key. Arrangethecircuit so that the straight wireisplaced
parallel to and over the compass needle. Now, switch onthecircuit. Asthe
current passesthrough thewire, the needle gets deflected. If the current
flowsfrom north to south, it isobserved that the north pole of the needle
movestowardstheeast. If thecurrent isreversed and it flowsfrom south to
north, the needlewould movein theoppositedirection.

Perpendicular to the plane of theloop/ direction of current

e

'\-\_\__‘_
magneiic
fiekd

SECTION-B

Trandocation

Neuron :- Specidised cdllsfor responding to stimuli. / Structural and functional

unit of nervoussystem.

i)  Asblood flowsout of adamaged blood vessel, blood platel etsrel ease
Thromboplagtin.

i) Prothrombin getsconvertedintothr ombin in the presence of
thromboplagtin.

i) Thormbin catalysestheconversion of fibrinogenintofibrin.

iv)  Fibrinformsameshintowhich R.B.C. get entangled and form ablood

clot.
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20.

21.

22.

Alternately

i) Injuredtissues+ blood platelets — Thromboplastin.

i) Prothrombin —110MBORIASHN_ o bin

ii)  Fibrinogen— ™", Fibyin

iv)  Fibrin+R.B.C. ——Bloodclot.

OR

)  Twofunctionsof kidney :

a) Osmoreguldtion
b) Excretion

i)  Didyds

Two hormones:-

i) Insulin: Lowering of blood glucose.

if)  Glucagon: Increasing of blood glucose

) @& Fertilization: Theprocessof fusion of maleand female gametes.
b) External fertilization Internal fertilization

Fertilization takesplace Fertilization takesplace
outsidethebody of the insidethe body of the
organiam organism

i)  Fallopiantube/ oviduct

i) Anaogousorgans: Organswhicharestructually different but perform
thesamefunction.

i) Vedtigid organ : Organswhich appear functionlessinan organism but
can be shown to be homol ogouswith organsthat werefunctional intheir
ancestors.

i) Sex chromosome : Chromosomeswhich are associated with sex

determination.
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23.

24,

b)

i

)

Marks Totd

Environmental pollution : Undesirablechangein physical, chemica and

biological characteristicsof our land, air and water. 1
Biodegradablepollutants Non biodegr adable pollutants
These pollutantscan be These can not be broken
broken down by the activity downinto smpler and harmless
of micro-organism. products.
These pollutantsdo not cause They may enter into thefood chain
harmtotheorganisms. and harm the organisms.
or any other

(any one) 1

Biodegradable pollutants

a Sewage. A

b) Agriculturd waste. Yo
OR

More plantsto be planted.

Green grassy patches haveto beinterspersed between concrete buildings.
Environment friendly technol ogiesshould be adopted.

Recycling of waste materia sshould be maximised.

Efficient useof resources.

or any other (anythree) 3x1

Diagramof Palisade Cdll :
Fig 9.2 (b) page 121 NCERT Textbook

2
Four Labellings:- Vacuole, chloroplast, cell wall, cytoplasm 4xY5
Two stagesin photosynthesis:-
a) Lightreaction
b) Darkreaction 2XY4
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QUESTION PAPER OUTSIDE (Code No. 31/1)

SECTION - A
Marks Total
A catalys alterstherate of achemical reactionwithout undergoing any overal 1 1
chemicd changeinitsef.
Aldehydes 1 1
Hundred thousand million/ 100 billion/ 10 1 1
1jouleof work isdonein moving achargeof 1 coulombfromAtoB 1 1
() Foragenera reactionaA +bB = cC+dD,
c d
at equilibrium, €] a[D]b iscongtant.
[A]"[B]
OR
For areversiblereaction at equilibrium, theratio of molar concentration of
productsto the molar concentration of reactantsisaconstant. 1
) [NHJ*
i)y Ke——= 1 2
O K= TN
Ethanoic acid or acetic acid 1
|, —Rh 1 5
CH,OH + CO ——— CH, COOH
a) Artificial sateliteisaman made object revolving around aplanet,
wheress,
Natural satelliteisaheavenly object moving around aplanet. 1
b) Duetotheir ability to observethingsfrom abovethe earth. 1 2
) P=VI
| =P _100W_ 5 , "
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10.

.oV
..R_P

100w
i) P=100W; t=5hours
E=Pxt

=100 W x 5 hours =500 Wh = 0.5 kWh

Note: (*2mark to beawarded if only formulaiswritten)

(@ Caciumoxychloride, CaOCl,

b) Itlosesitschiorineby theaction of aimospheric CO,/ Chlorineis
released by the action of atmospheric CO,,

¢ CaOCl,+2HCl — CaCl,+H,0+Cl,

A substancethat can removewater or € ementsof water from other substances.

Oneof thefollowing two activities:

Place some sugar (sucrose) in atest tube. Add afew drops of conc. H,SO, toit.
Record the observations. It will be observed that sugar turnsblack. Sugar ismade
of carbon, hydrogen and oxygen. Theacid removes hydrogen and oxygen aswater
leaving behind ablack massof carbon.

conc.H,SO, 12 C(s) + 11 H,O(¢)
(Carbon black)

C,H 22011(8)

Sugar (sucrose)

(220V X 220V) _ por 0

Activity
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12.

13.

Activity
Placeafew crystalsof hydrated copper(l1) sulphatein atest tube. Notedown the
colour of hydrated copper(I1) sulphate. Add afew drops of conc. H,SO, to it.
Record the observations. Note any changein the colour of thecrystals. It will be
observed that the crystal sof hydrated copper(l1) sulphate dowly turnwhite. This
isdueto theremoval of water of crystallization from the crystals of copper(l)

sulphate by theacid. Theanhydroussaltiswhitein colour.
Conc.H,SO,

CuSO,. 5H, 0(s) ——— CuSO,(s)
(-5H,0)

Corresponding Equation
() AlkdineKMnO, isastronger oxidising agent than CrQO,,
(i) Because of the presence of adoublebondin C=0/HCN addsto

C=0.

(i) Topreventitsmisusefor drinking purposes.

v

3
1
=|=
ey

c

=V
_hi X h,

_+10cm

—WXSOcm

u=-25cm

—
.
f

a) Lowefficiency / Cannot be stored/ or any other suitablereason
b) About 15km/h

c)  Splitting up of an unstable nucleusintolighter nucle withliberation of
tremendousamount of energy when hit with aprojectile
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Marks Total
14.  Ohm'slaw : Thecurrent passing through awireisdirectly proportional tothe

potentia differenceacrossitsends.
(Note: If writesvoltage/current = constt., award ¥2mark) 1

b) Fig5.5page57 of NCERT Textbook

i

Placement of circuit e ements- 1

Direction of currentincircuit - 1 3
15. a Haemndite Yo
Fe,O,/Fe,O,.2H, 0 1

b) Theoreistreated with astream of water to remove unwanted particles.
[Note: award ¥2mark if only 'Hydraulic washing' ismentioned.] 1

c) Figl4.6page—174. NCERT Textbook (Blast Furnace)

Wi
K I ||-\.-n.|,

II 1 s
|-"'||:||-| f air
_.-' indectid o P by,
| \

/“" 4
[0
. 4L|',.rﬂﬂﬂ | .

% | ar

Diagram 1
Anyfourlabdlings ¥4 5

il
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16.

OR Marks Total

ad Figl14.12p- 183 NCERT Textbook (Frasch Process)

—% @08 050 gt et g
— L T T T L T LT

o -
Huoi waler = o
mielia = [ .
aulphur r
! L .
r 1 -
i ) Diagram 1
Comprens] agr
farces molten P9
wul ta Sulpir i 1
et g b = Anyfourlabdlings Y24

b)  Principleof extraction of sulphur :

i)  Duetoitslow meting point, sulphur getsmelted when
superheated water flowsdown into the sul phur beds.

i)  Thecompressed air forcesthe mixture of molten sulphur and
water up tothe surface. 2 5

a Myopa 1
b) Fig4.2(a) & (b) page48of NCERT Textbook

@ (b)
Diagram (a) 1
Diagram (b) 2
c) Concavelens/diverginglens 1 5
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17

18

19

Marks Total
OR

a) A deviceconssting of asolenoid with apiece of softiron core placed
ingdeit, iscalled an electromagnet. 1

b)  Anytwoof thefollowing:

Used inmicrophones/ loudspeskers/ e ectric clock / ammeter /
speedometer / eectricbell / used for lifting heavy loads of stedl. 1

() Fig6.7 page 73 of NCERT Textbook

—l
d) Onlywhentemporary magnetismisrequired. 1 5

Section - B
Nephron. 1 1

Phytohormonesare plant hormones. / Chemicals present in the plant body

which control and co-ordinate response. 1 1
Artery Vein

1. Thickwdled 1. Thinwdled
2. Doesnot havevave. 2. Hasvave
3. Carriesblood from heart 3. Carriesblood fromdifferent

todifferent organs. organsto the heart.
4.  Transportsoxygenated blood 4. Transportsdeoxygenated blood

(except pulmonary artery) (except pulmonary vein)

(any two) 2 2
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20.

21

22

OR
a  Osmoregulationisthe processof regulating water content andion
concentrationin the body. 1
b) Thekidneysremovetoxic waste and aso control water balanceandions
inthebody. / In humans, the excretory system isableto reabsorb water.
Such reabsorption or removal of excessivewater isunder hormonal control. 1 2
a)  Areflexactionisan unconsciousandinvoluntary responseof effectorstoa
gimulus. 1
b) Example: Wesuddenly withdraw our hands on pricking apin or any other
example. 1 2
Doublefertilization::
i)  Thepollentubeentersthe ovulethrough asmall opening.
i) Insdetheovulethepollentubere easestwo malegametintothe
embryosac.
i)  Theembryosac containstheegg.
iv)  Onemaegamet fuseswiththeeggtofromzygote. (syngamy)
v)  Theother malegamet fuseswiththetwo polar nuclei. Thisiscalledtriple
fuson.
vi)  Thismechanismof twofusionsi.e. syngamy andtriplefusoniscaled double
fertilization. 6xY2 3
a)  Geneistheunit of inheritanceof characters Geneisasmadl segment of DNA
on achromosome occupying specific position/ Geneisthe unit of aspecific
biologica function/ Geneisahereditary determinant. 1
b) Genesarelocated onthe chromosome. 1
c) Thenatureof geneissuchthat it can maintain constancy through generations./
Acidicinnature 1 3

Marks Totd
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23.

24

b)

b)

OR

Evolutionisthegradua unfolding of organismfromthe pre-existing

organismsthrough the changes since the starting of life.

Darwin'stheory of Evolution :-

(i) Over production of off springs.
(i) Strugglefor existence.

(i) Surviva of thefittest.

(iv) Natura selection.

Soil erosionisthelossof upper fertilelayer of soil.

Effectsof soil erosion:
() Fertility of soil islogt.
(i) May causefloods.
(i) Airpollution
or any other. (any two)

Prevention of soil erosion:

() Pantingtreesand sowing grasses.

(i) Intensivecropping and useof proper drainage canal.

(i) Terracingondopingfields.
or any other. (any two)

Fig 9.9 page 125 of NCERT Textbook
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b) 4Labels:- Oesophagus
Liver
Gall Bladder
Duodenum 4xYs
c) Liversecreteshilejuice 1 5

QUESTION PAPER (Code No. 31/B)
(FOR BLIND CANDIDATES)

SECTION - A
Sodium carbonate decahydrate/ sodium carbonate/ Na,CO,.10H,0 1 1
Electromagnetic waves Transversewaves 1 1
Between poleand focusof themirror / within thefocal length 1 1
Carbon monoxide/ Nitrousoxide/ water 1 1
Sted isandloy whileironisan element. 1
) Itishard
i)  Itisstrong
i)  Non-magnetic
iv)  Doesnot corrode or any other (any two)  2x%2 2
Wind energy isenergy possessed by movingair. 1
) Renewable source
i)  Environmentfriendly or any other (anytwo) %, Y% 2

Nuclear fusion - the processin which nuclel of low atomic masscombineto

form aheavier atomic nucleus. 1
Condition:-

By accderating lighter nuclel / hightemperatureto the order of 1 millionkelvin 1 2
Bronzeisanaloy of copper andtin. Yo

Uses: statues, coins, medals, ship propdllers. (anytwo) Y, %
Copper ispresent in both. Yo 2
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10.

11.

12.

13.

Sulphur isneither malleablenor ductile.

Itisapoor conductor of electricity and heat.

Itiselectronegative.
Itformsacidic oxides.

It does not displace hydrogen from water or dilute acids.
or any other (any 4)

Rhombic sul phur, monodlinic sulphur

Four characteristic features:

) The observable propertiesare constant.

i)  Themicroscopic processesstill continue.

i)  Theequilibrium can beattained from either direction.
Iv)  Equilibrium can beachieved only inaclosed container.

Indynamic equilibrium, the opposite changes continueto occur whilein static

equilibrium, the changescometo astop.

a)

Sl=
Vi v

)  Myopia

i) Hypermetropia

i) Presbyopia

iv) Adigmatism
Hypermetropia/ longsightedness

Convex/ converging lens
P

| _loow

1= 220_\/ =045A

- 200 W
2 220V

=0.90A

| =1+1,=135A
Carbon-di-oxide (CO,) and water
propan-2-ol. CH._- CIH - CH,

OH
Ethanal / CH, CHO/ Acetaldehyde
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14.

15.

16.

Marks Totd

Polar orbit: orbit of the satellite passing over the polesof the earth 1
Equatoria orhbit: orbit of the satellite pardlel to the equator 1

) Equatoria orbit issuitablefor geostationary satellite. Y%

i)  Polarorbitissuitablefor remotesensing. Y% 3
Dispersion: Thesplitting of whitelight intoitscomponent colours 1

Cause

Refraction of light of different coloursisdifferent. Light raysof different colourstravel
with different speedinarefractivemedium. Refractiveindex of amediumisdifferent
for different colours. 1

Activity
Takeaglassprism and alow anarrow beam of bright light (sunlight, torchlight) to

fall ononeof itsfaces. Light, after passing through the prism, emerges out of the
other face on anearby screen or awall. Itisobserved that theincident light issplit

by the prisminto colour bands appearing on the screen/wall. 2

Colour sequence:

VIBGY OR /violet, indigo, blue, green, yellow, orange and red 1 5
OR

) Magneticfield lines: Path along which afreenorth poletendsto move. 1

i)  Bythedirectionwhichanorth pole placed at that point would take.

i)  Properties: - Any TWO of thefollowing 1

- Magneticfield linesdo not intersect.

- Originate from north pole of amagnet and end at its south pole.

- Degree of closenessof thefidd linesgivesthereative strength of the

magneticfield. 12, Y2

iv)  Itwill experienceaforce. 1
v)  Heming'slefthandrule:-

Stretch theforefinger, the central finger and the thumb of your left hand

mutually perpendicular to each other. It theforefinger showsthedirection

of thefield and the centra finger that of the current, then the thumb will point
towardsthedirection of motion of the conductor. 1 5

Theextraction of metalsfromtheir ores, isknown asmetallurgy. 1

StepsinMetalurgical Processes:

i) Enrichment of theore
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Marks Total
i)  Conversonof oreinto metal oxide.

i)  Reductionof metal oxide
iv)  Refining AXY>

Sulphide ores are concentrated by aprocess called ‘ Froth Floatation Process .
inthisprocess, findy powdered oreismixed with weater inalargetank and somepine
oil isaddedtoit. When air isblown through thismixture, thelighter il froth carrying

17.

18.

19.

metal sulphidesrisesto the surface. The gangue particlessink to the bottom. 2 5
OR

CH,0H +co =", cH, coon 1

Four properties.

a)  Colourless,

b)  Pungentsmel

c) Bailingpoint 391K

d  Misciblewithwater AXY>

Main products:

a  Sodiumethanoate/ CH,COO Na 1

b)  Ethyl ethanoate/ CH, COO C,H, 1 5

Section - B

Parasitic mode of nutrition: Mode of obtaining food synthesi sed by others. 1

Factorsaffecting photosynthesis

) Light

i)  Temperature

i)  Water

iv)  Carbon-dioxide (anytwo) 1

Ininsects O, rich air entersthe cell through spiracles, tracheaand tracheol es.

Thus, every cell gets O, directly. 2
OR

a)  Respiration: Oxidation of digested food to rel ease energy. 1

b)  Twotypes:i)Aerobic ii)Anaerobic 1
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20. &)
b)

21. @

b)

22. @
b)

Transport of foodin plants.

Trandocationisessentia for plantsasevery cell needsfood for harnessing
energy/for building/maintaining theorganism.

Autonomic nervous system : System which controlsand integratesthe

functionsof internal organslike heart, blood vessdls, glandsetc. in the bodly.

Autonomic nervous system controlsand integratesthe functionsof internal
organs.

Two condtituent systems.

i) Sympethetic
i) Parasympathetic

OR
a) Thoseglandswhich do not have ductsto passtheir secretions.

b) Endocrineglandsdo not have ductsto passtheir hormonessothey are
called ductlessglands.

c) Nameof endocrineglands:
i)  Hypothdamus

i)  Pituitary

i)  Thyroid

iv)  Parathyroid

v) Adrend

vi)  Pancress

vii)  Testes

viii) Ovaries (any three)
Reproduction

Thebiological processwhichisessential for the perpetuation of species./

A process by which new individual sof the same, speciesare produced by
existing organisms. (Parents)

Asexual and sexual reproduction.

Sexual reproduction issuperior than asexua.

Reason:

i)  Sexud reproduction promotesdiversity of charactersinthe off springs.
i) Playsaprominent roleintheorigin of new species.

i)y Leadstovariations.

iv) Any other (anyone)
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23.

24,

Marks Totd

Disposa of wasteisessential to maintainthe natural beauty of surroundings. To
prevent dirt./ Foul smell comesfrom thewaste. / Blockage of water inthedrain. /
Pollution/ Diseases/ any other. 1

Modesof waste disposal:
) Canbeburried aslandfills.
i)  Somesolid waste can berecycled.

i)  Canbeused asmanurefor plants.

iv)  Molten plastic waste mixed with asphalt can be used for making roads.

v)  Canbeburnt at high temperature.

vi)  Anyother (anyfour) 4xY2 3

Organicevolution: “ Thegradua unfolding of organismsfrom pre-existing organisms
through change sincethebeginning of life. 1

Evidences

) Homol ogousorgans: Organswhich arestructurally smilar and functionaly

different.

i)  Andogousorgans. Organswhich arestructuraly different but performthe
samefunction.

i)  Vedigid organs: Functionlessorgans, whichwerefunctional andwell developed
among theancestors.

Iv)  Ontogeny recapitul ates phylogeny-Embryonic devel opment of an organism
repeatsit’sevolutionary history.

v)  Study of fossIsprovidesevidencesinfavour of evolution. (anyfour) 4x1 5
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stray marks ontheAnswer Sheet. Do not write your Roll Number anywhere else
except inthe specified spacein the Test Booklet/Answer Shest.

10. Useof whitefluid for correctionisnot permissible onthe Answer Shest.
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QUESTION PAPER DELHI
SECTION -A

A littledilute hydrochloric acid isdropped on apH paper. The colour of the pH
paper turnsto

(1) darkpink
(2) lightgreen
(3) ligntblue

(4) brigntydlow

The correct method of finding the pH of asolutionisto

(1) bheatthesolutioninatest tube and exposethe pH paper to the vapoursformed.
(2) pour few dropsof the solution from the test tube on the pH paper.

(3) dropthepH paper inthesolution.

(4) putadrop of the solution on the pH paper using adropper.

Which oneof thefollowing will berequired toidentify the gasevolved when dilute
hydrochloric acid reactswith zinc metal ?

(1) Bluelitmussolution
(20 Redlitmussolution
(3) Aburningsplinter
(4) Limewater

A liquid sampleturned red litmus paper blue. Thisindicatesthat theliquid sample
isthat of

(1) anacohal

(2) didilledwater

(3) sodiumhydroxidesolution
(4) hydrochloricacid

Sulphur dioxidegasiscollected in thelaboratory by the
(1) upwarddisplacement of air.

(2) downwarddisplacement of air.

(3) upward displacement of water.

(4) downward displacement of water.
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10.

Some crystalsof copper sulphate weredissolved in water. The colour of thesolution
obtained would be

(1) green
2 red
(3) blue
(4 brown

When the stopper of abottle containing acolourlessliquid wasremoved, the bottle
gaveout asmell likethat of vinegar. Theliquidinthebottlecould be

(1) hydrochloricacid solution.

(2 sodiumhydroxidesolution.

(3) aceticacid.

(4) saturated sodium bicarbonate solution.

A sharpimage of adistant object isobtained on ascreen by using aconvex lens.
In order to determinethefocal length of thelens, you need to measurethe distance
betweenthe

(1) lensandtheobject.

(2) lensandthescreen.

(3) object andthescreen.

(4) lensandthe screen and al so object and the screen.

A student obtainsablurred image of an object on ascreen by using aconcave
mirror. In order to obtain asharp image on the screen, hewill haveto shift the
mirror

(1) towardsthescreen.
(20 awayfromthescreen.

(3) ethertowardsor away from the screen depending upon the position of the
object.

(4) toapodtionvery far away fromthe screen.

Thetwo dotsP, and P, shownin each of thefollowing diagramsl, I1, 11l and IV
denotethe position of two pinsin respect of distance and direction for performing
an experiment on tracing the path of aray of light passing through arectangular
glassdab. Inwhich one of thefour cases, oneislikely to get best result ?
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12.

P

=P,
:EI F"‘Pz P,
l
|
I 1] 1
@ |
@
@
@ v

The path of aray of light passing through arectangular glassslab wastraced and

anglesmeasured. Which oneout of thefollowingisthe correct representation of an
angleof incidencei, angleof refraction r and angle of emergenceeasshowninthe
diagrams?

@)
3
4)

Il
[
A\

Whichtwo circuit componentsare connected in parallel inthefollowing circuit

diagram? ___(:+ }_—_|

@)
@)
3
4)

®

.
— (»)

Rheostat and voltmeter

Voltmeter and ammeter

Voltmeter and resistor

Ammeter and resistor
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13.

14.

15.

16.

Anammeter has 20 divisions between mark 0 and mark 2 onitsscale. Theleast
count of theammeter is

(1) 0.02A
() 001A
(3) 02A
4 0.1A

To detennine the equival ent resistance of two resistorswhen connected in series, a
student arranged the circuit components as shown in the diagram. But hedid not
succeed to achievethe objective.

a
—®)-

|
| .

M (V)
b —

Which of thefollowing mistakeshas been committed by himin setting up thecircuit ?
(1) Podgtionof voltmeter isincorrect.

(2) Pogtionof anmeter isincorrect.

(3) Terminasof voltmeter arewrongly connected.

(4) Termindsof ammeter arewrongly connected.

Whilepreparing atemporary stained mount of aleaf epidermal ped, theextrastain
isremoved by

(1) washingwithcaciumchloridesolution.
(2 washingwithwater.

(3) soakingwithfilter paper.

(4) absorbingwith cottonwooal.

Thediagramgivenbelow illusirates
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17.

18.

19.

20.

(1) budformationinyesst.

(2) binaryfissoninamoeba

(3) formation of daughter cellsinyeast.
(4) pseudopodiaformationinamoeba.

I nthe experiment demonstrating respiration in germinating seeds, KOH isused to
(1) absorb carbon dioxide produced by the seeds.

(2) absorboxygen presentintheflask.

(3) absorbwater vapoursreleased by the seeds.

(4) liberate oxygento beused by the seeds.

Before carrying out the test for the presence of starch in aleaf on exposureto
sunlight, theleaf isput into alcohol contained in abeaker and boiled over awater
bath. Thisstepiscarried out to

(1) extractstarch.
(2) dissolvechlorophyll.
(3) dlow water tomoveintothelesf.

(4) makemembranesof leaf cellsmore permesble.

A student put fiveraisinseachin two beakersA and B. Beaker A contained 50 mL
of distilled water and beaker B had 50 mL of saturated sugar solution. After some
timethe student would observethat

(1) raisnsinbeaker A weremoreswollenthanthosein besker B.
(2) raisinsinbeaker B were more swollen than thosein beaker A.
(3) raisinsinboth beskersA and B wereequally swollen.

(4) raisnsinbeaker Adidnot swell upat al.

Out of four didesl, I1, 11, 1V whose detail s are shown bel ow, which one should be
focussed under the microscopefor showing buddinginyesst ?

S W @ &Y

I v
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21.

22.

23.

24,

@)

@ nu
3 m
4 v
SECTION B
When acidified potass um dichromate sol ution isadded to ajar contai ning sulphur
dioxidegas, the solution becomes
(1) colourless
(2 brown
(3) darkorange
(4) ogreen

Solutionsof ferroussulphate, zinc sulphate, copper sulphateand a uminium sulphate
were separately taken infour test tubesand someiron nailswere placed in each of
the solutions. After few minutes, it would be observed that the col our of

(1)
)

3
4)

al thefour solutionschanged.

solutionsof zinc sulphate, copper sulphate and a uminium sul phate changed
and that of ferrous sulphate did not change.

solutionsof zinc sulphateand a uminium sulphate only changed.

copper sulphate solution only changed.

When sodium bicarbonate powder isadded to acetic acid, agasevolves. Which
oneof thefollowing statementsisnot truefor thisgas?It

(1)
ey
3
4

turnslimewater milky.

extinguishesaburning splinter.

dissolvesin asolution of sodium hydroxide.
turnsacidified potassum dichromate sol ution green.

The current flowing through aresistor connected in an electrical circuit and the
potentia difference devel oped acrossitsendsare showninthegivendiagrams:

(LT W

100 o

mm
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25.

26.

Thevalue of resistanceof theresistor inohmsis

R 25
@ 20
3 15
4 10

Thecorrect set up for determining theequivalent resistance of tworesistorsR and
R, when connected inparallel is

(@ 4 P ¥
B E

B BT

@ |
@
@
@ v

To determinethe equivalent resistance of aseriescombination of tworesistorsR,
and R, astudent arrangesthefollowing set up:

+ R, R,

| i
I b

Which oneof thefollowing statementswill betruefor thiscircuit ?1t gives:

(1) incorrectreading for current | aswell aspotential differenceV.

(2) correctreadingfor current | butincorrect reading for potential differenceV.
(3) correct reading for potentia differenceV but incorrect reading for current |.
(4) correct readingsfor both I and V.
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27.

28.

29.

Four studentsfocussed an epidermal peel of leaf under high power and madethe
following sketches. Which one out of thefollowing iscorrectly sketched?

@ |
@
@
@ v

For determining the percentage of water absorbed by raisnsinagiventime, apart
fromwater, raisinsand awatch, we shal asorequire

(1) abesker, agraduated cylinder, athermometer, afilter paper.

(2) awatchglass, agraduated cylinder, athermometer, aweighing balance.
(3) abeaker, athermometer, afilter paper, aweighing baance.

(4) agraduated cylinder, athermometer, aweighing balance.

Out of thefour experimental set-upsshown below, which onewill demonstratethe
evolution of carbon dioxide during respiration of germinating seeds?

Foubsbar ok
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30.

@)
@)
3)
4)

Fltsvsr ook

Garminating seeds e
1]

A black strip of paper wasclipped onto adestarched leaf in apotted plant to cover
apart of theleaf. The plant wasthen exposed to sunlight for four hours, the paper
stripwasremoved and the | eaf tested for starch. Wheniodine sol ution was added

(1)
ey
3
4

theentireleaf turned blue-black.
the covered part of theleaf became blue-black.
theuncovered part of theleaf becameblue-black.

the colour of iodine solution remained unchanged.

QUESTION PAPER OUTSIDE

SECTION -A

Which oneof thefollowing isnot required to find thepH of asolution ?

@)
)
3
4)

pH paper

Litmus paper

Universd indicator
Standard pH value chart

A drop of aliquid samplewas put on the pH paper. The colour of the pH paper
turned blue. Theliquid samplecould bethat of

(1)
@

lemonjuice.

hydrochloricacid.
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(3)  sodium bicarbonate solution.
(4) ethanoicacid.

Dilute hydrochloric acid isadded to solid sodium carbonate. It is observed that
(1) nochangetakesplace.

(2) aloudsoundisproduced.

(3) brisk effervescence occurs.

(4) thesolutionturnsblue.

Which oneof thefollowing combinations of substanceswould youtaketo prepare
sulphur dioxidegas?

(1) Concentrated Sulphuric acidand Zinc

(2) DiluteSulphuricacidand Zinc

(3) Dilute Sulphuricacid and Copper

(4) Concentrated Sulphuric acid and Copper

A teacher gavetwo test tubes, one containing water and the other containing sodium
hydroxide solution, to the tudentsand asked them to i dentify thetest tube containing
sodium hydroxide solution. Which one of thefollowing can be used for correctly
identifying thetest tube containing sodium hydroxidesolution ?

(1) Bluelitmus

(20 Redlitmus

(3) Sodiumcarbonatesolution
(4) Dilutehydrochloricacid

Sodium bicarbonate sol ution isadded to dilute ethanoic acid. It isobserved that
(1) agasevolves.

(2) asolidsettlesat the bottom.

(3) themixturebecomeswarm.

(4) thecolour of themixturebecomeslight yellow.

The odour of acetic acid resemblesthat of
(1) rose
(2 burningpladtic.
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10.

(3) vinega.
(4) kerosene.

A student obtained a sharp image of the grill of awindow on ascreen, using a
convex lens. For getting better results, theteacher suggested focussing of adistant
treeingtead of thegyrill. Inwhich direction should thelensbemoved for thispurpose?

(1)) Awayfromthescreen
(2) Veryfaraway fromthescreen
(3) Behindthescreen

(4 Towardsthescreen

Theimage of adistant object isobtained on ascreen by using aconcave mirror.
Thefoca length of themirror can be determined by measuring the distance between

(1) theobjectandthemirror.
(2) theobject and the screen.
(3) themirror andthescreen.

(4) themirror and the screen aswell asthat between the object and the screen.

Which oneof thefollowing isthe best set-up for tracing the path of aray of light
through arectangular glassdab ?

:

I I'v
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11. Thefollowing circuit diagram shows the experimental set-up for the study of
dependence of current on potential difference. Whichtwo circuit componentsare
connectedinseries?

e

® |
e —

(1) Battery andvoltmeter
(20 Ammeter and voltmeter
(3) Ammeter and rheostat
(4) Resistor and voltmeter

12. Inavoltmeter, there are 20 divisions between the 0 mark and 0.5V mark. The
|east count of thevoltmeteris

(1) 0.020V
() 0025V
(3 0.050V
@ 0250V

13.  Forthecircuitsshowninfigures! and 1, the voltmeter reading would be
v av

*!.I._ e ”__—K ) + }I [_"'_I |__,_..__{ ,-:,_....H.._.@_‘: _—
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14.

15.

16.

(1) 2VincircuitlandOV incircuitll.
(2 OVinbothcircuits.
(3) 2Vinbothcircuits.
(4 OVincircuitland2V incircuitll.

Which of thecircuit componentsin thefollowing circuit diagram are connected in
parald ?

() RandR,only |
(@ R,andVonly

() RandVonly

@ R,R,andV

A portion of each of four destarched |eaves of aplant was covered with paper
stripsof variouskinds. The plant was exposed to sunlight for 5 hours. Thereafter,
the stripswere removed and theleavestested for starch in the covered portion.

Which oneout of thefour leaves gave the starch test in the covered portion ?
(1) That covered with ablack paper strip.

(2) That covered with agreen paper strip.

(3) That covered withawhite paper strip.

(4) That covered with atransparent paper strip.

A well stained leaf peel preparation when focussed under high power of the
microscopewould show

(1) epidermal cells, stomata, guard cells each with one nucleus and many
chloroplasts.

(2) epiderma cells, stomata, guard cellswith many nuclel and one chloroplast
each.
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17.

18.

19.

(3) stomataand guard cellswithout nuclei or chloroplasts.
(4) stomatabut noguard cellsor epiderma cells.

Thefollowing experiment was set up to show that agasisgiven out during respiration.
But therewasnoriseinthelevel of water. Thiswasbecause

(1) germinating seedshave not been kept under water intheflask.

(2) water iskeptinthebeaker instead of limewater.

(3) thecork ontheflask ismadeof rubber.

(4) nosubstanceiskept intheflask to absorb the gas given out by the seeds.

Rubber cork

Germinating seeds Water

Given below are the stages of binary fission in amoeba. Which one out of the
following would you select asthe correct sequence of these stages?

DD P

() A,B,C,D
(2 D,CA,B
(3) B,D,A,C
4 C,AD,B

A student soaked 5 grams of raisinsin 25 mL of distilled water in each of two
beakersA and B. Beaker A wasmaintained at 25°C and beaker B at 50°C. After
one hour, the student observed that the water absorbed by theraisinswas
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(1) sameincaseof AandB.

(2) lessincaseof AthaninB.

(3) exactlydoubleinA, of that inB.
(4) exactlyfourtimesinA, of thatinB.

Inthefollowing sketch of the stomatal apparatus, the partsl, 11, 111 and IV were
labelled differently by four students.

d nﬂn - .
0 o? o

T01(0)1 e
op)lo .

Thecorrect |abelling, out of thefollowing, is
(@) (1) guardcdl, (I1) stoma, (111) starch granule, (1V) nucleus.
(20 () cytoplasm, (11) nucleus, (111) stoma, (1V) chloroplast.

(3) () guardcel, (I1) starch, (111) nucleus, (1V) stoma.
(4 (1) cytoplasm, (I1) chloroplagt, (111) stoma, (1V) nucleus.

SECTION B

Given below are certain chemical propertiesof substances.

(@ Itturnsbluelitmusred.

(b) Itturnsredlitmusblue.

() Itreactswithzincand agasevolves.

(d) Itreactswith solid sodium carbonateto give brisk effervescence.
Which out of these propertiesare shown by dilute hydrochloric acid ?

(1) (@ and(b)only.

(2 (@ and(c)only.

(3) (a,(c)and(d) only.

(4 (b),(c)and(d)only.
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22.

23.

24,

A student was asked to demonstratethefollowing two properties of sulphur dioxide
ges

(i) Itisheavierthanair,and

@iy itishighly solubleinwater.

Whichtwo of thefollowing four arrangementswoul d the student useto demonstrate
these properties?

B, —» ==

80, =——
| I v
(1) landll
2 Nandlll
(3 landlll
4 NandIV

[ronfilingswere added to asol ution of copper sulphate. After 10 minutes, it was
observed that the blue colour of the solution changesand alayer getsdeposited on
ironfilings. Thecolour of the solution and that of the coating would, respectively, be:

(1) yelowandgreen.

(2 brownandblue.

(3) redandgreenish-blue.

(4)  greenand reddish-brown.

The current flowing through aconductor and the potentia difference acrossitstwo
ends are as per readings of the ammeter and the voltmeter shown below. The
resistance of the conductor would be

1) 002Q
(2 00240Q
(3) 2000
4 2400
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Thefallowingingrumentsareavailableinalaboratory:
Milliammeter A, of range 0 - 300 mA and least count 10 mA
Milliammeter A, of range 0 - 200 mA and | east count 20 mA
Voltmeter V, of range0- 5V andleast count 0.2V
Voltmeter V,, of range 0- 3V and least count 0.3V

Out of thefollowing pairsof instruments, which pair would be the best choicefor
carrying out the experiment to determinethe equivaent res stance of tworesistors
connectedinseries?

(1) Milliammeter A and voltmeter V,
(2 Milliammeter A, and voltmeterV,
(3) Milliammeter A andvoltmeter V.,
(4)  Milliammeter A, and voltmeter V,

In an experiment to determine equivaent resistance of tworesistorsR andR, in
series, which one of the following circuit diagrams shows the correct way of
connecting thevoltmeter inthecircuit ?

I I
$q. = 4+ -
1 (s} I B!
+ +
Il,.l-'
® O
R, Hy R, Ry
LYY YY VN YV Y Y S— APPAA e ABAAA e
T ()
S = AT
I v
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27.  Whichoneout of thefollowing setsof diagramscorrectly depictsreproductionin

amoebaand yeast ?
(1) @ —_— :
) —

Budding in amosha Binary fission in yeast
. (=% G~

Rinary fiszion in amoska Budding in yeast
. (=5 @

Binary fissiwon m amocha Budding in yeast
@ S
Budding in amoeha Binary flsalon in yeast
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28.

29.

30.

Which oneof thefollowing isthe combination of relevant materialsrequired for

Setting up an experiment to show that light isnecessary for photosynthesis?

(1) Destarchedleaves, stripsof black paper, starch solution and iodinecrystals.

(2) A potted plant, stripsof coloured paper, starch solution, iodineand potassium
iodide.

(3) Dedarchedleaves, stripsof black paper, starch solution and potassumiodide.

(4) Destarchedleaves, stripsof black paper andiodine solution.

While performing an experiment to determinethe percentage of water absorbed by
raisins, thefollowing datawas obtained:

Mass of water takenin the beaker =509
Massof raisinsbefore soakingtheminwater =59
Massof raisinsafter soakinginwater for 2hours=8g

The percentage of water absorbed by raisinswould be

(6-5)9 (-3
W g X100 @ g 100
@ @ ;95)9 %100 @ B9, 100

A student was asked to focus a permanent slide under the high power of a
microscope. Thisinvolved thefollowing stepswhich have not beenwrittenina
correct sequence:

Placethedideonthestage.

Cleanthemicroscope and lenses.

Focusthe materia with the help of coarse adjustment.

Placethelow power objectivelensabovethedide.

Sharpenthefocuswith fineadjustment.

Bring high power objectivelensover thedide.

Which oneof thefollowing isthe correct sequence of stepsfor focussing thedide
under high power ?

(1 A,B,CD,EF

(2 B,A,CD,EF

3 A,B,FC,D,E

4 B,A,D,C,FE

mTmo oW
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QUESTION PAPER
(FORBLIND CANDIDATEYS)
SECTIONA

The correct method of finding the pH of asolutionisto

@)

@
3
4

heat the solutionin atest tube and | et the vapours from the sol ution affect the
pH paper.

drop the solution on the pH paper from the test tube.

put the pH paper inthe solution.

put onedrop of the solution on the pH paper with adropper.

The pH paper will develop adeep violet colour on putting oniit

(1)
@)
3
4)

lemonjuice.

sodium hydroxidesolution.
ethanoic acid solution.
hydrochloric acid solution.

If dilute hydrochloric acid isadded to asolution of sodium carbonate placed in
atest tube, it will be observed that

(1)
@)
3
4

no changetakesplace.

avery loud sound isproduced.
abrisk effervescence occurs.
thesolutionturnsblue.

Zinc pieceswere placed in atest tube. Dilute hydrochloric acid was added
toit. Thegasevolved

@)
@
3)
4

extinguishesaburning splinter and the gasburnswith apop sound.
extinguishesaburning splinter.

extinguishesaburning splinter and aloud popisobserved.

hel psaglowing splinter to burnwith aflame.

A student prepared SO, gasin thelaboratory and observed its properties.
Hereported thefollowinginferences:

Thegasislighter thanair.
Thegasisacidicinnature.

The gasdoesnot affect bluelitmus paper.
Thegasisinsolubleinwater.
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Theonly correctinferenceis

(1)
@
3
4

I

[l
"
A%

Thesolution of ferroussulphatein water is

@)
@
3
4)

blue
green
ydlow
colourless

The odour of acetic acidissimilar to that of

@)
@)
3
4)

rosewater
mango pickle
vinegar
orange

Whiledoing theexperiment on finding thefocal length of aconvex lensby obtaining
theimage of adistant object, astudent should preferably use-

(1)
@)
3
4

any distant tree or electric pole asthe object.
theclass-roomwindow grill asthe object.

awsdll lit ,distant tree or electric pole asthe object.

aburning candle, kept at the other end of thetable, asthe object.

While performing theexperiment, onfinding thefoca length of aconcavemirror and
aconvex lens, by obtaining the image of adistant object, a student checksthe
correctness, or otherwise, of themirror and lensavailable, by ‘fedingthemall over’
with her/hishands. She/he should observea

@)
2
3

(4)

depressioninthe middliein both the cases.
bulgeinthemiddiein boththe cases.

depressioninthe middlefor the concave mirror and abulgeinthemiddlefor
theconvex lens.

bulgeinthe middlefor the concave mirror and adepressioninthemiddlefor
theconvex lens.
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10. Whileconducting the experiment on tracing the path of aray of light, through a

12.

13.

rectangular glassdab, astudent usesthe protractor (dee) for measuring theangles
of incidence and of emergence. He should placethe’ zero’ of the protractor at the
points of incidence and emergence of theray on the slab and the baseline of the
protractor should beaong

(1) thenormalsat the pointsof incidence and emergencerespectively.

(2 thefacelinesof the glass slab at the points of incidence and emergence
respectively:

(3) thenormal at the point of incidence and thefaceline of theglassdab at the
point of emergenceof theray.

(4) thefacelineof theglassdab at the point of incidence and thenormal at the
point of emergenceof theray.

While conducting the experiment to study the dependence of the current flowing
through aresistor onthevoltage applied acrossit, using avoltmeter and an ammeter,
astudent hasto connect

(1) boththeterminalsof thevoltmeter acrosstheresistor.
(2) boththeterminalsof theammeter acrosstheresistor.

(3) thepositiveterminalsof both the voltmeter and the ammeter acrossthetwo
endsof theresistor. .

(4) thenegativeterminalsof both thevoltmeter and theammeter acrossthetwo
endsof theresistor.

For the experimental study of dependenceof current flowing through aresistor on
thepotential difference applied acrossit, astudent hasto use an ammeter and a
voltmeter. It would be observed that

(1) both of them havetheir terminalsmarked as(+) and (-).

(2 nether of thetwo havetheir terminalsmarked as(+) and (-).
(3) onlytheammeter hasitstwo terminalsmarked as(+) and (-).
(4) onlythevoltmeter hasitstwo terminalsmarked as(+) and (-).

I nthe experiment on finding the equival ent res stance of two resistors, connected in
saries’ the student would observethat thetwo resistorshave

(1) twocommonterminals, connected to thetwo terminalsof the voltmeter.
(2) twocommon terminals, connected to thetwo terminalsof theammeter.
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14.

15.

16.

(3) only onecommon termina, connected to oneterminal each of thevoltmeter
and theammeter.

(4)  only onecommon terminal, not connected to thevoltmeter or anmeter at all.

Inthe experiment on finding the equivalent resistance ,of two resistors connected
inparalle, astudent would observethat. thetwo resistorshave

(1) twocommonterminals, connected one each to oneterminal of theammeter
and the battery.

(2) twocommonterminals, connected to thetwo terminalsof the voltmeter.

(3) only onecommon terminal and that gets connected to oneterminal of the
battery.

(4) only onecommon terminal and that gets connected to oneterminal of the
ammete.

Thefour instrumentslisted below areavailablein alaboratory
l. Telescope

1. Periscope

[1l. Binoculars

V. Microscope

Which oneof theaboveinstruments should astudent select to find thelocation of
thestomata?

@®

@ 1
3
@ v

Inthe experiment to show that “ carbon dioxide gasisgiven out during respiration,”
asmall test tube containing achemical iskept intheflask. Thischemical iskept to
absorb

() CO,gas
(2 N,gas
3 O,gas

(4) moisture (or water vapours)
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17.

18.

19.

20.

21.

A dideshowsacdl dividing inthe centre. Thisdide could be showing

(1)
@
©)
4)

budding in amoeba.
buddinginyesst.

binary fissoninamoeba.
binary fissoninyeast.

To determinethe percentage of water absorbed by raisins, theraisinsareweighed

@)
e
3)
4)

only inthebeginning of the experiment.

only at theend of the experiment.

both in the beginning and at the end of the experiment.

inthebeginning and also at the end but only after gently dryingthemwitha
filter paper.

A dideshowsacell and another similar cell of smaller size attached to thetop of
thefirst cell. Thisdlide could bethat of

(1)
@)
3
4)

yeast with bud.

amoebawith bud.

two daughter cellsof amoeba.
two buds of yeast.

Inthe experiment to show that “ light isnecessary for photosynthesis,” the part of
theplantusedis

(1)
@)
3
4

root
gem
leef
flower

SECTION B

Thegasjarsused for collection of SO, gasmust not be moist because SO, gas

(1)
@)
3
4

formssulphuric acid whenin contact with water.
dissolvesinwater to some extent.
getsoxidised to SO, when water ispresentinthejar.

losesits pungent odour inthe presence of water.
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22. A student put four bigiron nails, oneeach infour test tubes, contai ning solutions of
Zinc sulphate, Aluminium sul phate, Copper sulphate and Iron sulphate. A reddish
brown coating was observed only onthe surface of oneiron nail that wasput inthe

23.

24,

solution of

(1) Zincsulphate.

(20  Aluminiumsulphate.
(3) Copper sulphate.
(4) lronsulphate.

Some acetic acid was added to a sol ution of sodium bicarbonate containedina
flask. The gasevolved was passed through somelimewater for alongtime. It

would be observed that

(1) thelimewater turnsmilky and milkinesscontinuesto grow when moregasis
passed.

(2 asolidstartsfloating onthe surface of l[imewater.

(3) aprecipitate appearswhich settles at the bottom of limewater.

(4) thelimewater, whichturned milky inthebeginning, changesagaintoacolourless

solution when more gasis passed.

Four studentsareto do their experiment on tracing the path of aray of light through
arectangular glassdab. They al draw the*outlines’ of their respectiveglassdabsat
three different positionson their respective drawing sheets and then proceed as
follows

Student | drawsthreeincident raysat arbitrary anglesof incidenceand fixes
two pinson them 2 cm apart.

Student 11 drawsthreeincident raysat values 30°, 45° and 60° for theangle
of incidenceand fixestwo pinson them 2 cm apart.

Student 111 drawsthreeincident raysat arbitrary anglesof incidenceand
fixestwo pinson them 6 cm apart.

Student IV drawsthreeincident raysat vaues 30°, 45° and 60° for theangles
of incidenceand fixestwo pinsonthem 6 cm apart.

Thebest ‘set up’ isof that of the student

@)
ey
3
4)

I

[l
"
A%
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25.

26.

27.

28.

29.

I nthe experiment on finding the equival ent res stance of two resistors, connectedin
series, thetwo terminasof theammeter get connected so that

(1)

@
3
4)

oneof them getsconnected to only oneother component inthecircuit andthe
other can get connected to one or two components of the circuit.

both of them get connected to three other componentsinthecircuit.
both of them get connected to two other componentsinthecircuit

oneof them gets connected to two other componentsinthecircuit whilethe
other can get connected to two or three components of the circuit.

I nthe experiment on finding the equival ent res stance, of two resistorsconnectedin
paralld, thetwo terminalsof thevoltmeter get connected so that

@)

@)
3
4)

oneof them gets connected to two other components of thecircuit whilethe
other gets connected to three other components of thecircuit.

both of them get connected to two other componentsof the circuit.
both of them get connected to three other components of the circuit.

oneof them gets connected to two other components of thecircuit whilethe
other gets connected to only one other component of the circuit.

Raisnsweighing 10 gweighed 15 after soaking them inwater for four hours. The
percentage of water absorbed by raisinswould be

@)
@)
3
4

150%
66.67%
50%
33.3%

Before setting up the experiment to show that light isnecessary for photosynthesis,
theexperimental plant iskept for 24 hoursin

@
@)
3
4)

thegarden outside.

the open park.

adark room.

aclosed roomwith bright lightson.

To show that “ carbon dioxide gasisgiven out during respiration,” astudent placed
germinating seedsand a so atest tube containing KOH inaflask. The student then
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plugged the flask with cotton because arubber stopper was not available. The
water from the beaker did not riseinto the glasstube. Thiscould be because

(1) theflask wasnotair-tight.

(2) therewasnooxygenintheflask.

(3) seedsdidnot give out any carbon dioxide gas.

(4) carbondioxideintheflask was not absorbed by KOH.

30. Fromtheir observationsonthedideof aleaf epidermal ped, four studentsreported
that the cellsimmediately surrounding the somatawere

I.  guardcdlswithnochloroplasts.
[I.  guardcelswithchloroplasts.
[1l.  epidermd cellswithout nuclei.
IV. epidermd cdlswithnucle.

The correct reporting isof that of the student

@ |
@ n
3
4
Computation of ScoresPractical SkillsData (Blind)
Responses
01-05 06-10 11-15 16-20 21-25 26-30
Key Booket Code A 42312 23331 11424 13413 23441 33312
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SOCIAL SCIENCE

Time allowed : 3 hours Maximum Marks: 80

( GENERAL INSTRUCTIONS: h

Answer to questions carrying 2 marks should not exceed 30 words each.
Answer to questions carrying 4 marks should not exceed 60-80 words each.
Answer to questions carrying 6 marks should not exceed 100-125 words each.
Maps should be securely tied in the middl e of the Answer-Book.

Attempt all parts of a question together.

S T o A

Sencilsor templatesfor drawing outline maps may be used wherever necessary.

QUESTION PAPER CODE 32/1/1

1.  Definetheterm‘economic development’ . Statethetwo basesof measuring

economic development of acountry. 1+1=2
2.  Whoisadisabled person? Give one example each of two typesof disabilities. 1+1=2
3. Writeany four factsabout tsunami. 4xXY%=2
4.  Explainhow Indianindustriesand trade had been ruined under the British rule

intheeighteenth century. 2
5.  Explanany twomainfeaturesof Harappan culture. 2x1=2

6. Namethenorthern, eastern, southern and western most stations of Golden
Quadrilateral expressnationa highway. 4xY% =2

7. How dothemeansof masscommunication play avita rolein creating awareness
among the people? Explain. 2

8.  Identify and namethe socia reformer showninthe picturegiven below. State

any two contributionsmade by him. 1+1=2
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10.

12.

13.

14.

15.

16.

17.

18.
19.
20.

Note: Thisquestionisfor the Blind Candidatesonly inlieu of Q.No.8.

State any two contributions of Ishwar ChandraVidyasagar in reforming
Indian society.

‘Indiaisamultilingua country’. Jugtify the statement with two arguments.

“Wellsand tubewellsarethemost popular meansof irrigationin northern plains
of India.” Jugtify the statement with two arguments.

“Hedth sector interplaysthe most significant rolein human development.” Justify
thisstaternent with two arguments.

Suggest two factswhich should bebornein mind while selecting asitefor a
buildingincoastal aress.

Describeany four characteristicsof subsistencefarming.
OR

Describeany for stepstaken by the Government toimprove Indian agriculture
after Independence.

Describeany four major problemsfaced by cotton textileindustry in India

Describe two different approaches by which the number of the poor are estimated
inthecountry.

“Therevolt of 1857 marked aturning pointinthe history of India.” Support this
statement by giving four facts.

OR
Whenwasthe Mudim Leagueformed? Explainitsthreemain objectives.

“Coal isthemain source of energy aswell asaraw material for industriesin India.
Support thisstatement with two factsfor each.

How doescommunalism poseathrest to our national unity? Explain.
Explaintheterm‘Veto'. Nameany four countrieswhich haveveto power.

How isdisaster managed at different level s? Explain with one exampleeach,
fromany four levels.

OR

Explainany four objectivesof asearch and rescueteam.
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21.

22.

23.

24,

WhenwasIndian National Congressfounded?Who played themost important
part initsformation? Describe the main objectives of the Congress.

OR
Describeany six factorsthat wereresponsiblefor theriseof ‘extremism’ inlndia.

Why isthe conservation of resources essentia ? Explain any three measures of
conservation of resources.

OR

“Water isavery important and critical resourcein India’. Support this statement
by explaining any three pointsof each.

Explainwith suitable examplestheimpact of the expansion of businessactivities
Inan economy.

OR

Why istheriseof consumer awareness essential ? Explain any four measuresto
protect consumers’ interest.

@ (@) Onthegivenpoalitica outlinemap of I ndia, the placeisshown by no.
1, where Congresswas split in 1907. Identify the place and nameit onthe
linedrawn.

(i)  Onthesame map shade and namethe State wherethe JallianwalaBagh
incident occurred.

(b) Onthegivenpoalitical outlinemap of I ndia, four geographical features
A, B, Cand D aremarked. | dentify these featureswith the help of map
key and writetheir correct namesonthelinemarked against each inthe

map.
OR

Onthegiven palitica outlinemap of India- locate and label thefollowing
features

() Kanpur - Cotton Textile Centre
(i) Kaiga- Nuclear Power Station
(i) Hadia- Oil Refinery

(iv) Kandla- Seaport
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Note: Thefollowing questionisfor the Blind Candidatesonly inlieu of
Q.No. 24 (a) and (b).

0]

Namethe Statewhere Jallianwal aincident occurred.

Namethe place where Congresswas splitin 1907.
Whichistheleading coffee producing state”?
Whichistheeasternterminal station of * East-West Corridor’ ?
Nametheinternationa air-port located in Gujarat State.
Namethe Software Technology Park located in Uttar Pradesh.

241

6xl=6



Q. No. 24 (a)

W. H. 24 (%)
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OR / #ean

0. No. 24 (b)

W.H 24 (F)
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QUESTION PAPER CODE 32/1

State any two main objectives of the British Government to spread education
inlndia 2x1=2

State two ways by which the Indian people reacted to the partition of Bengal
by Lord Curzon. 2x1=2

Writetwo pointsof distinction between renewabl e resources and non-renewable
resources. 2x1=2

Whichisthemostimportant cereal cropin India? Namethetwo major producing
states of thiscrop. 1+1=2

Why issustainable devel opment essential for economic growth? Givetwo reasons. 2x1=2

How does casteism create hindrancein our social development? Explain any two
points. 2x1=2

Explainany two man-madefactorsresponsiblefor landdides. 2x1=2

Analyseany two situations because of which the European trading companies
garted interferinginthepolitica affairsof Indiainthee ghteenth century. 2x1=2

| dentify and namethe Indian nationa |eader shown inthe picture given below.
State any two of hiscontributionsin promoting Indian Nationalism. 1+1=2

Note: The following question is for the Blind Candidates only in lieu of
Q. No.9.

State any two contributions of SurendraNath Banerjeeto promote Indian
Nationdism.
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10.

12.

13.

14.

15.

16.

17.

18.

19.

How can Indian agricultural productsstand in theworld market? Suggest two
waysinthisregard.

| dentify thedifferent thrust areas of human devel opment. Which one of them
playsthemost significant rolein the devel opment?

How will you help apersonif youfind him/her in aburnt state? Suggest any two
ways.

Inwhichtwo categoriesaremineralsgenerally classified? Givethree characteristics
of each category.

Describeany four privilegesenjoyed by minority communitiesinIndia
OR

State any eight stepswhich have been mentioned inthe Indian Constitutionto
protect theinterests of Scheduled Castes and Scheduled Tribes.

Makethe correct pairsfrom thetwo ColumnsA andB :

Column A Column B

(Author) (Works)

Somadeva Prithviraj Raso

Kahana Gitagovinda

Jayadeva Rajataringini

Chandbardai Katha-Sarit-Sagar
OR

Explainany four contributionsof Amir Khusrau.

Explainany four factorswhich are responsiblefor decentralisation of cotton
industry inIndia.

OR
Explain any four measuresto control air pollution created by industriesin India

“Trangport routesare called the basic arteries of our economy.” Support this
Statement with four examples.

Explain thefour measurestaken by the Government of Indiato tacklethe
problem of poverty.

How did Non-Aligned Movement (NAM) comeinto existence asthe second
largest political formationintheworld?Explain.
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What should be the configuration and foundation of an earthquake resistant

building? Explaintwo pointsfor each. 2+2=4

Stateany six objectivesof the* National Forest Policy’ regarding conservation

of forestsin the country. 6x1=6
OR

Describe any six measures adopted for the conservation of water. 6x1=6

State thetwo index numbersused to know the pricerise. Describethefour steps
taken by the Government of Indiato control pricerise. 2+4=6

OR

Describe any two features of each of thethree strategies adopted by the
Government to protect theinterests of the consumers. 3x2=6

Explainany six factorsthat contributed to the growth of Indian Nationaism duringthe
19th century. 6Xx1=6

OR
Explainany six pointsregarding thesignificance of the*Revolt’ of 1857. 6Xx1=6

(@ (@) Onthegivenpolitical outlinemap of India (on page9) theplaceisshown
by No.1, wheretheresol ution for compl eteindependence was declared. | dentify
and writethe correct nameof this place on theline drawn on themap.

(i) Onthesamemap of I ndia (on page 9) shade and namethe statewhere
the‘ Gol Gumbaz' islocated. 1+1=2

(b) Onthegiven poalitical outline map of I ndia (on page 11) are shown four
geographical featuresA, B, Cand D. Identify thesefeatureswith thehelp
of themap key and writetheir correct namesonthelinemarked against

eachinthemap. 4x1=4
OR
Onthegiven political outlinemap of | ndia (on page 12) locate and label the
following geographicd features: 4x1=4

(i) Pune- Cotton Textile Centre

(i) Narimanam- Oil Refinery

(i) Rawatbhata- Nuclear Power Station
(iv) Vishakhapatnam - Sea-port

247



Note: The following question is for the Blind Candidates only in lieu of Q. No.
24 (a) and (b).

(i) Nametheplacewherethe resolution for completeindependencewas
declared.

@ii) Inwhichgateis‘Gol Gumbaz' situated?

(i) Whichistheleading statein the production of rubber?

(iv) NametheNorthern Terminal Station of North-South Corridor.

(v) Nametheinternational airport located in\West Bengal.

(vi) Namethe Software Technology Park located in Orissa. 6X1=6
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For queation noe, 24 (b
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For question no, 24 (bl
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M ar king Scheme — Social Science

General Instructions

1.

10.

11.

The Marking Scheme provides genera guidelines to reduce subjectivity in the
marking. The answers given in the Marking Scheme are suggested answers. The
content isthusindicative. If astudent has given any other answer whichisdifferent
from the one given in the Marking Scheme but conveys the meaning, such answers
should be given full weightage.

Evaluation is to be done as per instructions provided in the Marking Scheme. It
should not be done according to one’sown interpretation or any other consideration.
Marking Scheme should be strictly adhered to and religiously followed.

If a question has parts, please award marks in the right hand side for each part.
Marks awarded for different parts of the question should then be totalled up and
written in the left hand margin and circled.

If aquestion does not have any parts, marks be awarded in the left-hand margin.

If achild has attempted an extra choice question, answer of the question deserving
more marks should be retained and the other answer scored out.

While evaluating the answer book it should be remembered that Social Science
course at this stage is a part of general education and therefore does not require a
specialized study of the five subjects - History, Geography, Civics, Economics
and Disaster Management which comprise it.

Except for questionswhich require recall of information, the responses of students
should be evaluated in terms of the understanding that they reflect. Listing down
of points without any explanation may not be proper indication of the examinee’'s
understanding.

A mere listing of a large number of points should not be seen as a better
answer than fewer points well explained. The answers of the latter type should
be given credit.

Reference to the page number of the prescribed textbook has been given for
various questions. This is for the information of the examiners and a reading
of these pages of the textbook may be useful in assessing the answer scripts.
Page number in the marking scheme refers to the N.C.E.R.T. and CBSE books
(latest edition).

If a student attempts both the Geography and History map questions on one
map only, it should be evaluated. Similarly, if the student has attempted History
map on Geography part and vice versa, it should be evaluated.

A full scale of marks O to 80 has to be used. Please do not hesitate to award
full marksif the answer deservesit.

252



parmjeet

parmjeet

parmjeet


QUESTION PAPER CODE 32/1/1

1  Economicdevelopmentisthelong-termincreasein per capitaincomeaongwith
improvementinqudity of life.

(2 mark)
Bases of economic devel opment.
1. Nationd income
2. Percapitaincome
(V2 + Y5 = Imark) 1+1=2
Page No. 70 marks

2  Disabled person: - Onewho suffersphysical deformitiesor mental incapabilities,

whether by birth or accident iscalled adisabled person

(1 mark)

Example -

Physical disabilities: - Deaf / Dumb/ Blind/ Orthopedicaly handicapped

Menta disabilities. - Mental retardation/ Autism/ Cerebra palsy.

Any other relevant point (Y2 + Y2= 1mark) 1+1=2

Page No. 101 marks

3  Fourfactsabout tsunami
They arevery highwaves/ Height can be above 10mtrsor more
They contain seriesof waves
They movefast even 50 km/per hour
Intsunami water near the coast recedes beforeitsoccurrence
Sometimestheir forceisvery enormous

They can occur any time

N o o & W DN P

Any other relevant point
(any four facts) 4XxY2=2

Page No. 8 marks

4 Ruinof Indian industriesand trade under the Britishrule

1. Indiawastheprincipa supplier of cottontextilesin seventeenth and eigh-
teenth centuries. Dueto the British policy it became one of the largest
consumersof foreign goodsresulting in shattering of Indian industries.
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It produced raw materia to feed the Britishindustries.
Restrictionimposed on trade of Indian goodsruined Indianindustries.
Indian traders had been eliminated from theforeign trade of India
Indiabecame asupplier of raw materia totheBritishindustries.

o g A~ WD

Thedevelopment of the means of transport and communication was
designed tofulfil the British purpose.

7. Any other relevant point
Explanation of any two points

Page No. 42 2x1=2
marks
5  Mainfeaturesof Hargppan culture

1. Oneoftheearliestcivilizations
2. ThefirsurbancultureinIndia

3. Many of itsfeaturese.g. drainage, town planning etc. distinguishit
from other cultures.

4.  Largerinextent thanany of itscontemporary civilizations
Any other relevant point

Explanation of any two points

Page no. 3 2x1=2
marks
6  Golden Quadrilatera expressnationa highway

Northernmost :- Delhi
Eastern most :- Kolkata
Southernmost :- Chennai
Westernmost :- Mumbai

Page No. 60 4x%e=2
marks

7 Role of masscommunication

1. Ithelpsincreating awarenessamongst the masses about thevarious
welfare programmesand policies of Government.

It provides hedlthy entertainment
It helpsin the promotion of education

4. Radio, T.V., newspapers, magazines, booksand filmsareimportant
means of mass communication which creste awareness
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5. RadioandT.V. provideavariety of programmesin national and regional
languagesfor various categoriesof people

6. Any other relevant point

Explanation of any two points 2x1=2
Page No. 63 marks
Fictureidentification
It isthe picture of Sir Syed Ahmed Khan.:- (1 mark)

Hiscontributions:
1. Founder of MohmmedanAnglo- Oriental Collegeat Aligarhin 1875.
2. Regarded Hindusand Mudimsasone‘Quam’ or community
3. Hewantedtointerpret Idamin conformity with modern scienceand
philosophy.
Founder of scientific society
Emphasi zed on education asameansof national progressfor theMudim
community
6. Any other relevant point
Any two points ( ¥2+%2 = 1 mark) 1+1=2
Page No. 48 and 49 marks

Note:- Blind Candidatesonly
Contributionsof |shwar ChandraVidyasagar :
1. Dedicated himsdlf to the cause of emancipation of women
2. Hiseffortsresultedinlegaizingwidow remarriagein 1856
3. Promoted modern education for girlsand set up anumber of schoolsfor
girls
4. Promoted modern Bengdi language and prepared aprimer for teaching it
5. Any other relevant point
Any two points 2x1=2
Page No. 45 marks
Twoargumentstojustify “ Indiaisamultilingua country”
1. Thereare18/26languages mentionedinthe Congtitution of India.

2. Hundredsof other languagesare also spokeninvarious partsof the
country.
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3. Variousforeignlanguageshave helped Indian languagesto enrich their
vocabulary

4. Migration of peoplehavea so influenced the devel opment of languages.
Therearedifferent regionsand statesin the country wheredifferent
languages are spoken.

6. Peopleinthenorth speak Indo European family of languages.

7. Peopleinthe south spesk Dravidian family of languages.

8.  Any other relevant point
Any two points 2x1=2
PagesNo. 2 & 31 marks

10 Waedlsandtubewellsarepopular meansof irrigationin thenorthern plainsof
India
1. Levdteran
2. Availability of ground water at ashalow level
3. Porousnatureof sedimentary rocks
4

Fertileland resulting inmoreland under agriculturewhichrequires
water

5. Any other rlevant point
Any two points 1+1=2
Page No. 18 marks
11 Significanceof health sector in human devel opment
1. Itimprovesthequdity of life.
2. Itisapart of human development.
3. Iteffectsother sectorsof national economy.
4

A widerangeof activitiessuch asfamily welfare, prevention of food
adulteration, drugscontrol etc. are covered under health.

5. Any other rlevant point
Any two points 2% 1=2
Page No. 107 marks
12 Roleof stesdectionfor buildings
1. Theareabehindamound or ahillock should be preferred
2. Thick plantation upwindwill act asashield
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3.
4.
S.

Inhilly regions, construction along ridges should be avoided
A steabovethelikely inundation level should bepreferred
Any other relevant point
Any two points 1+1=2
Page No. 42 marks

13 Characteristicsof subsistencefarming:-

1

© © N o o &~ W D

Themagority of farmers practise subsistencefarming.

Small and scattered land holdings

Mostly primitivetoolsare used

Useof fertilizersislow

Useof highyidding seedsisasolow

Facilitieslikeirrigation and €l ectricity aregenerdly not availableto thefarmers.
Low productivity

Food cropsaremainly grown

Most of thefood production isconsumed by thefarmersand their families

10. Any other relevant point

Any four pointsto be described Ax1=4
Page no. 23 marks

OR

Agriculturd reforms. -

1.

© © N o gk~ WD

Largeareashave been brought under irrigation.

Useof fertilizersand pesticideshasincreased

Largeareashave been brought under highyielding variety of seeds
Aboalition of Zamindari System

Consolidation of smal holdings

Wide spread use of radio and television to spread knowledgein agriculture
Cropinsurance

A minimum support pricefor variouscrops

Any other relevant point
Any four points to be described 4x1=4
Pages No. 21,23,33 marks
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14  Maor problemsfaced by cotton textileindustry

1. Scarcity of good quality cotton
2.  Obsoletemachinery
3. Erratic power supply
4. Low productivity of labour
5. Stff competitionwith syntheticfiber industry
6. Any other relevant point
Any four pointsto be described
Page No. 47 4x1=4
' marks
15 Twoapproaches
1. Inthefirg gpproach expenditureincurred by afamily onvariousitems
isused
2. Inthesecond approach theincome earned by afamily isused
Brief description be given
2+2=4
Pages No. 81,82
marks
16 Revolt of 1857 marked aturning point inthehistory of India
1. Indian states accepted the paramountcy of the British government.
2. Princely statesbecameloyal aliesof the British Rule.
3.  Themovement of socid reform gathered momentum.
4. Peoplebecamemorepoalitically conscious.
5. Theruleof East IndiaCompany cameto anend.
6. Thecontrol of Indiacame under the British crown.
7. Annexation of Indian states ceased.
8. Thehold of Indian princesover the I ndian peopl e declined.
9. Riseof national movement
10. Thestruggleagainst therulersof Indian statesbecameapart of the
national strugglefor independence.
11. Itincreased unity inthecountry inthe struggle against freedom
12. Any other relevant point
Any four points 4x1=4
Pages No. 58 & 59 marks
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OR

Muslim League wasformed on 30" December 1906 (1 mark)
Objectives-
1. Topromoteamongst Mussalmansafeeling of loyalty totheBritish
Government

2. Toprotect and advancethepolitical rightsand interest of Mussalmans
of India

3. Toprevent theriseamong Mussalmansof Indiaany fedlingsof hodtility

towards other communities
(3x 1 =3 marks) 1+3=4
Page No. 68 marks

17 Coad asasourceof energy aswell asasourceof raw material for industriesin
India: -
Sourceof energy
1. Itisthemain sourceof power generationinindia
2. About 67% of the country’s power ismet by thecoal.
3. Itistheprimesourceof energy inthefield of iron and steel industry.
4. Any other relevant point

Any two points (2 marks)

Sourceof raw materials
1. Itisusedasaraw materia inthechemical industry.
2. Itisthemostimportant raw material intheiron and steel industries.

3. Synthetic products, explosives, dyes, perfumes, paints, etc arethe
giftsof coa

4. Any other relevant point
Any two points (2 marks) 2+2=4
Pages No. 38 & 39 marks

18 Communaismisathreat toour national unity

1. Communalismhasbeenfata asitledtothesplit of thenationin 1947.
Thousandsof innocent liveswerelost and families displaced.
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2. Therootsof thedivideand rulepolicy followed by the British aretill
persisting inour society and political system.

3. Communal violence and blood shed createsasense of insecurity among
dl.

4. Communal riotshaveoccurred timeand againin different partsof the
country.

5. Communalism crestesmisunderstanding and intoleranceamong different
religiouscommunities|iving together.

6. Communalismreducesthemutua respect for different religiouscommunities.

7. Mixingof religion with politicshas given asetback to the secular democracy.

8. Any other rlevant point
Explanation of any four points
Page no. 111

19 Vetoisthespecia power givento thefive permanent membersof the Security
Council of the United Nations. On all issuesit isnecessary to secure the support
of al thesefivemembers. If any member usesitsveto, no decision can betaken
onthat issue.

(2 marks)

Thefive countrieswhich havetheveto power areits permanent members:-

1. USA.
2. Russa
3. Britan
4. France
5. China

Any four (4 x ¥2=2 marks)
Page No. 124
20 Disaster Management at different levels
1. Nationa level : Managed by National Ministries
2. Stateleve : Reief and Rehabilitation Department
3. DidrictLeve : Officeof theDigtrict Magistrate
4. Block Levd : Officeof the Panchayat Samiti

260

4x1=4
marks

2+2=4
marks



5. VillageLevd : Village Disaster Management Committee
Explanation of any four points

Page No. 49
4x1=4
OR marks
Objectivesof asearch and rescueteam:
1. Rescuethesurvivorstrapped under the debrisfrom the damaged buildings
2. Providefirst aid servicetothetrapped survivorsand dispatch them for
medical care
3. Recover, hand over and dispose off the bodies of the deceased
4. Train, demonstrate and arouse awareness
5. Temporary support and protection to endangered collapsed buildings
Explanation of any four points 4x1=4
Page No. 14 marks

21 Indian National Congresswas founded in 1885. (1 mark)

A.O. Hume played the most important rolein theformation of theINC
(2 mark)

Objectives. -
1. Toenabletheworkerstowork for the cause of national progress
2. Toenabletheworkersto become personally knownto each other.

3. Tounitethepeoplefor common political endsirrespectiveof differences
inrace, religion, languageetc.

4. Toholdthesessonannualy
5. Topasstheresolution for the consideration of the government

6. Any other relevant point
Description of any four points (4 x 1 =4 marks) 1+1+4=6
Pages no. 60, 61 marks

OR
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Riseof extremiam

N o o &~ D

Partition of Bengd

Defeat of Russiaby Japanin 1905
RevolutioninRussain 1917
Government policies

Roleof Ba, Pal andLa

Failureof Moderates

Any other relevant point
Description of any six points 6Xx1=6
Pages no. 62,63 marks

22  Conservation of resources:

o o &~ w Db

They are the backbone of the economy of anation
They provideabasefor economic devel opment
They areof great utility

They areavailableinlimited quantity

They help usto create goods

Conservation of resourcesfor e.g. forest, water, minerals, etc may be
givendueweghtage

Any other relevant point

Explanation of any three points (3 marks)

Consarvation measures:

1
2
3.
4

Proper utilization of resources
Proper exploitation of resources
Extracarefor non renewabl e resources needed

Mineras, soil, forest, water etc arethe magjor natural reserves. Different
measures can be adopted to conservethem

Any other relevant point
Explanation of any three points (3 marks)
Pages no. 3,4 3+3=6
marks
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OR

Water asan important resource:

1

o o & 0w DN

Water islife. Itisin great demand for drinking and consumption.
Irrigation of fields
Great demand of water indifferent industries
Important medium for generating hydro e ectricity
Water isal so needed for the construction of buildings
Any other relevant point
Explanation of any three points (3 marks)

Water asacritical resource:

© o A~ W DN

~N

Unevendigtributionin spaceandtime
Rapidly growing population

Rising demand for food and cash crops
Increasing urbani zation

Risng standard of living

Acute shortage of water in thearid tracts of western Rajasthan and
interior of thepeninsular plateau

Water pollution
Any other relevant point

Explanation of any three points (3 marks) 3+3=6
Pages no. 15,18 marks

23  Effectsof theexpansion of businessactivities

1
2.

Variety of goodsavailableinthemarket

Varioussarvicesareeasly avail able such astransport, communication,
electricity, water supply, health, education etc.

Demandsfor goodsand serviceareasoincreasing
Advertisement agencies create demandsfor consumption

Display of smilar articlesby different waysmakesit difficult to decidea
correct choice
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24

6. Advertisementsattract consumers

7. Theyfeedinformation that they want usto know

8. Any other relevant point

Explanation of any six points
Page no. 92

OR

Consumer awarenessisessential

1. Toprotect theinterest of consumersagainst exploitation

2. Toenforcedisciplineand regulationinthemarket

3. Food safety and quality of products has become animportant €l ement
of consumer awarenessthese days

4. Adulteration of food or faulty goodsisamajor source of humanillness
and suffering

5. Any other relevant point

Explanation of any three points ( 1 x 3 = 3 marks)

Protection Measures
1. L egidation concerning consumer rights (L egidative measures)
2. Standardi zation of products (Administrative measures)
3. Public Digtribution System (Technica measures)
Explanation of these measures (1 x 3 =3 marks)
Pages no. 93, 94
See attached map for answers
For Blind Candidatesonly
1. Punjab
2. Surat
3. Karnataka
4. Sichar
5. Ahemdabad
6. Noida
1 mark each
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QUESTION PAPER CODE 32/1

Tomeet al therequirementsof the British government, it was necessary to
impart English educationto Indians.

For minor jobsinadministration, commercia work and industries

To impart English education and European culture so that they become

loyd toBritishers
Lawyers, doctors, teachersand other professionalswereal so required.
Any other relevant point
Any two points
Page No. 52

Peopl € sreaction to the partition of Bengal

1. Widespreadindignational over thecountry
2.  Swadeshi Movement aimed at promotion of indigenousindustries
3. Boycott of Britishgoods
4. 1906 Congress Session declared attainment of Swarg asitsaim
5. Promotion of national education wasdeclared astheam of the congress
session.
6. BothModeratesand Extremistsjoined handsagainst it.
7. Meetingswereheld al over the country and associationswereformed.
8. Studentsplayed animportant roleinanti British movements
Any two points
Page No. 65
Distinction between renewabl e and non-renewabl e resources
(A) Renewable
1. Ability torenew themselvesinagiven period of time
2. Ability toregenerate and reproduce e.g. plants, animals, forestsetc.
3. They donot get exhausted e.g. solar, wind, tidal energy.

(B) Non-renewable

1.

2.

Theresourceswhich are not naturally renewed are called non-renewable
resources.

Oncethey exhaust, they cannot beremadee.g. coal, mineral oil etc.
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3. Theyareavailableinlimited quantity e.g. mineras, petroleum etc.
Any two pointsfrom each
Page No. 3
Most important cereal cropinindia
Rice
Major producing states: (I mark)
1. WestBengd
2. Uttar Pradesh
3. AndhraPradesh
4. Tamil Nadu
5. Punja

Any two states (Yz+%2=1 mark)
Page No. 24

Sustainable devel opment essential for economic growth

1.

Rapid economic growth andindudtridization haveled torecklessexploitation
of natural resources.

Thestock of natural resourceslikefossl fuelsarelimited.

Thegrowth of dl countriesinfutureislikely to be endangered if resources
are compl etely exhausted. Therefore global concerntoday isto adopt a
strategy of economic growth that isenvironment-friendly

Althoughfossil fuelsand mineralsare essentia for economic devel opment,
their use damaged the environment and ecol ogy.

They cause pollution and disturb the balancein nature.

Needs of the future generation should not be compromised otherwise
devel opment will be stopped in near future.

Any two points
Page No.79

Castelsm creates hindrancesin socia devel opment

1.

Caste creates socia gradation and social groupingswhich leadsto social
discrimination and disintegration

Cagtesfurther divided into sub-casteseach having adistinct placein social
hierarchy
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A person born in a low caste was subjected to many inhuman and
discriminatory trestmen.

Hindranceto democracy
Harmful to nationa unity andintegration

Castebecomesacursefor lifewithout any fault of the person.

Any two points
Page No. 111
Man madefactorsresponsiblefor landdides
1. Deforestationleadingto soil eroson
2. Non-engineered excavation
3. Miningandquarrying
4. Non-engineered congtruction
5. Landusepattern
6. Any other relevant point
Any two points
Page No. 39

Interference of the European trading companiesinthepolitical affairsof India

1. Politicd loydtieswereprimarily loca or regional.
2. Mugha empiredeclined after Aurangzeb’'sdeathin 1707.
3. Indiawasdividedintoanumber of small and big statesfighting against one
another.
4. Maahaswho emerged asthe strongest power, had no conception of united
India
5. Conception of nationality was narrow and limited and they thought of
dominating over other partsof the country rather than welding themintoa
nation.
6. Theconcept of anation, aswe understand today, had not devel oped.
Any two points
Page No. 41
| dentify the personin picture
Dadabhai Nargji (1 mark)
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Contributions:

1.

He was one of the founders of the Indian National Congress and was
el ected asthe president of the Congressthrice.

Hedeclared the attainment of Swara] asthe aim of the Congress.

The Swadeshi and Boycott Movements were favoured as means of
resstance.

First Indianto be el ected to British parliament

I nfluenced the economi ¢ thinking through hisbook, ‘ Poverty and Un British
ruleinIndia inwhich he exposed the disastrous consequences of British
ruleinindia

Histheory of Britishdrainon Indianwedth provided thebasi sof thecampaign
againg Britishrule

Hewasloved and respected by peopleasthe Grand Old Man of India
Any other relevant point
Any two points (Y2 + ¥2 =1 mark)
Pagesno. 51, 63 & 65

For Blind Candidatesonly

Surendranath Banerjee

1. In1883, Surendarnath Banerjeecdled anAll IndiaNationa Conference
asthefirst steptoaNationa parliament

2. Hepresdedthe Congresssessionin 1895 at Pune. Hewasamoderate
leader.

3. Ancther palitical organization namedthelndian Associationwasformed
by himin 1876.

4. Hewasdismissed from Indian Civil Servicesfor no reason and devoted
therest of lifeinuniting the Indian peopleto fight for their rights.

5. Any other relevant point
Any two points
Pages No. 60,61,62

10. Waysforthelndianagricultura productsto standintheworld market

1.
2.

Usethevast potentid of agriculturein asystematic and planned manner
Devel op some of thetechniqueswhich the devel oped countrieshave been
usng.
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12.

13.

3. Useof hio-technology
4. Creation of anunrestricted unified national market for farm products
5. Toraseefficiency of our labour and equip themwdll
6. Better useof climatic and soil conditions
7. WdlI knitinfrastructurelikeroad, eectricity, irrigation, credit facilitiesto
farmersand traders
Any two points
Pages No. 34-35
Thrust areas of human development
1. Hedth
2.  Gender equality
3.  Gender empowerment (VY2 =1Y2marks)

Hedlth sector playsthemost significant rolein thedevelopment (Yamark)
Pageno. 107

Suggestionsto help apersoninaburnt state

1. Immediately immersetheburnt areain cool water or apply clothes soaked
incool water

2.  Removejewdlery and condrictiveclothing
Cover theareawith adry steriledressing.

4. Drop, cover and roll if caught fire or cover the person with a blanket
immediatdy

5. Any other rlevant point

Any two points
Pageno. 22
Classification of mineralsand itscharacteristics
1. Maedlic
2. Non—metdlic (A mark)

Characterigticsof metdlicminerds:
1. Sub-dividedintoferrousand non- ferrous

2. Ferousmetalscontainiron.
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14.

Non-ferrous metal s contain metalsother thaniron.
All metalsarefoundin form of ore.

Metallic mineralsareiron ore, manganeseore, chromite, pyrite, gold, Slver,
copper etc.

Any other relevant points
Any three characteristics (Y2+Y2+Y2=1Y2 marks)

Characterigticsof non-metalic minerds:

WD

They do not contain metals.
They occur indifferent typesof rocks.
Somearefoundinigneousrocks, while othersin sedimentary rocks.

Nonmetdlic minerdsarelimestone, nitrate, potash, dolomite, mica, gypsum,
coal and petroleum,

Any other relevant point
Any three characteristics (Y2+Y2+Y2 marks)

Pageno. 36

Privilegesenjoyed by minority communities

1.
2.

They enjoy al rightsasenjoyed by the mgority community inindia

TheNationa Minority Commission hasbeen set up by the Congtitutionto
promotetherights, interestsand welfare of theminorities.

Their religion, culture, script and language are preserved, protected and
also promoted.

Admission to any government funded educational ingtitution shall not be
denied on thegroundsof religion, race, colour etc.

Any other relevant point
Any four points
Pageno. 112,113
OR

Stepsto protect theinterests of Scheduled Castesand Scheduled Tribes

1.

2
3.
4

Abolition of untochability
Prohibition of forced labour
Protection against social interest

Opening of dl Hindus' religiousingitutionsof public character todl sections
of Hindus
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15

10.

12.
13.
14.
15.

Removal of all restrictions on accessto schools, shops, hotels, places of
entertainmentsand other public places

Prohibition of denial of admission to the state owned or aided educational
inditutions

Curtailment of generd rightsof al citizensto movefredly, settleand acquire
property in scheduled and tribal areas

Specid provisionsfor the administration and control of scheduled tribal
aress.

Setting up of Tribal Advisory Councilsto promotetheir welfare and safe-
guardtheir interest

Appointment of aCommissioner toinvestigatethe developmental conditions
of the SC/ST

Constitution of theNational Commission for the SCand ST
Specid representationin Parliament and State Legidature
Adequatereservationinlocal bodieslike Panchayats
Reservation in the gppointment and promotionin the public services.
Any other relevant point
Any eight steps
Page No. 113

Make Correct pairs
Somadeva—Katha— Sarit - Sagar
Kahana—Rgataringini
Jayadeva—Gitagovinda
Chandbardai —Prithvirg) Raso

Page No. 33
OR

Contribution of Amir Khusrau:

Most outstanding literary figure of the Sultanate period
Hewasapoet, historian, mystic and composer of music

HewrotetheAshiga, theNuh Sipihr, Quirana Sadayan, Khazain-ul-Futuh
and several worksof poetry.

He symbolizesthe composite culture which was growing under the new
impact.
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1.

o A~ WD

Took great pridein being an Indian and praised Indiaas earthly paradise.
Hebdlieved that in many respectsthe essence of Hinduismresembled Idam.

He considered Hindawi, the Hindi spoken around theregion of Delhi ashis
mother tongue. He composed many versesinit.

Hecomposad anumber of bilingua quatrainsand versesin Hindi and Perdan.

Originator of theearly form of the popular music styleknown as Qawwali,
Khayd

Any 4points
Pages No. 34,36
16  Factorsresponsiblefor decentralization of cottonindustry inIndia
Widemarket
Trangport
Bankingfacilities
Electricity
Any other relevant point
Any four pointsto bediscussed
Page No. 4

OR

Measuresto control air pollution created by industries

1.

o A~ WD

Careful planningand sting of industries
Better designed equipments

Proper fuel selectionand utilization
Useof oil instead of coal

Useof equipmentsto control aerosol emissionlikeinertia separator, filters,
preci pitator and scrubbers

Any other relevant point
Any four points
Pages No. 53, 55

17  Trangport routesare called the basic arteries of our economy

1.
2.

They provideimportant links between producersand consumers

W knit transport system brings peoplevery closeto oneanother
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18

19

They promoteinterdependenceamong them
They cover threemedia- land, water and air

Therearefivetypesof transport systems- roadway's, railways, pipelines,
waterwaysand airways

Any other relevant point
Any four points
Pageno. 57

M easurestaken by the government to tackle the problem of poverty:-

1. Stressgivenon heavy industriesand greenrevol ution trickle down effect
2. Landreformmeasureslikeabolition of Zamindari system, security of tenant
farmersagaing eviction, fixation of rents, fixation of ceilingsonland holdings,
distribution of surplusland among thesmall landless peasants.
Encouragementsgivento cottageindustries
4. Incomeredistribution measuressuch as
a) Taxingtherichand middleclasses
b) Subsidisingtheprovision of essential goodstolower incomegroup
5.  Introduction of variouspoverty aleviation programmes
Any other relevant point
Any four points
Pagesno. 84,85
Emergence of Non-alignment Movement (NAM) asthe second largest political
formation
1. Afterthe Second World War theworld wasgetting divided into two opposite

blocsheaded by U.S.A and the other by former Soviet Union
Non-alignment meanspolicy of not belonging to any power bloc.

Inthefiftiesnon-alignment asapolicy wasadopted by asmall number of
countriesbut by ninetiesit becameavery big movement.

The formation and expansion of Non-aligned Movement has been
connected with the decol oni sation processin theworld.

NAM isadefiniteforcein the present day world

Itisafreeand equal association of States united by common interest to
pursueindependent foreign policy.
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21.

7. Itremainsasthelargest political formationintheworld next only to the
U.N.

(Any four points)
Page No. 123
Configuration and foundation of an earthquakeresistant building
1. Thebuilding should haveas mplerectangular plan.
2. Longwall should be supported by reinforced concerte columns.

3. Largebuildingwith shapesT, L, U and X be separated into rectangular
blocks by providing separate sections.

4.  Any other relevant point
Any two points (1+1=2 marks)
Foundation

1. Depth of footing in the soil should be below the zone of deep freezingin
cold countries.

It should be below thelevel of shrinkage cracksin clayey soils.
Avoid soft soil unlesscompacted and brought firm conditions.
Infirm soil any type of footing can be used.

In soft soil useof plinthbandinal wallswill bedesirable.

© o &~ W DN

Continuousreinforced concretefooting are most effective
Any two points (1+1=2 marks)
Pages No. 37, 38
Objectivesof Nationa Forest Policy regarding conservation of forests: —

1. Maintenanceof environmenta stability through preservation and restoration
of ecological balance

Conservation of natural heritage

3.  Check on soil erosion and denudation in catchment areas of rivers, lakes
and reservoirs

4. Check on extension of sand dunesin desert areasand along coastal tracts
Stepsto meet requirement of fuel wood, fodder and minor forest produce.

6. Substantial increaseinforest tree cover through afforestation and social
forestry programmes

7. Increaseinproductivity of forest to meet national needs
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8. Encouragement of efficient utilisation of forest produce and optimum
substitution of wood

9. Stepsto create people'smovement with women to achieve objectivesand
minimisepressureonforests

Any Six points
Pageno. 14
OR
M easures adopted for the conservation of water:-

1. Creation of morewater storagereservoirs

2. Inter basintransfer of water and measuresto raise underground water level
3. Watershed development
4. Ranwater harvesting
5. Cregtingavarenessamongthecommunity andinvolving peopleindl activities
concerned with water conservation
6. Toresolveinterstatewater disputes
7. Any other relevant point
Any Six points
Pages No. 19,20
Twoindex numbers-
1. WholesaePricelndex (WPI)
2. Consumer Pricelndex —(CPl) (1+1=2 marks)
Stepstaken by government to control pricerise
1. Monetary measures
2. Fiscd measures
3. PublicDigtribution Sysem—(PDS)
4. Administered PriceMechanism (APM)
Brief descriptionto begiven
(4x1=4 marks)
Pages No. 89,90

OR
Strategiesadopted by the government to protect theinterests of the consumers:
LegidativeMeasures
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Itincludesenactment of the Consumer ProtectionAct 1986 for the protection
and promotion of consumer interest and to redresstheir grievances.

For setting up athreetier system (a) National Consumer Commission (b)
State Consumer Commission (c) District Forum

Adminigtrativemeasuresinclude public distribution system

1
2.
3.

To ensurefood security to the poor
To provideessential commoditiesat |esser price
To prevent hoarding, black-marketing, overcharging by traders

Technical measuresinclude standardi zation of the products:

1.

To protect the consumersfrom lack of quality and carrying standards of
goods.

Two agenciesin IndiaBlSand Agmark
Atinternationd level ISO
Any two festuresof each strategies.
Pages 95 & 96

Thefactorsthat contributed to the growth of Indian Nationalism during the 19"
Century

© © N 0~ wDdhPRF

© N F 5

|_\
Ea

Politica unification of thecountry

Destruction of India sold social and economic system
Thebeginning of modern trade and industry

Riseof new social classes

Theroleof socid and religiousreform movement
Popular anti-Britishrevolts

Theeconomic policy of the British Government
Peasantswere suffering under the new land tenure system.
Thedraw back of Indian Civil ServicesExamination
Practiceof racid discrimination

[Ibert bill controversy

Vernacular PressAct of 1878 and ArmsAct of 1879

Influence of theworld event e.g. American war of Independence, French
Revolution 1789

| deas of western philosopherse.g. Thomas Paine, Garibaldi
Explomation of any six points
Pages No. 59 & 60
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OR

Significanceof therevolt of 1857

1. Theruleof the East IndiaCompany cameto an end and the control passed
totheBritish Crown
TheBritish Government promised not to annex any more I ndian State.
3. Thelndian statesaccepted the paramounatcy of the British government and
becameloyd dlies.
4. Therevolt madethelndian people palitically more consciousthan before.
5.  Themovement of socia reformsand modernization gathered momentum.
6. Thehold of the Indian princeson the Indian people declined.
7. Itwasredized that the national independence would be attained through
the peopl€ smovement.
8. Itwasamemory of aunited struggle
9. Thenationdist movement aimed at nationd independencedemocracy, socia
equality and nationa devel opment
Explanation of any six, points
Page No. 58
a
Filled up maps enclosed
b (or)
OR
For blind candidatesonly
1. Madras(Chennai)
2.  Karnataka
3. Keda
4. Sinagar
5. Kolkata
6. Bhubaneshwar
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